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fµ(x1, . . . , xN , ẋ1, . . . , ẋN , t) = 0.
�� $�!
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�������� +
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�
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�
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 �� �
�  
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fµ(x1, . . . , xN , ẋ1, . . . , ẋN , t) ≥ 0.
�� $)!
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α
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(x, z)
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� �� 
, ���� , ��
�
 �� 	
�������� �� �� %�
� ����� 
 ��	���

z = x tgα, x < 0,
�� $3�!

z ≥ −h− x tg β, x ≥ 0.
�� $3"!

&� 	
�������� �� $3! �
� ����������� $ �

� �������� 	 �# 6�! �0�$'���$! �0� 	 0"0�
�! fµ
!&$ 1�$! C'+ &�(!)!"*+ ' &� !" "! !&$ 1!"� / 0'� !

fµ(x1, . . . , xN , ẋ1, . . . , ẋN ) = 0.
�� $*!
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(
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N
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����
 , �
���


x1, . . . , xN
$ �� 
 ��%��  ��

���� �� � ��� 
(
�'� � ��
N/3 ∈ �  ����	���
  
�	������
 ���
 �

3
$ 5 ��� �� �
��

C ≤ N	
��������
 +
�
����

fµ(x1, . . . , xN , t) = 0

,
µ = 1, . . . , C

, ��
�
 
�  ��� ��	���� �� 
(
�'��
���	

l = N − C
�00'10���!& 2 ���'�"�&�!& ��1�B !�1��$!& , 
� 1!2'�& 1! "�3!'$� , q1, . . . , ql ,�����
 ���

x1 = x1(q1, . . . , ql, t)$$$
xN = xN (q1, . . . , ql, t)

f1(x1, . . . , xN , t) = 0$$$
fC(x1, . . . , xN , t) = 0.

�� $$!
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fµ

�����
 ���
fµ(x1, . . . , xN , t) = 0 ∀µ = 1, . . . , C

, ���	
l = N − C

$ &�

)
���
 ��8����������


N∑

i=1

∂fµ

∂xi
dxi +

∂fµ

∂t
dt = 0, µ = 1, . . . , C

�� $�+ !
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êx

êy
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x
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ϕ
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�����
� �� �
� %��

�� ��� )
����� ��

������
�
ẋ = rϕ̇,

�� $��!
�
�� �� )
�� � ��8���������� �
�

dx = rdϕ.
�� $��!

& �������
� �� $�� ! �
� ��� )
�� � ��8���������� ����%��"�� , 	��  �� ����%����
� 
� 
"�
�����

x− x0 = r(ϕ− ϕ0),
�� $�� !


�
x0 = x(t0)

��
ϕ0 = ϕ(t0)

$ & �������
� �� $��! �
� ���
� ����%��"�� $ &�  �
" �'�� �
�
�
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�
���� �

1
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∆
�� ����	��
� �� �� ��	��

� ��� �� �� �
�� ,
r


� ��(
� ,

θ
� ���%�� ����� � ����

∆
��

êx
,
v

�� ����

� �� 
��������
��  
��� �� 	
���	� ����� �� �
�� �� ��  ��� {êx, êy}

,
x

��
y
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� �� 	����� �� �� �
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 ��
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êx
��

êy
�	) $ 1 �% $ � $�! $&� �
���� �� �� ����

�

v
�
�

v = r|ϕ̇| , 	� ��� �
��� � �'
  �
� �	��
� 
�� �� �� '��
	����
��� .

ẋ = −rϕ̇ cos θ
�� $���!

ẏ = −rϕ̇ sin θ.
�� $��"!
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��
dx+ r cos θ dϕ = 0

�� $�)�!
dy + r sin θ dϕ = 0.

�� $�)"!
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(
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 �� $�) ! � ��
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 �
 �� )
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f(x, y, θ, ϕ)
��� ����
)
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 ������
�
 �� $�)! �� ��� ��8����������

�
���� $ *� �8�� ,  �� ������
�
dx+ dy + r(cos θ + sin θ)dϕ = 0,

�� $�3!
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u(x, y, θ, ϕ)

����� ��� ��
�� � ������� ( $�!
∂u

∂x
dx+

∂u

∂y
dy +

∂u

∂θ
dθ +

∂u

∂ϕ
dϕ = 0 = du(x, y, θ, ϕ),

�� $�* !
���	

∂u

∂x
= 1,

∂u

∂y
= 1,

∂u

∂θ
= 0,

∂u

∂ϕ
= r(cos θ + sin θ).

�� $�$ !
4
�	

∂2u/∂θ∂ϕ 6= ∂2u/∂ϕ∂θ
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�
������ �� � ��� �
��  �
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t1
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q(2)
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t2
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(
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 �� 
(
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�
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�
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� 
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�'� � �� 0/ �+��! $

) �) �- ����/�� - ,- � �� ���+� 	+� ����/�� - ,- 
� +��,�-
�/��+�� �

�
�
����
�
 �� 
(
�'�� ��	������ ��	���  �� ��
 	

��
����
 %�������
��
 ���� ���
�����


q = (q1, . . . , ql)
�� 
� ��
����� �� ��� 


t1
� ��  

���
� �%�������
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q(t1) = q(1)��
�
 �� ���
t2

�� 
� ��
��� ��
q(t2) = q(2)

�
q
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�
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 ���� �	�
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γ(t)

�����
 ���
γ(t1) = q(1)

��
γ(t2) = q(2)
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��"�� �
� �  ��� � ���
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S[γ] =

∫ t2

t1

dt L

(
γ(t),

d

dt
γ(t), t

)
,

�� $�!

�

L(γ, γ̇, t)
�
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t
t1 t2
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 ������ �� ���������
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�� ���� ����	�� �
 ���	� ��
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� ��
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� ���� �� ������ � � ��
�	� ��� ��� ���� ����	��� �

���	�	���� ��
� ��� ���� �
�� �� � ��
������ ��� ���� ����	��� � 	�������� �

% &�  ���	� � �� %�� ���
� �
� ��

�  ��)
 �
 �  ��� B '����B ! 1! � 0��1'! ��$�0� $ ��������� �'�� ���� ��
�
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� ��
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���� ��� ���� �
� 	����
��� ���������
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�� � ��	��
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S[γ]

 ��� ��  �
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�� � ��������� 
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/
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 ���� ����

�
 � ���
��"�� ��
 	+�� ��
  ��

γ(t) = q(t) + λη(t)
, ��
�


d

dλ
S
[
q(t) + λη(t)

]
λ=0

= 0.
�� $�!

λη(t)
��	��� �� �������
� �� �
���� ��� �������  �� ��  
�� �� �
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�

λ
�
�
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�	 �� 	
�����
�
η(t1) = η(t2) = 0
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� 
���
)
�� ��  ���	� � � ��	��
�����	��
� �*� $

� �� �� �� ����@�� � �� � �� ���� ���
&�  ���	� � ��
 ������� �������
 �
� ��� 	
�����
� 	���	����
��� �� &$�$�� !$ 0
�
 �
��

�
�
 ���" ��� �� ��
����� 	
�	������ �� 1#��� �� !$ 9
�� 	�	� , 	
�
����
�
 � ��������� � �����
�
%�� �� �� $�� ! ���
 �� 	�
 �� �� �(��� ���� .

F
(e)
i + F

(c)
i = ṗi, i = 1, . . . , N,

�� $�$ !

�

pi
�
� � ���  ��
�
� $ 9�� 	
�
������

N∑

i=1

(
F

(e)
i + F

(c)
i − ṗi

)
δri = 0,

�� $�+ !

 
�� �
�� �� ��	�� ��� ������� 	
� ���"�� ���	 ��
 ����

�

δr

$ &� B '����B ! 1! 1 := "!� 3!'$	
�
�
�� � �2 ���� ��� ��  ���	� � ��
 ������� �������
 ��
�� ����" ��  
�� �� �(��� ����
��-���  �� �� $�+! �	 ��
�������� ��� ��
 ����

�
 ��
����  ��)����
  
�� �� �(��� ����! $ ��

 ��%��  �� 	
�
������ � ���� %�������
���
� ��
 ������� �������
 $

D������� �� � ��  ��� �
� E 

�� �� 
(
�'� � 

�� �
 � ��
 ����

�
  ��)����
 , ��
�
  
��
�
�� �� ��	�� ��� ������� 	
� ���" ��

δr
�� �� ��������� ��  ���	� � �� � �( ���"��� 
�

������ �� �� $��! �� �� $�+! � �������
� �� � �( ���"��� .
N∑

i=1

(
F

(e)
i − ṗi

)
δri = 0.

�� $��!

*�  �

��� ��� 	

��
����
 %�������
��
 ���� �������
 , � �������
� �� � �( ���"��� ��
�
�
  ��� ����� � ����"��� �� )
�� � �� ��%���%��� ���
� ��� ��
 ������
�
 �� &�%���%� ��
 ��� �'�� �
 '	� $
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5
����
N

	

��
����
 �  ��
�� �� �������

r = (r1, . . . , rN )

, 

����
C

	
��������
 +
�
�
����
 ��-��

��� ���
�

l = N−C 	

��
����
 %�������
��
 ��1�B !�1��$!&
q = (q1, . . . , ql)

,
��
�


ri = ri(q1, . . . , ql, t)
,
i = 1, . . . , N

$ 4�-��


�
 ��
 -�$!&&!& 2 ���'�"�&�!&  ��

q̇i =
dqi
dt
,

�� $��!
��
�


vi =
dri
dt

=

l∑

j=1

∂ri
∂qj

q̇j +
∂ri
∂t
.

�� $��!

&� �� ��	����� ������� � ��� 
 -�� �
� ��-��  ��

δri =

l∑

j=1

∂ri
∂qj

δqj .
�� $�� !

5�  

��� ��
 ����

�
  ��)����
 , �
�
  
��
�
 
��
 ��"�%� ���
 �
�������� �
���
F

(e)
i = Fi

∀i $ & �������
� �� � �( ���"��� �� $� �! 
 ��	���

N∑

i=1

Fiδri =

N∑

i=1

ṗiδri.
�� $��!

1
����
�
 	���� �%����� � � ����� ��
 	

��
����
 %�������
��

q1, . . . , ql

$ &� � ��"�� ��
%��	+� �� �� $��! �
��� .

N∑

i=1

Fiδri
(2.24)
=

N∑

i=1

l∑

j=1

Fi
∂ri
∂qj

δqj
(2.18)
=

l∑

j=1

Qjδqj ,
�� $�)!


� 
� � �����
� �� ��-����
� �� $�*! �� �� )
�	� %�������
��
Qj

$
*� �����
���

ṗi = mir̈i
�	� ��� �
� �
�� 
��
 ����  
�� ��
 	

��
����
 	����
�����
! , ��

� ��"�� �� ��
��� �� �� $��! ������� .

N∑

i=1

ṗiδri
(2.24)
=

N∑

i=1

l∑

j=1

mir̈i
∂ri
∂qj

δqj

=

N∑

i=1

l∑

j=1

[
d

dt

(
miṙi

∂ri
∂qj

)
−miṙi

d

dt

∂ri
∂qj︸ ︷︷ ︸

= ∂
∂qj

dri
dt

=
∂vi
∂qj

]
δqj .

�� $�3!

4 ������  ��� .

∂vi

∂q̇j

(2.23)
=

∂

∂q̇j

(
l∑

k=1

∂ri
∂qk

q̇k +
∂ri
∂t

)
=

l∑

k=1

∂ri
∂qk

δjk =
∂ri
∂qj

.
�� $�*!



� �� � �� ��
�������� � � ���
������ �3
��
����� �� $�*! ���
 �� $�3! ���	

ṙi = vi

� 
"�����

N∑

i=1

ṗiδri
(2.27)
=

N∑

i=1

l∑

j=1

[
d

dt

(
mivi

∂ri
∂qj

)
−mivi

∂vi

∂qj

]
δqj

(2.28)
=

N∑

i=1

l∑

j=1

[
d

dt

(
mivi

∂vi

∂q̇j

)
−mivi

∂vi

∂qj

]
δqj

=

l∑

j=1

(
d

dt

∂

∂q̇j

N∑

i=1

1
2miv

2
i − ∂

∂qj

N∑

i=1

1
2miv

2
i

)
δqj

=

l∑

j=1

(
d

dt

∂T

∂q̇j
− ∂T

∂qj

)
δqj ,

�� $�$ !

� 
� � �����
� � ��� ��

�
� �� � ���!'2 �! ��� �$�� ! �� 	

��
����
 	����
�����


T =
N∑

i=1

1
2miv

2
i .

�� $�+ !
6�� ��(��� ��
 � ��"��
 �� %��	+� �� $�)! ���
� ��� �� ��
��� �� $�$ ! ���
 � �������
� ��
� �( ���"��� �� $��! 
� 
"�����

l∑

j=1

(
d

dt

∂T

∂q̇j
− ∂T

∂qj

)
δqj =

l∑

j=1

Qjδqj .
�� $� �!

� � ��
 ����

�
 ����� 
�  

��
 +
�
����
 , ��

δqj



�� ���� ������
 ��  �� 	
�
������ ��
������
� �� $� �! �
� �����  
�� �
��

δq
, 	� �� � )
�����

d

dt

∂T

∂q̇i
− ∂T

∂qi
= Qi, ∀i = 1, . . . , l.

�� $��!
& ���
��"�� ��


l
������
�
 �� $��! �
�  ��)
�
 �  ��� �� �$�0�& 1! ��2 '��2 ! 1! B '!� ��'!!&B ��!$ 0
�
�
 ���
T = T (q, q̇, t)

, �� ��  ��
�
 ��� ��
 )
�	�
 %�������
��

Qi



�� �
����

 �� �� ������
� �� $�*! $

6����
�
 � � ��� ��

�
� �� $�*! ��
 )
�	�
 %�������
��
 $ 5�  


�
 ��� ��
 )
�	�
 ���
�����


Fi


���� �%���
 � �� 

��� �� )
�	�
 �0�&!'-�$�-!& −∂V (r, t)/∂ri

�� �� )
�	�
 �0��0�&!'-�$�-!& F̃i(r, ṙ, t)
�
� "��� �� )�(
�  ��
 %������� ,

F̃i
	
������ �
���
 ��
 )
�	�
 ���

�� ��������  �
 � ���  
������� �� �� )
�� �
V (r, t)

, 	) $ 5�	� $ � $� $� ! .

Fi = −∂V (r, t)

∂ri
+ F̃i(r, ṙ, t).

�� $�� !
��
����� �� $��! ���
 � ��� ��

�
� ��
 )
�	�
 %�������
��
 �� $�*! �
�
 
"���
�


Qj =

N∑

i=1

Fi
∂ri
∂qj

(2.33)
= −

N∑

i=1

∂V

∂ri

∂ri
∂qj

+

N∑

i=1

F̃i
∂ri
∂qj

︸ ︷︷ ︸
+ �Qj

= −∂V (q, t)

∂qj
+ Q̃j .

�� $�� !

��
����� �� $�� ! ���
 �� $��! 
� �
d

dt

∂T

∂q̇i
− ∂T

∂qi
= −∂V (q, t)

∂qj
+ Q̃i

=⇒ d

dt

∂(T − V )

∂q̇i
− ∂(T − V )

∂qi
= Q̃i.

�� $��!



�* ���� � �
� � � �� ��
������� ���
������
*� ��-��

��� �� ��%���%���

L
 ��

L(q, q̇, t) = T (q, q̇, t) − V (q, t),
�� $�)!

��
�
 
� �
�� ��� ��
 ������
�
 �� $��!  ������� �� )
�� �

d

dt

∂L

∂q̇i
− ∂L

∂qi
= Q̃i, i = 1, . . . , l,

�� $�3!
���	

Q̃i =

N∑

j=1

F̃j
∂rj
∂qi

�� $�*!
��
 )
�	�
 %�������
��
 �� ��	
�����  �
 � ���  
������� �� �� )
���

V (q, t)
$

*� ��
�� � . ���
 	���� 
�	��
� , ��  ������ ��  ���	� � �� � �( ���"��� �
�
 ��
�

������ ��
 ������
�
 �� &�%���%� ���
 �� 	�
 %������ 
� �� 
(
�'�� ����� ��
 )
�	�
 �
�
	
�
��������
 $ 9
�� ��
 &#&$�� !& �0�&!'-�$�/ & 
� 	�
 )
�	�
 

�� �����
 , �
�
 ����
��
�

��
 ������
�
 �� $�! 
"�����
  �� ��  ���	� � �� %�� ���
� $ ��	� � 
���� " :�� �-�"!� �! 1!&
B '�� ��B !& 1! 1 := "!� 3!'$ !$ 1! � �� �"$0� B 0 ' "!& &#&$��!& �0�&!'-�$�/ & 	 0"0�
� !& $ 0
�
�

��� 	���� ��������
� �
� �
�����)��� %������� �� �� )��� �  �� � ��	��� ����� +( 
�+'
� ���
��  ���	� � �� � �( ���"��� $ 0
�
 ��
�
 ��  �� 
 ���"�� ������ ����� � ��� ��

�
� �� ��%���%��� $
( ��
� , ��
 ������
�
 �� $�)! �� �� $�3! )
����

���

l
������
�
 ��8����������
 �� 
�	
�� 
����

 
�� ��

l
�� 	
����


qi(t)
$

� �� �� ���������� �A�A�����A�
6�%���
�
 �� 	�
  ����	����� ��
 ������
�
 �� &�%���%� �� $�3! �
� "��� �� �� $��!!

�
�
��� ��
 )
�	�
 �������� � ��� B 0$!�$�!" 2 ���'�"�&�$
� �������� � �� 6�! / 0��$�0� u(q, q̇, t) !&$  � �!#'"#&') 8 3"3$%)&C3 &� !" "! &�$�&/ ��$ � ;�� �$�0�& 1! �  "!'���2'��2 ! �

d

dt

∂u(q, q̇, t)

∂q̇i
− ∂u(q, q̇, t)

∂qi
= Qi, i = 1, . . . , l.

�� $�$!
0 � 1! B " & "� / 0'�! & :!;B '�� ! �0�� ! Fi(r, ṙ, t) = −∂u(r, ṙ, t)/∂ri , �"0'& 1! " :� � 5 <� 5��? 0��

Qi(q, q̇, t) =

N∑

j=1

Fj(r(q), ṙ(q̇), t)
∂rj(q)

∂qi

= −
N∑

j=1

∂u(r, ṙ, t)

∂rj

∂rj(q)

∂qi

= −∂u(q, q̇, t)
∂qi

= Fi(q, q̇, t).
�� $�+!

5�  


�
 ���
� ��� ��
 )
�	�

Fi

�������� � ��� ���  
������� , ��
�
 ��
 ������
�
 ��
&�%���%� ��  ��� �'�� �
 '	� �� $��! 
� �
�� ��� �� ��%���%��� ��-��  ��

L(q, q̇, t) = T (q, q̇, t) − u(q, q̇, t)
�� $� �!
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�������� � � ���
������ �$

���
)��� ��� ������
�
 �� &�%���%�

d

dt

∂L

∂q̇i
− ∂L

∂qi
= 0, i = 1, . . . , l.

�� $��!
&� )
�	� �� &
����: �
� �� ���� ��  ����	���'������ �� 
����� $

� �0 �� �	 ��
��! �� ��
����
5
��

x = (x1, x2, x3) ∈ �3 , 

 �� ���  ����	��� �� � �

�
m

�� �� 	+��%�
q
��  ��
��	�

� ��� 	+�� ���	������
E(x, t)

�� � ��� 	+�� � �����	��
�
B(x, t)

$ ��
 	+�� 
 

�� ��-��

�� �����
 ��
  
�������
 
	������

φ(x, t)
�� ��	����

A(x, t)
	
��� 
��� �$ � .

E(x, t) = −∇φ(x, t) − ∂tA(x, t)
�� $�� !

B(x, t) = ∇ × A(x, t).
�� $�� !

&� / 0'�! 1! �0'!�$� �
� ��
�
 �
����  ��
F = q (E + v × B) ,

�� $��!

�

v = dx/dt
$ 4��
 	� 	�
 ��  
������� %�������
� �
�

u(x,v, t) = qφ(x, t) − qA(x, t) · v. �� $�) !
*� �8�� , 
� � .

d

dt

∂u

∂q̇i
− ∂u

∂qi
=

d

dt

∂u

∂ẋi
− ∂u

∂xi

(2.46)
=

d

dt
(−qAi) − q

∂φ

∂xi
+ q

3∑

j=1

∂Aj

∂xi
ẋj

= −q
3∑

j=1

∂Ai

∂xj
ẋj + q

3∑

j=1

∂Aj

∂xi
ẋj

︸ ︷︷ ︸
= q(ẋ×∇×A)i

(2.44)
= q(v×B)

−q ∂Ai

∂t
− q

∂φ

∂xi︸ ︷︷ ︸
(2.43)

= qEi

(2.45)
= Fi.

�� $�3!
&� ��%���%��� �
� ��
�
 �
���  ��

L(x, ẋ) = 1
2mẋ2 − qφ+ qA · ẋ. �� $�* !

� �� �� � ������ @��� ���A�
� �������� � �� 00�$ L(q, q̇, t)

"! "�2 '��2 �!� 1 &#&$��!, �"0'& "! +!+ '"#  !"� �8�3 pi� "� -�'��3"! qi !&$ 1�. �� B �'
pi =

∂L

∂q̇i
.

�� $�$ !
����� ��-����
� ��
�� ����"�� ���
 �� 	�
 
� ��  
������� �
� %�������
� $ �� ��� ��

�

 ��)
 �
 ���
pi

�
� " :��B  "&�0� 2 ���'�"�&�! $ *� �8�� , 
�  �� ���� �� �� 
(
�'� � 	
�
�����
�
� �� ��
��"�� ��

N
 ����	���
  
�	������
 �� � �

�

mi
���	 ��  
�������

V = V (q, t)
,

��
�

L =

N∑

i=1

1
2miq̇

2
i − V (q, t).

�� $�+ !
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������
( ��
�

pi =
∂L

∂q̇i
= miq̇i,

�� $� �!
	� ��� �
� � ���  ��
�
� �� ��  ����	���
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� 
� ������� �
1
! $

� �� �� � ������������ �� ��������� � ������� ���
� �0 �� �	 ����� � 1�
� ������

5
�� ��  ������ )
�� � � ��� ��


�� +���
����� �� 	
�
����� �� ��  ��
k
�� � ���� � �

�

m
�� 

� ������ ��� $ &� 
(
�'� � �
� 

�� �
 � �� %��������
� , �� 
� �� 

� �� �
���� ���

 ��� $ 5
��
l
�� �
�%���� �� �� 

 �� ��


�� ���	 �� � �

� , ��

r(t)


� ��
�%���
� $ 5
��

θ� ���%�� ����� ��  ������ �� �� �����	��� �	) $ 1 �% $ � $) ! $

k

m

l + r

θ

êy

êx

��� � � $) % 9������ +���
����� $
&�  �
" �'��  ��� 	��� ��	��� � � ����� ��
 ���� 	

��
����
 %�������
��
 ���� �������


q1 = r(t)
��
q2 = θ(t)

$ &�
 )
�	�
 ����� 	����
 �� %��������
� �� �� ��  �� �� ��


�� , ��

(
�'�� �
� 	
�
������) ��

Q̃i = 0
,
i = 1, 2

$ &�  

���
� �� �� � �

� ���
 �� �� '�� 	����
���
�
� �
����  ��

x =

(
(l + r) sin θ
−(l+ r) cos θ

)
,

�� $��!
�
�	

ẋ =

(
(l + r)θ̇ cos θ + ṙ sin θ

(l + r)θ̇ sin θ − ṙ cos θ

)
,

�� $��!
��

T = 1
2mẋ2 (2.53)

= 1
2m
[
ṙ2 + (l + r)2 θ̇2

]
.

�� $�� !
& �����%��  
��������� �
�

V = −mg(l + r) cos θ − 1
2kr

2.
�� $��!

&� ��%���%��� �� 
(
�'� � �
� �
�	

L = T − V.
�� $�)!
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q1 = r : mr̈ −m(l+ r)θ̇2︸ ︷︷ ︸������������ �	����
 ��	
= mg cos θ + kr︸ ︷︷ ︸����	


�� $�3�!

q2 = θ : m(l + r)2 θ̈ + 2m(l + r)ṙθ̇︸ ︷︷ ︸
= d

dt [m(l+r)2θ̇]������	 �	�
��	��	 �� ���	�� ��������	

= −mg(l+ r) sin θ︸ ︷︷ ︸���	�� �	
 ����	

.

�� $�3" !

�� �� ������ ��� � �������
� �� $�3�! �
� � �������
� �� 0�#�
� ������� , �����
 ��� �� $�3"!�
� � �������
� �� �
���� 	�������� $ �� ����
��� " ��� ��
 ������
�
 �� 0�#�
� $

� �0 �� �� �� 

��  �� � �� �����!
5�  


�
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�	�
 
����� ��� �� ������  �
 � ���  
������� $ � ��
�  ��

���� �� �� 	�
 
 ��� ( � ��
 )
�	�
 �� )�
���� ��� $ �� 	�
 )������� �
� 	���� 
� �� )
�	� ��
)�
���� ��� �
�  �
 
���
������ � �� ����

� .

F̃i = −kiv
γ
i , i = 1, . . . , l,

�� $�* !

�
ki > 0

�
� �� 	
�2 	���� ��  �
 
���
�������  

���) ,
vi

��� 	
� 

���� �� �� ����

� 	���
��
����� , ��

γ
�� �� 

���  

���) ��-��

��� �� ��%�� � �� )�
���� ��� $ *� %������

γ = γ(v) ������
��
 , ���
 �� ��%�� � ��
 )��" ��
 ����

�
 � ��� �����	� �
���� ���
γ = 1

$ 5�  


�

��
�� �� 
(
�'� � ��

l/3 ∈ �  ����	���
  
�	������
 �� ��� ��
�
�
3
,
vi = (vix, viy , viz)

$
4�-��


�
 �� / 0��$�0� 1! 1�&&�B �$�0� 1! � �#"!�2	 R  ��

R =
1

2

l/3∑

i=1

(
kxv

2
ix + kyv

2
iy + kzv

2
iz

)
.

�� $�$ !

9
�� ������� ��  �
"�'� � �� 5�
,�
 , �����

�
 �� )
�� � %������� �� $�3! ��
 ������
�
 ��
&�%���%� $ 0
����

α
� �����	� 
�� ��
 	
� 

����
 {x, y, z} , 
� � �
�	

F̃iα
(2.58)
= − ∂R

∂viα
.

�� $)+ !
0
����

F̃j = (F̃jx, F̃jy , F̃jz)
,
rj = (rjx, rjy , rjz)

, ��
 )
�	�
 %�������
��
 �� $�*! ����������

Q̃i =

l/3∑

j=1

F̃j ·
∂rj

∂qi

(2.60)
= −

l/3∑

j=1

∇vj
R · ∂rj

∂qi

(2.28)
= −

l/3∑

j=1

∇vj
R · ∂vj

∂q̇i

= − ∂R

∂q̇j
.

�� $) �!
( ��
� ��
 ������
�
 �� *�����&�%���%� �� $�3! ����������

d

dt

∂L

∂q̇i
− ∂L

∂qi
+
∂R

∂q̇j
= 0, i = 1, . . . , l/3.

�� $)�!
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���

η
�	) $ 1 �% $ � $3! , ��
�
 �� "���� 
�"�� �� )
�	� �� )�
���� ���

F = −6πaηv.
�� $)�!

�� ���  ��)
 �
 �� �� $)� ! �� ��� 
 ��%�� �� �� / 0'� "! 1! 0 $0� !& $
êz

m

g

F

a

��� � � $3 % 9�
"�'� � �� 5�
,�
 $
*����
�
 �� �(��� ���� �� �� � �

� � � ����� ��
 ������
�
 �� &�%���%� $ 5
��

m =
(ρm − ρl)V

�� � �

� �8�	���� �� �� "���� ��� ��  ���	� � � �( �	+�� '�� , 
�
ρm

�
� �� � �

�
�
��� ���� �� �� "���� ,

ρl
	���� �� ���� ��� , ��

V
�� �
��� � �� �� "���� $ &� ��%���%��� �
� ��
�


L = 1
2mż

2 −mgz.
�� $)� !

& ��

��
 �� �� 

�
kx = ky = kz = k

, ��  �� �� )
����� �� 5�
,�

k = 6πaη > 0

$ & �������
�
�� &�%���%� �� $)�! �
��� ��
�
 �� ��
����� 	
���

mz̈ + kż = mg.
�� $)�!

�+
�
�


�
 �� 	
�����
� �� ������ ����� ��� �� "���� �
� �� ���������� �� �� 

 , 	 ��
��������
ż(0) = 0

$ 0
����
v(t) = ż(t)

, �� 

����
� �� �� $)�! �
�
v(t) = v∞ [1 − exp(−t/τ)] , �� $))!

���	
v∞ =

mg

6πaη
, τ =

v∞
g
.

�� $)3!
& ��� �
���	� �� )�
���� ��� �� ����� �
�	 ��� ��� ��� -� ��

v∞
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� 
�

t → ∞ $
τ�
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� �
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�����
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fµ(q1, . . . , qN , q̇1, . . . , q̇N ) = 0, ∀µ = 1, . . . , C,
�� $)* !

�� �����
 �� )
�	��
� ��

N
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��� )
�� �
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 �
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N∑

i=1

(aµidqi + bµidq̇i) = 0, ∀µ = 1, . . . , C.
�� $)$ !

(  ����
�
 ��
 � ��+
��
 ��
 ����� ��	�����
 �� &�%���%� �� ��  �
"�'� � �������
����


�
 	
��������
 ��
	����
 ���
 � ������� ( $� $ 0
�
�


q = (q1, . . . , qN )
,
q̇ = (q̇1, . . . , q̇N )

$
5� �� $)* ! �
� ����-� , ��
�
 �� 	
�����
� 
������� �
� ��	
�� �����

C∑

µ=1

λµ(q, q̇)fµ(q, q̇) = 0,
�� $3+ !


�
λµ(q, q̇)



��
C

)
�	��
�
 ��	
����
 �  ����
 � "$�B "���$! '& 1! ��2 '��2 !$ &�  ���	� �
�� % �� ���
� �� ������� ���

δ

∫ t2

t1

dt L(q, q̇, t) = 0.
�� $3�!

*� 	
�"����� ��
 *�
 $ �� $3+! �� �� $3�! 
� 
"�����

δ

∫ t2

t1

dt

[
L(q, q̇, t) +

C∑

µ=1

Λµ(q, q̇, t)fµ(q, q̇)

]
= 0,

�� $3�!


�
λµ(q, q̇) =

∫ t2

t1

dtΛµ(q, q̇, t).
�� $3� !

�
��� ��
	��� ���
 � ������� ( $� $� , ��

���� �� $3�! ������� � ���������
�� � ��	��
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�

��
 	
��������


fµ = 0
, 	� ��� �
� "��� 	� ��� �
�
 	+��	+
�
 � )���� $ ( �� 
� , ��
 	
�����
�


�� *�����&�%���%�  ������ 	��� �  ������
  
��

L = L+
C∑

µ=1

Λµfµ.
�� $3� !
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������� ���
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�� 	��	� � �
��� .

0 =
d

dt

∂L

∂q̇i
− ∂L

∂qi
=

d

dt

∂L

∂q̇i
− ∂L

∂qi
+

d

dt

(
∂

∂q̇i

C∑

µ=1

Λµfµ

)
− ∂

∂qi

C∑

µ=1

Λµfµ

=
d

dt

∂L

∂q̇i
− ∂L

∂qi
+

C∑

µ=1

fµ︸︷︷︸
(2.68)

= 0

(
d

dt

∂Λµ

∂q̇i
− ∂Λµ

∂qi

)

+

C∑

µ=1

[
Λµ

(
d

dt

∂fµ

∂q̇i
− ∂fµ

∂qi

)
+

dfµ

dt︸︷︷︸
(2.69)

= 0

∂Λµ

∂q̇i
+

dΛµ

dt

∂fµ

∂q̇i

]

=
d

dt

∂L

∂q̇i
− ∂L

∂qi
+

C∑

µ=1

[
Λµ

(
d

dt

∂fµ

∂q̇i
− ∂fµ

∂qi

)
+

dΛµ

dt

∂fµ

∂q̇i

] �� $3�!

�� �� ��	
� �� ��
 �� �$�0�& 1! ��2 '��2 ! 1! &!�0�1! !&B ��! .
d

dt

∂L

∂q̇i
− ∂L

∂qi
= φi, i = 1, . . . , N,

φi =

C∑

µ=1

[
Λµ

(
∂fµ

∂qi
− d

dt

∂fµ

∂q̇i

)
− dΛµ

dt

∂fµ

∂q̇i

]
,

fµ(q, q̇) = 0, µ = 1, . . . , C,

�� $3)!


�
L = L(q, q̇, t)

��
Λµ = Λµ(q, q̇, t)

$ �� $3) ! ��-��� �� 
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N + C
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 {q1, . . . , qN ,

Λ1, . . . ,ΛC}
$
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φi
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fµ = fµ(q1, . . . , qN )

�� �
�	

φi =

C∑

µ=1

Λµ
∂fµ

∂qi
, i = 1, . . . , N.
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�
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f(r) = r− l = 0
$ &�  �
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�
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�	 +
�
���� � � ��%�� �� ��" ����
θ
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m

l
θ

êx

êy
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θ
$ ( ��
�

L(θ, θ̇) = T − V = 1
2mr

2θ̇2 +mgr cos θ.
�� $3* !

& �������
� �� &�%���%�
d

dt

∂L

∂θ̇
− ∂L

∂θ
= 0

�� $3$ !
)
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ml2θ̈ +mgl sin θ = 0.
�� $*+ !
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f(r) = r − l = 0

$ &� ��%���%��� �
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�

L(r, θ, ṙ, θ̇) = T − V = 1

2ml
2θ̇2 + 1

2mṙ
2 +mgl cos θ.
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&�
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 �� $33! 
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φr = Λ
∂f

∂r
= Λ, φθ = Λ

∂f

∂θ
= 0.
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d

dt

∂L

∂ṙ
− ∂L

∂r
= Λ,

�� $*��!
d

dt

∂L

∂θ̇
− ∂L

∂θ
= 0,

�� $*�" !
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mr̈ −mrθ̇2 −mg cos θ = Λ,
�� $*��!

m
d

dt

(
r2θ
)

+mgr sin θ = 0.
�� $*�" !
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r = l
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Λ = −mg cos θ −mlθ̇2,

�� $*�!
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 %�������
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q = (q1, . . . , ql)
, 

 �� �� ��%���%���

L =
L(q, q̇, t)

����- ��� ��
 ������
�
 �� &�%���%�
d

dt

∂L

∂q̇i
− ∂L

∂qi
= 0, i = 1, . . . , l.

�� $*3!
5
��

Ψ
�� 1�7 �0� 0'B 	 �&� ! ��  ��	���
� "�� �	���� ��8�������"�� �
�� � ������
� �
� ��

�

��8�������"��! ��� ���
Ψ(q1, . . . , ql, t) = (Q1, . . . , Ql, t)

, 	 ��
��������
Qi = Qi(q1, . . . , ql, t)

∀i = 1, . . . , l
$ 5
��
L = L(Q, Q̇, t) = L

(
q(Q, t), q̇(Q, Q̇, t), t

)
, Q = (Q1, . . . , Ql),

�� $**!
�� ��%���%���

L
���
 ��
 �
������
 �����"��


Q
$ �� ��
��� �
�	 �
����� .

d

dt

∂L

∂Q̇i

− ∂L

∂Qi
= 0, i = 1, . . . , l.

�� $*$!
6�� ����
�
 � ��"
�� ���

Ψ
����� �� ��8�
�
� +�
� � , �
�
  
��
�
 � ������
��  
�� 
"�

�����
qi = qi(Q1, . . . , Ql, t), ∀i = 1, . . . , l.

�� $$+!



� �� � �
��
�� ��� ��� ����	��� ���
������� �3
( ��
� .

∂L

∂Q̇i

(2.88)
=

∂

∂Q̇i

L
(
q(Q, t), q̇(Q, Q̇, t), t

)
=

l∑

j=1

∂L(q, q̇, t)

∂q̇j

∂q̇j

∂Q̇i

.
�� $$ �!

� � .

q̇j
(2.90)
=

d

dt
qj(Q1, . . . , Ql, t) =

l∑

k=1

∂qj
∂Qk

dQk

dt
+
∂qj
∂t

,
�� $$�!

=⇒ ∂q̇j

∂Q̇i

(2.92)
=

l∑

k=1

∂qj
∂Qk

∂Q̇k

∂Q̇i︸ ︷︷ ︸
= δki

=
∂qj
∂Qi

.
�� $$� !

�� $$�! ���
 �� $$ �! �
��� .
∂L

∂Q̇i

=
l∑

j=1

∂L

∂q̇j

∂qj
∂Qi

=⇒ d

dt

∂L

∂Q̇i

=

l∑

j=1

d

dt

(
∂L

∂q̇j

∂qj
∂Qi

)

=

l∑

j=1

[(
d

dt

∂L

∂q̇j

)
∂qj
∂Qi

+
∂L

∂q̇j

(
d

dt

∂qj
∂Qi

)]
.

�� $$� !
� � 
� ��� ����� ��� .

d

dt

∂qj
∂Qi

=
d

dt

∂

∂Qi
qj(Q1, . . . , Ql, t)

=

l∑

k=1

∂2qj
∂Qk∂Qi

dQk

dt
+
∂

∂t

∂qj
∂Qi

=
∂

∂Qi

[
l∑

k=1

∂qj
∂Qk

dQk

dt
+
∂qj
∂t

]

︸ ︷︷ ︸
(2.92)

= q̇j

.
�� $$�!

�� $$�! ���
 �� $$� ! �
��� .
d

dt

∂L

∂Q̇i

=
l∑

j=1

[(
d

dt

∂L

∂q̇j

)

︸ ︷︷ ︸
(2.87)

= ∂L
∂qj

∂qj
∂Qi

+
∂L

∂q̇j

∂q̇j
∂Qi

]

=

l∑

j=1

(
∂L

∂qj

∂qj
∂Qi

+
∂L

∂q̇j

∂q̇j
∂Qi

)
, q̇j = q̇j(Q1, . . . , Ql, t)

=
∂L

∂Qi
.

�� $$) !

�

6������
�
 ��� 	� ��
����� ��.'�� �� ��
 %����
 ������%�
 �� )
�� ���
� � ��%���%���
 �� ��  
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� � � �� ��
������� ���
������
� �� �� � ������@��A �� ������� ���
� 
�
 �!����� � �� 00�$ q = (q1, . . . , ql), &0�!�$ "!& "�2 '��2 �!�& L(q, q̇, t) !$

L̃1(q, q̇, t) = λL(q, q̇, t), λ ∈ �∗,
�� $$3!

L̃2(q, q̇, t) = L(q, q̇, t) +
d

dt
f(q, t),

�� $$*!
04

f(q, t) !&$  �! / 0��$�0� '�!" "! � !"�0�� ! 1�'�-�3"! 5 = "0'& L , L1 , !$ L2
1��'�-!�$ "�� �� ! �-0" $�0� 5

� 
���� E�! &� ������
� �� $$3! ��	
��� ����	������ �� �� )
�� � ��
 ������
�
 �� &�%���%� �� $�3!��� �
� �������� ��
L
$

��! - ���-
�
 ��� 
�
L


���
)��� ��� ������
�
 �� &�%���%� ,
L̃2

��
 
���
)��� �%���� ��� .

d

dt

∂L̃2

∂q̇i
− ∂L̃2

∂qi

(2.98)
=

d

dt

∂L

∂q̇i
− ∂L

∂qi
+

d

dt

∂

∂q̇i

d

dt
f(q, t) − ∂

∂qi

d

dt
f(q, t)

�� $$$!
� �

∂

∂q̇i

d

dt
f(q, t) =

∂

∂q̇i




l∑

j=1

∂f

∂qj
q̇j +

∂f

∂t



 =

l∑

j=1

∂f

∂qj
δij =

∂f

∂qi
,

�� $�++!

��� � �
� ��
'�� ���
 �� $$$ !  
�� 
"�����

d

dt

∂L̃2

∂q̇i
− ∂L̃2

∂qi
=

d

dt

∂L

∂q̇i
− ∂L

∂qi
+

d

dt

∂

∂qi
f(q, t) − ∂

∂qi

d

dt
f(q, t)

︸ ︷︷ ︸
=0

.
�� $�+ �!
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 $ 9�� 	
���� , 
� ����
��%���%���
 ��8'���� � ���� 	
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�
����
 	
�� �%��
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�
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 �
�
 ��
�
 �� ���
 �� 5�	� $ � $� $� ��� ��  
�������
%�������
� � ��� ��� 
(
�'� � �
�

u(x, ẋ, t) = qφ(x, t) − qA(x, t) · ẋ, �� $�+�!
�� ��%���%��� �����

L(x, ẋ, t) = 1
2mẋ2 − u(x, ẋ, t).

�� $�+�!
�� ��-��� �� $'��&/ 0'� �$�0� 1! 
 � 2 ! ��  
������� %�������
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��� 
� �� $ 5
��

λ(x, t)
���

)
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� ������"�� , ��
�
 ��
 �
������  
�������
 
	������
φ̃

�� ��	����
Ã



�� ��-��
  ��

φ̃(x, t) = φ(x, t) − ∂

∂t
λ(x, t)

�� $�+��!
Ã(x, t) = A(x, t) + ∇λ(x, t).

�� $�+�"!
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)
�� ���
� , �� �
����� ��%���%���
L̃

�������

L̃ = L+ q
∂λ

∂t
+ qẋ · ∇λ

︸ ︷︷ ︸
= q dλ(x,t)

dt

.
�� $�+�!

( ��
�
L

��
L̃

��8'����  �� �� ������� �
����
dλ(x, t)/dt

, ��  �� ��  �
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� � $ �
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�
������
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� �� �0 �	 ��
���  �! ��� ����!
� �������� � �� 00�$

q = (q1, . . . , ql) ∈
�

l , &0�$ L = L(q, q̇, t)  � "�2 '��2 �!� ��1�B !�1��$1! "� �00'10���! qi �
∂L

∂qi
= 0,

�� $�+) !
�"0'& 0� 1�$ � ! qi !&$  �! 	%$&%9)'  � )&��'5
��� � � � �	 00�$  � &#&$��! "�2 '��2 �!� �1� !$$��$  �! -�'��3"! �#�"�� ! qi , �"0'& "! � 0�� !�$ pi

�0�
  2 � � �!$$! -�'��3"! �#�"�� ! !&$  �! �0�&$��$! 1 � 0 -!� !�$ <0 ��$�2 '�"!
B '!� ��'!?
� 
���� E 

�� ��� ����� �����"�� 	(	�����

qi
, ��
�
 � �������
� �� &�%���%�  
�� 	���� ���

���"�� �������
d

dt

∂L

∂q̇i
= 0.

�� $�+3!
9�� 	
�
������ �� � 
���� 	
���%��

pi = ∂L/∂q̇i
� �� �����"�� 	(	�����

qi
�
� ���� ������

�� ��� 
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�
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�� ���  ����	���  
�	������ �� � �

�

m
���
 � 3 

�� �
� ��  
������� 	������

V (r)
$

9�� 	
�
������ �� � 
������� �
�  ��� , �� �� �� �
�� �
�	 �� 	+
�� �� 	

��
����

	(���������
 ��� ���

L(r, ṙ, θ̇) =
1

2
m
(
ṙ2 + r2θ̇2

)
− V (r).

�� $�+* !
&� ��%���%��� �� $�+*! ����� ���� ������ ��

θ
, 	���� �����" �� �
� 	(	����� �
�	 ��

�
���� 	
���%�� �


 	��
pθ =

∂L

∂θ̇
= r(mrθ̇)

�� $�+$ !
�
� ��� 	
�
����� �� �
���� ��� $ �� 
 ��%�� �� �
���� ��%������ $
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êx

êy

êz

m

ϕ

r

θ
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�� �
� ��  
�������
V (r, θ)���� ������ ��

ϕ
�	) $ 1 �% $ � $$! $

&� ��%���%��� �
� �
�	

L(r, θ, ṙ, θ̇, ϕ̇) =
1

2
m
(
ṙ2 + r2θ̇2 + r2ϕ̇2 sin2 θ

)
− V (r, θ).

�� $��+!

&� ��%���%��� �� $��+! ����� ���� ������ ��
ϕ
, 	���� �����"�� �
� 	(	����� �
�	 ��

�
���� 	
���%�� �


	��

pϕ =
∂L

∂ϕ̇
= r sin θ(mr sin θϕ̇)

�� $���!
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�
����� �� �
���� ��� $ �� 
 ��%�� �� �
���� ��%������ ���
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êz
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 ���� ��
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�� ��� 	
�����
� ����� ��� 
(������ �� 
(
�'�� ��
� ��� �
���	� �� �
�
 �� 	
�
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� $ & ��� �
�����
� �� 	���� ���� 
��� � �
"� �� �� �+�
�'� �
�� 0/ �+�� �	) $ 5�	� $ � $� $� $�! $

� �� �0 �� � �� �"��� ��� �� ���
 !
� 
�
 �!����� � �0 00�$

q = (q1, . . . , ql) ∈ �
l , &0�$ "! "�2 '��2 �!� L(q, q̇)

&��& 1�B !�1���!!;B "���$! 1��& "! $!�B &, �"0'& "� 2 '��1! '

ε =
l∑

i=1

∂L

∂q̇i
q̇i − L(q, q̇)

�� $���!

!&$ �0�&!'-�! � �0 '& 1! " :�-0" $�0� <�� $�2 '�"! B '!� ��'!? �

dε

dt
= 0.

�� $���!



� �� � �
��
�� ��� ��� ����	��� ���
������� � �
� 
���� E  �� +( 
�+'
� 
� �

∂L/∂t = 0
, �
�	 ��� ����-	���
� ����	�� �
��� .

dε

dt
=

d

dt

l∑

i=1

∂L

∂q̇i
q̇i −

d

dt
L(q, q̇)

=

l∑

i=1

[(
d

dt

∂L

∂q̇i

)

︸ ︷︷ ︸
= ∂L

∂qi

q̇i +
∂L

∂q̇i
q̈i

]
−
[

l∑

i=1

(
∂L

∂qi
q̇i +

∂L

∂q̇i
q̈i

)
+
∂L

∂t

]

= −∂L
∂t

= 0.
�� $��� !
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��� � � � �� 00�$  � &#&$��! 1��'�$ B �' N �00'10���!& ��'$�&�!��!& x = (x1, . . . , xN ) ∈�N , &0�$�? 0 ≤ C < N
�0�$'���$!& 	 0"0�
� !& &�"�'0�
� !&,��?  � B 0$!�$�!" �! 1�B !�1��$ B �& !;B "���$!� !�$ 1 $!�B & <0 � $0�
�!? V (q) �� 1��

B !�1��$ 1!& - �$!&&!& 2 ���'�"�&�!&,04
q = (q1, . . . , ql) ∈

�
l
&0�$ "!& l = N −C

�00'10���!& 2 ���'�"�&�!& ��1�B !�1��$!& 5 0 � T!&$ " :��!'2 �! ����$�� ! 1 &#&$��!, �"0'&
ε = T + V = E

�� $���!
!&$ " :��!'2 �! $0$�"! 1 &#&$�� !5
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�� 
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��
 +
�
����
 , ��
�
 ��


N
	

��
����


	����
�����

x
 ������ 	��� �� ��� ��
 �� )
�	��
� ��


l = N−C 	

��
����
 %�������
��

q
, �
�	

x = x(q, t)
$ 4�  �� 
 , 	
��� ��
 	
��������
 

�� 
�  

��
 
	���
����
 , ��


	

��
����
 	����
�����
 �� �� ������  �
 �� ��	���� ��� �� ��� 
 .
x = x(q)

$ & �����%��
	�������� �� 
(
�'� � �
� ��
�
�

T =
1

2

N∑

i=1

mi

(
d

dt
xi(q)

)2

=
1

2

N∑

i=1

mi

( l∑

j=1

∂xi

∂qj
q̇j

)2

=
1

2

l∑

j,k=1

(
N∑

i=1

mi
∂xi

∂qj

∂xi

∂qk

)

︸ ︷︷ ︸
+ αjk(q)

q̇j q̇k,
�� $��) !
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q̇i
∂T

∂q̇i

(2.116)
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q̇i
1

2

l∑

j,k=1

αjk (δjiq̇k + q̇jδik) = 2T.
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∂T

∂q̇i
q̇i −
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i=1

∂V

∂q̇i︸︷︷︸
=0

q̇i − L

(2.117)
= 2T − (T − V )

= T + V,
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x = x(q1, . . . , ql, t)
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∂xi

∂qj
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∂t
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=
1

2
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αjk(q, t)q̇j q̇k +
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j=1

bj(q, t)q̇j + c(q, t),
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∂t

)2

.
�� $���!

T
�
� �
�	 ��� )
�� � ����������� +
�
%'�� �� ��
 ����

�
 %�������
��
 
�

bj = 0 ∀j ��
c = 0

, 	� ��� �
� �� 	�
  
�� ��
 	
��������
 
	���
����
 $ ( ��
� , 
� 
"����� �� 	���'��
)�	���� ��� �����
�"��  
�� ������ ���� 
� �� 	
�
����� �� �
�������

ε
�� ��
���� � �����%��


� ��� ����� %������� . �� 
�2 � �� ����-�� 
� � �����%�� 	�������� �
� ��� )
�� � �����������
+
�
%'�� ��

q̇
$ �� ����� ���
 �� 5�	� $ � $� ���

ε
�
� � �+�� ���
���� �� 
(
�'� � ���
 ��

	�
  ����	����� $ �

� �� �0 �0 ��� ��
��! ��  ��! �� ���!�
������ E  � �1��
�� � �� �� �1�

4��
 	���� 
�	��
� , �
�
 �
���
�
 �� �� �
��
�
 �� )��� �� �� �
��� 
(������ �� ��%����

%��� �
� �


 	��� ��� %������� 	
�
����� $
5
��

S
��� �  ��	���
� ��8�������"�� �� � ��
 �	� �� 	
�-%�����
�
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q 7→ S(q) = (S(q)1, . . . ,S(q)l) ∈
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Ṡ(q, q̇) =
d

dt
S(q) =
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i=1

∂S

∂qi
q̇i.
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Qα = Sα(q)
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Q̇α = Ṡα(q, q̇)
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xN = (x3N−2, x3N−1, x3N )

	���� �� �� �����'�� $ &�  
������� ����-� ��
�
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Sα(x1, . . . ,xN ) = (x1 + αâ, . . . ,xN + αâ) ∈ �3N , ∀α ∈ �
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H(q,p, t) B �'

H(q,p, t) =

l∑

i=1

piq̇i(q,p) − L (q, q̇(q,p), t) ,
�� $�!
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q̇i =
∂H

∂pi
, i = 1, . . . , l,

ṗi = −∂H
∂qi

, i = 1, . . . , l.
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ṗi =
∂L

∂qi
, i = 1, . . . , l.
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H(q,p, t) =
l∑

i=1

piq̇i(q,p) − L (q, q̇(q,p), t) ,
�� $� !
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dH =
l∑

i=1

pidq̇i +
l∑

i=1

dpiq̇i −
l∑

i=1

∂L

∂qi︸︷︷︸
(3.3)
= ṗi

dqi −
l∑

i=1

∂L

∂q̇i︸︷︷︸��� �
= pi

dq̇i −
∂L

∂t
dt

= −
l∑

i=1

ṗidqi +

l∑

i=1

q̇idpi −
∂L

∂t
dt.

�� $�!

� ��
 � ������  ��� 	
���
H = H(q,p, t)

, �� ��8���������� �
���� ��
H


 ��	��� ��

�

dH =

l∑

i=1

∂H

∂qi
dqi +

l∑

i=1

∂H

∂pi
dpi +

∂H

∂t
dt.
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ṗi = −∂H/∂qi
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q̇i = ∂H/∂pi
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dH

dt
=
∂H

∂t
= −∂L

∂t
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dH

dt
=

l∑

i=1

(
∂H

∂qi
q̇i +

∂H

∂pi
ṗi

)
+
∂H

∂t

(3.2)
=

l∑

i=1

(−ṗiq̇i + q̇iṗi) +
∂H

∂t
=
∂H

∂t
,
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{F,G} =
l∑

i=1

(
∂F

∂qi

∂G

∂pi
− ∂F

∂pi

∂G

∂qi

)
.
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dF

dt
= {F,H} +

∂F

∂t
.
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dF

dt
(q,p, t) =

l∑

i=1

(
∂F

∂qi
q̇i︸︷︷︸

(3.2)
= ∂H

∂pi

+
∂F

∂pi
ṗi︸︷︷︸

(3.2)
= − ∂H

∂qi

)
+
∂F

∂t

(3.9)
= {F,H} +

∂F

∂t
.
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dqi
dt

= {qi, H} =
l∑

j=1

∂qi
∂qj︸︷︷︸
= δij

∂H

∂pj
=
∂H

∂pi
.
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dpi

dt
= {pi, H} = −

l∑

j=1

∂pi

∂pj︸︷︷︸
= δij

∂H

∂qj
= −∂H

∂qi
.

�� $��!

�

��� � � 0 �� 00�$ F = F (q,p) � � �! 1�B !�1 B �& !;B "���$!� !�$ 1 $!�B & !$ � � �0�� $!�-!� H 1��& "! &!�& {F,H} = 0, �"0'& F !&$  �! �0�&$��$! 1 � 0 -!� !�$5

� 
���� E �� ��
����� �
� ��������  �� �� ����� � $�
�

� �� �
��� E �� �� �
�� ��� ����
%�� )
�� ���� ����� � ���
����
� +�� ���
������ �� ���� �
 ��
	�
 	+��
 �� 9
�


� �� � ���
����
� � �
"
����"��
 �� � �	������ ��������� ���
 �� �� ���

������
� �� %��
��"��% $ 5
��
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d

dt
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∂t
A(t),
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L(q, q̇) = 1
2mq̇

2 − 1
2kq

2,
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p =

∂L

∂q̇
= mq̇,
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q̇(p) =
p

m
.
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H(q, p) = pq̇(p) − L(q, q̇(p)) =
p2

2m
+

1

2
kq2.
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q̇ =
∂H

∂p
=

p

m
,
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ṗ = −∂H
∂q

= −kq. �� $�$" !
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H = E =
p2

2m
+

1

2
kq2
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L(x, ẋ) = 1
2mẋ2 +mg · x. �� $��!
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pi = ∂L/∂ẋi = mẋi
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i = 1, . . . , 3
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H(x,p) =

3∑

i=1

piẋi(p) − L(x,p) =
p2

2m
−mg · x. �� $��!
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ẋi =
pi

m
,
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ṗi = mgi.
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L̃(x, ẋ, t) = L(x, ẋ, t) +
d

dt
f(x, t).

�� $�� !
9�� 	
�
������ , �� ��%���%���

L̃(x, ẋ, t) = 1
2mẋ2 +mg · x − d

dt

[
m
(
g · xt− 1

6g
2t3
)] �� $��!
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p̃i =

∂L̃

∂ẋi
= mẋi −mgit,
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H̃(x, p̃, t) =

3∑

i=1

p̃iẋi(p̃) − L̃(x, p̃, t).
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i = 1, . . . , 3
.

ẋi =
p̃i

m
+ git,
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L̃(ẋ, t) = 1
2m (ẋ − gt)2 = 1

2mẋ2 −mg · ẋt+ 1
2mg2t2,
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p̃i = m(ẋi − git).
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τ(qi, pi, t) = (qi,−pi,−t), i = 1, . . . , l.
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t → −t 
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q̇ → −q̇ , � �
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�� � � ��	��
� ��
τ
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q = (q1, . . . , ql)

,
p = (p1, . . . , pl)

, ��
�
 	
��� � �+�� ���
����
H

�
� ���
)
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 �
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H
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�
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 .
H(τ(q), τ(p)) = H(q,p).
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τ(q̇i) =
dτ(qi)

dτ(t)

(3.33)
= −q̇i,

�� $��!

τ(ṗi) =
dτ(pi)

dτ(t)

(3.33)
= ṗi,

�� $�) !
∂H

∂τ(pi)
(τ(q), τ(p))

(3.33)
= −∂H

∂pi
,

�� $�3!
∂H

∂τ(qi)
(τ(q), τ(p))

(3.33)
=

∂H

∂qi
.
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qi(t0)
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q̇i(t)
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qi(t)
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 � ��
 �	� �� 	
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i=1 ∈ Γ
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Γ
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p
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p(t1)

q(t0) q(t1)

Γ
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V0 ⊂ Γ

�� ���� ��� �� �
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t0
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  +�
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Γ
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 ��

Vt ⊂ Γ
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t
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V0 = Vt
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q

p

V0

Vt
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q = (q1, . . . , ql)
,
p = (p1, . . . , pl)

, 

 ��
Σ ⊂ Γ

, ��
�
 
� ��-��� �� ���
���
ρ(q,p, t)���


Γ
 ��

ρ(q,p, t) = lim
|Σ|→0

N(Σ)

|Σ| ,
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ρ(q,p, t)

�� ��
���� �� ���
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(
�'�� ���
 � �����
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t
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  +�
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∫

Γ

dqdp ρ(q,p, t) = 1.
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d

dt
ρ(q,p, t) = 0,

�� $� �!

��
�
 �� � �*� $ �� $�$ ! �� �
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 ��	��� ��

�

d

dt
ρ(q,p, t) =

l∑

i=1

(
∂ρ

∂qi
q̇i +

∂ρ

∂pi
ṗi

)
+
∂ρ

∂t
= 0.
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∆V → 0
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p

q q + ∆q∆q

p

p+ ∆p

∆p

Γ

∆V
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� ���

pi
! �� )
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q̇i
���
 �	����� ���

ṗi
! $ *� �8�� , 
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�
� ��
qi

�� ��� 

t
, �� ��

qi + ∆qi
�� ��� 


t+ ∆t
, ��
�
 �� ����

� �
� �
����  ��

(qi + ∆qi) − qi
(t+ ∆t) − t

=
∆qi
∆t

∆V →0
∆t→0= q̇i.

�� $�� !
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�� �� ����	��
�
pi

.

(pi + ∆pi) − pi

(t+ ∆t) − t
=

∆pi

∆t

∆V →0
∆t→0= ṗi.
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j
��
qi

= ρ(q,p, t)q̇i(q,p, t)

l∏

j=1

∆pj

l∏

k=1
k 6=i

∆qk, ∀i = 1, . . . , l,
�� $��!

j
��
pi

= ρ(q,p, t)ṗi(q,p, t)

l∏

j=1

∆qj

l∏

k=1
k 6=i

∆pk, ∀i = 1, . . . , l.
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qi

= ρ(q + ∆qi,p, t)q̇i(q + ∆qi,p, t)

l∏

j=1

∆pj

l∏

k=1
k 6=i

∆qk, ∀i = 1, . . . , l,
�� $�3!

j
���
pi

= ρ(q,p + ∆pi, t)ṗi(q,p + ∆pi, t)

l∏

j=1

∆qj

l∏

k=1
k 6=i

∆pk, ∀i = 1, . . . , l.
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∆pi
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(∆qi)
2
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(∆pi)
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j
���
qi

= ρ(q,p, t)q̇i(q,p, t)

l∏

j=1

∆pj

l∏

k=1
k 6=i

∆qk

+
∂

∂qi

[
ρ(q + ∆qi,p, t)q̇i(q + ∆qi,p, t)

]

∆qi=0
∆qi

l∏

j=1

∆pj

l∏

k=1
k 6=i

∆qk

= j
��
qi

+
∂(ρq̇i)

∂qi

l∏

j=1

∆qj∆pj , ∀i = 1, . . . , l,
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j
���
pi

= ρ(q,p, t)q̇i(q,p, t)
l∏

j=1

∆qj

l∏

k=1
k 6=i

∆pk

+
∂

∂pi

[
ρ(q,p + ∆pi, t)ṗi(q,p + ∆pi, t)

]

∆pi=0
∆pi

l∏

j=1

∆qj

l∏

k=1
k 6=i

∆pk

= j
��
pi

+
∂(ρṗi)

∂pi

l∏

j=1

∆qj∆pj , ∀i = 1, . . . , l,
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q̇i = q̇i(q,p, t)
��
ṗi = ṗi(q,p, t)
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n∆V
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∆V

, ��
�

n∆V

�
� �
���  �� �� "���� ��
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n∆V =

l∑

i=1

(
j
��
qi

+ j
��
pi

)
−

l∑

i=1

(
j
���
qi

+ j
���
pi

)

(3.49)
(3.50)
= −

l∑

i=1

[
∂(ρq̇i)

∂qi
+
∂(ρṗi)

∂pi

] l∏

j=1

∆qj∆pj .
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� �	���� .

n∆V =
∂

∂t

∫

∆V

dq′dp′ ρ(q′,p′, t)

' ∂

∂t
ρ(q,p, t)

∫

∆V

dq′dp′

︸ ︷︷ ︸
= � l

j=1 ∆qj∆pj

=
∂ρ

∂t

l∏

j=1

∆qj∆pj .
�� $��!
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∂ρ

∂t
= −

l∑

i=1

[
∂(ρq̇i)

∂qi
+
∂(ρṗi)

∂pi

]

= −
l∑

i=1

[
q̇i
∂ρ

∂qi
+ ṗi

∂ρ

∂pi

]

︸ ︷︷ ︸
= ∂ρ

∂qi

dqi
dt

+ ∂ρ
∂pi

dpi
dt

−ρ
l∑

i=1

[
∂q̇i
∂qi

+
∂ṗi

∂pi

]

︸ ︷︷ ︸
(3.2)
= ∂2H

∂qi∂pi
− ∂2H

∂pi∂qi
=0

=⇒
l∑

i=1

[
∂ρ

∂qi

dqi
dt

+
∂ρ

∂pi

dpi

dt

]
+
∂ρ

∂t
= 0

=⇒ dρ

dt
= 0,
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dρ

dt
= −ρ divv,
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t
 �� �� �
��� �� 
�  

���
�

q
�� �� 

� �� ��
�
�

p
$

�
�"��� � �����
 ��8�����
 �
n

 ����	� ��
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�
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�
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� ��	�

���� �� ��
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�� � ��
 �	� �� 	���� ��
 �� �� ������ �( ���� ��

 ����	� ��
 $ &� �
�"�� � �����
 ��8�����
  


�"��
  
�� ���  ����	���

M1(V )

��� ��
�
 ��

� �
���� �� �
���� , 	 ��
��������
M1(V ) ∼ V

$ &� �
�"�� � �����
  
��
N

 ����	���
 �
� �
�	
MN(V ) ∼ V N .

�� $3)!
5�  


�
 �� ��� ��� 
 �������

t = 0
�
���
 ��
  ����	���
 
� ��
����� ���
 ���  ����� ��

� �
���
v = αV

�� �
��� �
V
,
α < 1

$ &� �
�"�� � �����
 �� ������ �
� ��
�

mN (v) ∼ vN .

�� $33!
&��


�
 ��
�
 �� %�: ��
���� �  ����� �� �� 	
�����
� �� ������ , �� 
�  


�
 �� �� �'
 ��
��%�� � ����
��
 ��� �
�
 ��


MN (V )
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���� ��
���
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p(v) =
mN (v)

MN(V )
∼ αN ,

�� $3*!
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������ � ����� ����� ��
�� �� ��� 
 �� ��� )��� ��������  
�� ����
���� 	�� ���� �
�

τ(v) ∼ τ0p(V )−1,
�� $3$ !


�
τ0

�
� �� ��� 
 	���	����
�����  
�� ��� �� %�:  �

� � ���� 	
�-%�����
� � ��� ����� $
� ����
��� � �* � $ �� $3* ! , �� ��� 
 �� ��	�����	�

τ(v)
�
���� " ��� ��� �� �����	� �� 
����

������ ���
 �� �
�"�� ��  ����	���
 .
τ(v) ∼ τ0α

−N = τ0 exp (−N lnα) = τ0 exp
(
N lnα−1

)
.

�� $*+ !
9�� ���� �� , 
�

α = 1/2
�� �� �
�"�� ��  ����	���
 �
� �� � �
���� �� %������� � ���� �
��

N ∼ 1023
, ��
�
 �� �����
���

τ0 ∼ 10−12
�
� ���� 
 ��	�

����  
��  ��	
���� �+� �

1′000�� �
�! 
� 
"�����
τ(v) ∼ 10−1221023 �
�

> 101022 �
� $ 9�� 	
� ����

� , � ��%� �� � ��� ����
 �
�
������ � �����
�

1018 �
� $
�� )��� �����
��
 	��� 	
�
	���� �� �� / '�2 �"�$� 1!& �0�1�$�0�& �� �+�
�'� � ���� $ *��8�� , ��� ��
 +( 
�+'
�
 �
� ��� �� .
� ���

� �� �
��� � ��������� $ 9�� 	
�
������ 
� ��


(
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�
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����	� ���
 �� ��
	�

�
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 ��

�����
�"����� �� � ��������
�"����� �� � �	������ 
����
����� ��+ � $

� �� �-� ������+�� ���+�� /��+����-�
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0
�
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�
 �� ��� ��
 ������
�
 �� &�%���%� ������� ����������
 

�
 ��� ����
)
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� ���
� ��
 	

��
����
 ��-���  �� �� ��8�
�
� +�
� � �5�	� $ � $� $�! $ 4��
 �� )
�� ���
� �
+�� ���
� ��� , ��
 �����"��


q
��

p


�� 	
�
������
 ���� �������
 $ 9�� 	
�
������ , ���

����
)
�� ���
� ��
 	

��
����
 ���
 	� )
�� ���
� � 
8��  ��
 �� ��" ���� ���
 �� 
��
 
�
��
 	

��
����


q
��

p
 ������ 	��� � ����%��
 $ 5
�� �� ����
)
�����
� �
����  �� ��

��8�
�
� +�
��
Qi = Qi(q,p, t), i = 1, . . . , l

�� $* ��!
Pi = Pi(q,p, t), i = 1, . . . , l.

�� $* �" !
5
�
 ��� ����� ����
)
�����
� , � �+�� ���
����

H(q,p, t)
�������

H̃(Q,P, t)
$ *� %������ ,

�
�
 � ��� ��� 	+��%����� �� 	

��
����
 �� )
�� � ��
 ������
�
 	��
�����
 �
� � 
���
-�� $ �� �
� �
�	 ������

��� � �������� ��� 	��

�  ����	���'�� �� �����
 ����
)
�� ���
�
 , ��
$'��&/ 0'� �$�0�& ���0��� !& $
� �������� 0 �� 00�$ H̃(Q,P, t)

" :	 �� �"$0��!� 1��& "!& �0 -!" "!& -�'��3"!&, �"0'& "! �	 ���2 !� !�$ 1! -�'��3"!& <� 5�>? !&$  �! #$%"C� !$+ %#&!"  %"!"&��' &� "� &$' �$ '! 1!& �� ��$�0�& ���0��� !& !&$ B '�&!'-�! �

Q̇i =
∂H̃

∂Pi
, i = 1, . . . , l

�� $*�!

Ṗi = − ∂H̃

∂Qi
, i = 1, . . . , l.

�� $*� !
( ��
� ,  �� 
����
 ���
��
�
 
�  

��� .
�! 9����
� ��
�	�� ��
 	���'��
 �� 	��
��	��� , 	 ��
�������� ��	���� 
� ��� ����
)
�� ���
�

�
���� �
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)
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0 �� �� �	 �� !�
����
� !��
  ������� ��! ��������! ���������!
5
��

Y = (q1, . . . , ql, p1, . . . , pl) ∈
�2l , 

 �� �� �����	�  �� "�
 	


J =

(
0 �l

−�l 0

)
,

�� $*� !


�
�l

�
� �� � ����	� ����� �� �����
�
�
l
, ��
�
 
�  ��� �	���� ��
 ������
�
 	��
�����
 �� $�!

�
 �� )
�� �

Ẏ = J · gradH(Y, t).
�� $*�!

�� ����-� )�	���� ��� ��� �� � ����	�
J
��� 
� ��-��� �
� 
��+
%
���� � , �� ���

Jt = J−1 = −J
,

detJ = +1
$

� �������� 0 �� �� 1�. ��$ "! 8$!��' 1'C + %#$& 'C $3') )'C C�+� )' #&��'C 1! 1�� !��&�0� 2l B �'�
Sp(2l,

�
) =

{
M = {Mij}2l

i,j=1|Mt · J · M = J
}
.

�� $*)!

��� � � 0 �2 00�$ "� $'��&/ 0'� �$�0�
Z = φ(Y, t) 1�. ��! B �' "! 1�7 �0� 0'B 	 �&� ! φ =

(φ1, . . . , φ2l), �"0'& "� $'��&/ 0'� �$�0� !&$ ���0��� ! &� !$ &! "!� !�$ &� "� � �$'��! 
 ��03�!��!1 1�7 �0� 0'B 	 �&� ! !&$ &#�B "!�$�� ! �

(Dφ) =

{
∂φi

∂Yj

}2l

i,j=1

∈ Sp(2l,
�

).
�� $*3!

��	� �
� ��  ��� ��� 	���'�� �� 	��
��	��� $
� 
���� E �����

�
 ��  ����� ���
 �� 	�
 � ���� ����
)
�� ���
� ���
����

Z = φ(Y)
$

&�  �����  ��� �����
��
 ��

� 	��� %�������
��  
�� ��� ����
)
�� ���
� ��� �� ���
�� ��	���� ��� �� ��� 
 $ �
��� �� ����
)
�����
� �� �� ���  �
 �� ��	���� ��� �� ��� 
 ,
��
�
 �	) $ *� $ �� $���!!

H̃(Z, t) = H(Y(Z), t),
�� $**!

���	�
A

�
� � ���	�� ������ �� �	� �
�	�

n×n

� �����
A

��� ���
���
��� �	
At ·A = �n

� ������ �
� �	�
�	

A
��� 	
����	��� �� �	

A−1 = At ��
Sp(2l, �)

��� �
 ����� � �� � 	�� � �� � �

��� � �� �



� �� � ��� �
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������ � ����� ����� ��
�� �� )��� �
����� ���

Ż = J · grad H̃(Z, t)
.

dZi

dt
=

2l∑

j=1

∂Zi

∂Yj

dYj

dt

(3.85)
=

2l∑

j=1

∂Zi

∂Yj

2l∑

µ=1

Jjµ
∂H(Y, t)

∂Yµ

(3.88)
=

2l∑

j=1

∂Zi

∂Yj

2l∑

µ=1

Jjµ
∂H̃(Z(Y), t)

∂Yµ

=
2l∑

j=1

∂Zi

∂Yj

2l∑

µ=1

Jjµ

2l∑

ν=1

∂H̃(Z, t)

∂Zν

∂Zν

∂Yµ

=

2l∑

ν=1

( 2l∑

j,µ=1

∂Zi

∂Yj
Jjµ

∂Zν

∂Yµ

)

︸ ︷︷ ︸
+ Kiν

∂H̃(Z, t)

∂Zν
.

�� $*$ !
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��
(Dφ)

�� � ����	� � �	
" ����� ��-���  �� � �*� $ �� $*3! , ��
�
 
� 	
�
���� ���

Kiν =

2l∑

j,µ=1

(Dφ)ijJjµ(Dφ)νµ =
{
(Dφ) · J · (Dφ)t

}
iν
.

�� $$+ !

�� $$+! ���
 �� $*$! �
���
dZ

dt
= K · ∇H̃(Z, t).

�� $$ �!
( ��
� , �� 
���	���� ��
 ������
�
 	��
�����
 �
����
  �� � �*� $ �� $$ �! �
� ��������� � �� $*�!

� �� 
����� ��� 
�

K = (Dφ) · J · (Dφ)t = J,
�� $$�!
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�
(Dφ)t ∈ Sp(2l,

�
)
, �� �
�	 
� �� 
����� ��� 
�

(Dφ) ∈
Sp(2l,

�
)
$

�
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 ��� ��
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�������
� 
(��
 ��	�����  ��� �� �� 	
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 	+��
 �� 9
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� )
����� ��� �"2 �3'! 1! � �! �	) $
������ ( $3! $

0 �� �� �� ����� ���
��� � � 0 �� 00�$ "� $'��&/ 0'� �$�0�

Z = φ(Y, t), Y = (q1, . . . , ql, p1, . . . , pl), �"0'& "�
$'��&/ 0'� �$�0� !&$ ���0��� ! &� !$ &! "!� !�$ &� "! 
 ��03�!� �̃ !&$ �2 �" � " : ��$� �

�̃
= |det(Dφ)| = 1.

�� $$� !
��	� �
� �� 
�	
�� 	���'�� �� 	��
��	��� $

� 
���� E 
�  


�

(Dφ)


(� ��	����� , �
�	
φ

��-��� ��� ����
)
�����
� 	��
����� $
4��
 	� 	�


det
[
(Dφ)t · J · (Dφ)

]
= det(J) = 1,

�� $$� !



�) ���� � �
� � � �� ��
������� �������� ���
�� �����
���

detAt = detA
���
� ���

det (A · B) = det (B ·A)
 
�� �
���
 �����	�
 	�����


A
��

B
, 
� 
"�����
det
[
(Dφ)t · J · (Dφ)

]
= det

[
(Dφ)t

]
det(J)︸ ︷︷ ︸

=1

det(Dφ) = (det(Dφ))2.
�� $$�!

*%����� ��
 *�
 $ �� $$� ! �� �� $$�! 
� 
"�����
det(Dφ) = ±1

, � �
� �̃
= 1

$
6�	� �
���� ��� , 
�  


�
 ��� �̃

= 1
$ ( �
�
  �� �� �+�
�'� � �� &�
������ �� ����
)
��

� ���
�  ��
���� �� �
��� � �� � ��
 �	� ��
  +�
�
 �� �
�	  


'�� ��
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  �
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�� � ��
 �	� ��
  +�
�
 ��� �� ����
)
�����
� ��%������  �� �� .
� $ &� .
�
����� ��� ����
)
�� ���
� 
(� ��	����� �	) $ ���� �� �� , 5�	� $ � $� $� $�! , ��
�


φ
�
� 	��
�

����� $
�

0 �� �� �0 � ���
�����  � ���� �
�
��� �
�
 �� �
���
�
 ���
 � ������� ( $) , �� �
�  


�" �� �� )
������ ��  ���	� � ��

%�� ���
� 
�� � ��
 �	� ��
  +�
�
 {q,p} $ ��  ���� ��
�
 �� B '����B ! 1! � �� �"$0� � 01�. � .

δS[q] = δ

∫ t2

t1

dt L(q, q̇, t) = δS[q,p] = δ

∫ t2

t1

dt

(
l∑

i=1

piq̇i −H(q,p, t)

)
= 0,

�� $$)!
��
 �	���
 ����-���

ηqi
(t1) = ηqi

(t2) = 0 ∀i = 1, . . . , l
$ 5�  


�
 ��
�� ��� ����
)
�� ���
�

	��
�����
(q,p) 7→ (Q,P)

$ ( �
�
 	
���  �� ��-����
� �� 
���	���� ��
 ������
�
 	��
�
�����
 �� 	+��%�  �
 , ��  ���	� � �� %�� ���
� �
��-� ���
 ��
 �
������
 �����"��
 �
��
%����� �� � 	�� )
�� � .

δS̃[Q] = δ

∫ t2

t1

dt L(Q, Q̇, t) = δS̃[Q,P] = δ

∫ t2

t1

dt

(
l∑

i=1

PiQ̇i − H̃(Q,P, t)

)
= 0,

�� $$3!��
 �	���
 ����-���
ηQi

(t1) = ηQi
(t2) = 0 ∀i = 1, . . . , l

$ �� �
���� ��� 
� ��
 *�
 $ �� $$)!�� �� $$3! 

�� 
���
)����
 
��������� ��� ��
�


S[q,p] = S̃[Q,P] +

∫ t2

t1

dt
d

dt
S1(q,Q, t),

�� $$*!

�

S1(q,Q, t)
�
� ��� )
�	��
� ������"�� ��"������� � ������
 ������
 �
� �  ����

S1(q,Q, t)�� / 0��$�0� 2 ���'�$'��! 1! B '!� ��'! !&B ��!, 	) $ 5�	� $ � $� $�! $ *� �8�� , ���
 	� 	�
 
� �
δS[q,p] = δS[Q,P] + δS1(q(t2),Q(t2), t2) − δS1(q(t1),Q(t1), t1),

�� $$$!
���	

δS1(q(tk),Q(tk), tk) =
d

dλ
S1

(
q(tk) + ληq(tk)

︸ ︷︷ ︸
= 0

,Q(tk) + ληQ(tk)
︸ ︷︷ ︸

=0

, tk
)∣∣∣∣

λ=0

�� $�++!

=
d

dλ
S1(q(tk),Q(tk), tk)

�� $�+ �!
= 0, k = 1, 2.

�� $�+�!
*� �8�� , ��
 �	���


ηq(tk)
��

ηQ(tk)
� �� 

����
�

q
��

Q


�� ���
 ��� ��� 


tk
,
k = 1, 2

$
�� $�+�! ���
 �� $$$!  ��� �� �
�	 � ��2 �� �� ��� ��
 �	��
�
 �� $$) ! �� �� $$3! 

�� 
�������
��� ��� ������ ���
��
 
� ����
 

�� ������
  �� �� $$*! $ �� � �
�	 ���	 � �����%���� �� �� $$* ! .

l∑

i=1

piq̇i −H(q,p, t) =

l∑

i=1

PiQ̇i − H̃(Q,P, t) +
d

dt
S1(q,Q, t).

�� $�+�!



� �� � ��� �
�����
������ � ����� ����� �3
6������%���� ��
 �����
 �� ����� �����  ��

dt
.

l∑

i=1

(pidqi − PidQi) =
[
H(q,p, t) − H̃(Q,P, t)

]
dt+ dS1(q,Q, t)

=

[
H(q,p, t) − H̃(Q,P, t) +

∂S1(q,Q, t)

∂t

]
dt

+

l∑

i=1

(
∂S1(q,Q, t)

∂qi
dqi +

∂S1(q,Q, t)

∂Qi
dQi

)
.

�� $�+� !
4 ������  ��� , � �*� $ �� $�+�!  ��� ��

� 
 ��	���� 

�
 �� )
�� �

d

dt
S1(q,Q, t) =

l∑

i=1

(
piq̇i − PiQ̇i

)
+
[
H̃(Q,P, t) −H(q,p, t)

]
,

�� $�+�!
�� �� ������� �
���� ��

S1
 �� ��  
�� �� ��� 
 �
��� .

d

dt
S1(q,Q, t) =

l∑

i=1

(
∂S1(q,Q, t)

∂qi
q̇i +

∂S1(q,Q, t)

∂Qi
Q̇i

)
+
∂S1(q,Q, t)

∂t
.

�� $�+) !
& �������-	���
� ��
 *�
 $ �� $�+�! �� �� $�+) ! � '�� ��  ����	����� � �� ������
�

∂S1(q,Q, t)

∂t
= H̃(Q,P, t) −H(Q,P, t),

�� $�+3!
��� � �
� ��
'�� ���
 �� $�+� !  
�� 
"�����

l∑

i=1

(pidqi − PidQi) =
l∑

i=1

(
∂S1(q,Q, t)

∂qi
dqi +

∂S1(q,Q, t)

∂Qi
dQi

)
.

�� $�+* !
�
��� �� ���
 � ������� ( $� , �� 	
�����
� ��	�

���� �� 
�2 
����  
�� ��� �� � ��"��
�� ��
��� �� �� $�+*! 

�� ��� ��8���������� �
���� �
� "��� 
���
)���� $ *� �8�� ,  ������
y = (y1, . . . , y2l) = (q1, . . . , ql, Q1, . . . , Ql)

, ��
�
 �� $�+* ! �������
l∑

i=1

(pidqi − PidQi) =

2l∑

i=1

Aidyi,
�� $�+$ !


�
Ai =

∂S1(y, t)

∂yi
.

�� $��+ !
( ��
� �� 	
�����
�  
�� ��
�� ��� ��8���������� �
����

∂Ai

∂yj
=
∂Aj

∂yi
, ∀ i, j = 1, . . . , 2l,

�� $���!

 ��	���

∂2S1(y, t)

∂yj∂yi
=
∂2S1(y, t)

∂yi∂yj
, ∀ i, j = 1, . . . , 2l,

�� $���!
	� ��� �
� " ��� �� 	�
  
��

S1
�� 	��

� C2

$ &� � ��"�� �� ��
��� �� � �*� $ �� $�+* ! �����
�
�	 ��� ��8���������� �
���� , 	�	� 
�%��-� ���

l∑

i=1

(pidqi − PidQi) = dψ(q,Q)
�� $��� !

 
�� ��� )
�	��
�
ψ
$ ��	� � '�� �� 	���'�� �� 	��
��	��� 
� ����� $



�* ���� � �
� � � �� ��
������� �������� ���
��� � � 0 �# 6�! �0�1�$�0� ���!&&��'! !$ & � &��$! B 0 ' � ! "� $'��&/ 0'� �$�0� (q,p) 7→
(Q,P)

&0�$ ���0��� ! !&$ � !
l∑

i=1

(pidqi − PidQi)
�� $��� !

&0�$  �! 1�7 �'!�$�!" "! !; ��$! 5
��	� �
� �� ��
�
�'�� 	���'�� �� 	��
��	��� $

0 �� �� �� �
� �1��! �� ��"
��"�
��� � � 0 �	� 0 0�$ ri ∈ {q1, . . . , ql, p1, . . . , pl} , &0�$ "� $'��&/ 0'� �$�0� (q,p) 7→ (Q,P),&0�!�$ "!& �'0�	 !$& 1! ��2'��2 ! 1�. ��& B �'

[ri, rj ]L =

l∑

k=1

(
∂Qk

∂ri

∂Pk

∂rj
− ∂Qk

∂rj

∂Pk

∂ri

)
,

�� $���!

�"0'& "� $'��&/ 0'� �$�0� !&$ ���0��� ! &� !$ &! "!� !�$ &�
[qi, qj ]L = [pi, pj]L = 0,

�� $��)!
[qi, pj ]L = δij .

�� $��3!

��	� �
� �� ������'� � 	���'�� �� 	��
��	��� $
� 
���� E �����

�
 ��  ����� ���
 �� 	�
 � ���� ����
)
�� ���
� ���
����

Qi = Qi(q,p)
,

Pi = Pi(q,p)
$ &�  �����  ��� �����
��
 	��� %�������
�� �� 	�
 � ���� ����
)
�� ���
�

��� �� ��� �� ��	���� ��� �� ��� 
 $ &� ����� � $$ �2 ��� ��� �� ����
)
�����
�
(q,p) 7→

(Q,P)
�
� 	��
����� 
�

l∑

i=1

(pidqi − PidQi)
�� $��*!

�
� ��� ��8���������� ���	�� $ �� ��  ���� ���
� �	) $ ������ ( $�! ��� � ��� ��

�
�

dg =

l∑

i=1

Ai(x1, . . . , xn)dxi,
�� $��$!

�
� ��� ��8���������� �
���� 
�
∂Ai

∂xj
=
∂Aj

∂xi
, ∀ i, j = 1, . . . , l.

�� $��+!

�
���
Qi = Qi(q,p)

, ��
�


dQi =
l∑

j=1

∂Qi

∂qj
dqj +

l∑

j=1

∂Qi

∂pj
dpj.

�� $���!



� �� � ��� �
�����
������ � ����� ����� �$
( ��
� .

l∑

i=1

pidqi −
l∑

i=1

PidQi
(3.121)

=

l∑

i=1

pidqi −
l∑

i=1

Pi

( l∑

j=1

∂Qi

∂qj
dqj +

l∑

j=1

∂Qi

∂pj
dpj

)

=

l∑

i=1

(
pi −

l∑

j=1

Pj
∂Qj

∂qi

)

︸ ︷︷ ︸
+ Ai

dqi −
l∑

i=1

l∑

j=1

Pj
∂Qj

∂pi

︸ ︷︷ ︸
+−Bi

dpi

=

l∑

i=1

(Aidqi +Bidpi) .
�� $���!

&�
 	
�����
�
 � ����-��  
�� ��� � �
� ��� ��� )
�� � ��8���������� ���	�� ��
�	 ��� ����
�
)
�� ���
� 	��
�����! 

��

∂Aj

∂qi
=
∂Ai

∂qj
, i, j = 1, . . . , l,

�� $��� !
∂Bj

∂pi
=
∂Bi

∂pj
, i, j = 1, . . . , l,

�� $��� !
∂Bj

∂qi
=
∂Ai

∂pj
, i, j = 1, . . . , l.

�� $���!
*� �� 
����� ��
 ��-����
�
 ��

Ai
��
Bi

���
 ��
 *�
 $ �� $���! � �� $���! , ��
 	
�����
�


 ��	������ .

−
l∑

k=1

∂Pk

∂qi

∂Qk

∂qj
−

l∑

k=1

Pk
∂2Qk

∂qj∂qi
= −

l∑

k=1

∂Pk

∂qj

∂Qk

∂qi
−

l∑

k=1

Pk
∂2Qk

∂qi∂qj
,

�� $��) !

−
l∑

k=1

∂Pk

∂pi

∂Qk

∂pj
−

l∑

k=1

Pk
∂2Qk

∂pj∂pi
= −

l∑

k=1

∂Pk

∂pj

∂Qk

∂pi
−

l∑

k=1

Pk
∂2Qk

∂pi∂pj
,

�� $��3!

−
l∑

k=1

∂Pk

∂qi

∂Qk

∂pj
−

l∑

k=1

Pk
∂2Qk

∂qi∂pj
= δij −

l∑

k=1

∂Pk

∂pi

∂Qk

∂qj
−

l∑

k=1

Pk
∂2Qk

∂qj∂pi
,

�� $��* !
�� $��$ !

	� ��� �
��� � �'
 
�� ��-	���
�


0 = −
l∑

k=1

∂Pk

∂qi

∂Qk

∂qj
+

l∑

k=1

∂Pk

∂qj

∂Qk

∂qi
= [qj , qi]L

�� $��+ !

0 = −
l∑

k=1

∂Pk

∂pi

∂Qk

∂pj
+

l∑

k=1

∂Pk

∂pj

∂Qk

∂pi
= [pj , pi]L

�� $�� �!

0 = −
l∑

k=1

∂Pk

∂qi

∂Qk

∂pj
+

l∑

k=1

∂Pk

∂pi

∂Qk

∂qj
− δij = [qi, pj]L − δij .

�� $���!
�� �� ���� �
�	 ��
 ������
�
 �� $��) ! �� �� $��3! 
� �� 
����� ��� 
� �� ����
)
�� ���
� �
�
	��
����� , 	� ��� �	+'�� ��  ����� ���
 �� 	�
 ���
���� $

�

0 �� �� �� D���
  �! �� �
��!��
� �����! ���������!
�! ��� ����
)
�� ���
� ��������

Y 7→ Z = M ·Y ��-���  �� ��� �����	� 	����� ������
M�� ��� ��
�
�

2l×2l
�
� 	��
����� 
� �� 
����� ��� 
�

M ∈ Sp(2l,
�

)
�
� | detM| = 1

! $



)+ ���� � �
� � � �� ��
������� �������� ���
*� �8�� ,

φ(Y) = M ·Y , ��

(Dφ)ij =
∂

∂Yj

l∑

k=1

MikYk =

l∑

k=1

Mikδkj = Mij .
�� $���!

��! &� ����
)
�� ���
�
Y 7→ Z = φ(Y)

��-���  �� �� .
�
φ

� ��� 
(
�'� � +�� ���
����
�
� 
(� ��	����� $ *� �8�� , �� )
�� � ��
 ������
�
 	��
�����
 ��
���� �� � 	��  
��
�
�� ��� 
 , 
� �� 	
�	��� ��� �� ����
)
�� ���
� �������  �� �� .
� +�� ���
���� �
�
	��
����� $ ��  ���� ��
�
 �� �� &$' �$ '! &#�B "!�$�� ! 1!& �� �$�0�& ���0��� !& $4 ��
 	� 	�
 
� �

Y = Y0
��� 

�� ��
 	
�����
�
 ��������
 , ��

Z = Y(t)
$

���! &� ����
)
�����
� ���
 �������� ��
 �� ��
 ��

q

��
p



�� �	+��%�
 ��� 
�%��  �'
!
�
� 	��
����� .

(
Q

P

)
= φ(q,p) =

(
0 ±�l

∓�l 0

)

︸ ︷︷ ︸
=±J

·
(
q

p

)
.

�� $��� !

*� �8�� , ±J ∈ Sp(2l,
�

)
	��
(±J)t · J · (±J) = Jt

︸︷︷︸
=−J

· J2
︸︷︷︸
=−�l

= J.
�� $���!

�� �
�� �
�	 � �
����� � ����
���	� � ���� 
(� ����� ����� ��
 �����"��

q

��
p

���
 ��
)
�� ���
� � +�� ���
���� $

�� ! ��� $'��&/ 0'� �$�0� 1! ��"�"�! �
� 	��
����� $ 5
��
R

��� � ����	� �� �
����
� ���

�

l
, 

��

v = (v1, . . . , vl) ∈
�

l
�� ��	���� ����	
���� ,

m ∈ � �� 
	������ , ��
�

(
Q

P

)
= φ(q,p) =

(
R · q + vt
R · p +mv

)
.

�� $��)!
�� 	
�
���� )�	���� ��� ���

(Dφ) =

(
R 0
0 R

)
.

�� $��3!
�� �
� ��
�
 )�	��� �� ����-�� �� 
(� ��	��	���

(Dφ)t · J · (Dφ) = J
�� �����
��� ��

 �
 ����� � �
��+
%
������
Rt ·R = �

��
 � ����	�
 �� �
����
� $ ��  ��� ��

� �����
��
� ��������� %�������

det

(
A B

B A

)
= det(A + B) det(A − B)

�� $��*!
 
�� ��
 � ����	�
 	�����


A
��

B
$ �
��� �� ������ ����� � ���� � ����	� �� �
����
�

�
� �%�� � ±1
, ��
�
 �� �  ������� �� $��*! � �� $��3! �� ����� ������������� �̃

= 1
$

� ! ��� $'��&/ 0'� �$�0� 1! 
 � 2 ! �
� 	��
����� $ 5
��
f(q, t)

��� )
�	��
� ��"������� ��
	��

� C2

, ��
�
 .
(
Q

P

)
= φ(q,p) =

(
q

p + ∇qf(q, t)

)
.

�� $��$!
&� � ����	� � �	
"����� �� ��8�
�
� +�
�� �
�

(Dφ) =

(
�l 0

B �l

)
,

�� $��+!

�

B = {bij}l
i,j=1

�
� ��� � ����	� 
(� ������� � ����� ���


bij =
∂Pi

∂qj
=

∂2f

∂qi∂qj
= bji.

�� $�� �!
( �
����� , �� �
� )�	��� �� ����-�� �� 
(� ��	��	���

(Dφ)t · J · (Dφ) = J
�����
��� ��

 �
 ����� �� 
(� �����
B = Bt $



� �� � ��� �
�����
������ � ����� ����� ) �
��! ��� ����
)
�� ���
� ���
���� �

�� � ��� 	+��%����� �� 	

��
����
 ��  

���
�

%�������
�� ��-��

��� �� ��8�
�
� +�
� � �
� 	��
����� $ 4��
 	� 	�
 
� �

Qi = Qi(q),
�� $���!

Q̇i =

l∑

j=1

∂Qi

∂qj
q̇j .

�� $��� !

9
�� ��
���� �� ������ � ���'�� 
� ����
)
�� ��� ��

pi
, �� )��� ����� �� �� )
�� ���
� �

��%���%��� $ 5
��
L(Q, Q̇, t) = L(q(Q), q̇(Q, Q̇), t),

�� $��� !
��
�
 
�	+��� ��� �� )
�� � ��
 ������
�
 �� &�%���%� �
� ���������� 

�
 �� ���
��8�
�
� +�
� � �	) $ 5�	� $ � $� $�! �� � ����

Pi

��� �
=

∂L(Q, Q̇, t)

∂Q̇i

=

l∑

j=1

= pj︷︸︸︷
∂L

∂q̇j

∂q̇j

∂Q̇i︸︷︷︸
(2.93)

=
∂qj
∂Qi

=

l∑

j=1

pj
∂qj
∂Qi

.
�� $���!

� � 	
���
Qi = Qi(q)

�
� �� ��8�
�
� +�
� � , 
�  ��� �����
�� �� ������
�  
��
��
����

qi = qi(Q)
$ �� �� ��� � ���
�

∂qj/∂Qi
�� )
�	��
� ��

q
���
 �� $���! $ &�

����
)
�� ���
� 
 ��	��� ��
�

(
Qi

Pi

)
= φi(q,p) =

(
Qi(Q)

p · ∂q

∂Qi
(Q)

)
.

�� $��) !

( �
����� , 
� ����-� ���
(Dφ)

�
� 
(� ��	����� $
���! 5
�� �� ����
)
�� ���
�

(
Q
P

)
=

(
arctg (q/p)

p2+q2

2

)
.

�� $��3!

( �
�

pdq − PdQ

(3.147)
= pdq − p2 + q2

2

pdq − qdp

p2 + q2
= d

(
1
2pq
)
.

�� $��* !
�� 
 ��%�� �
�	 � ���� ��8���������� �
���� , ��  �� 	
�
������ �� ����
)
�����
� �� $��3!�
� 	��
����� $ 4�  ��
 , �� � �* � $ �� $��3! 
� �

tgQ = q/p
, � �
�

p = q ctgQ
�� �
�	

� �����%����
� �� �� )
�� � ��8���������� �
���

ψ(q,Q)
(3.148)

= 1
2pq = 1

2q
2 ctgQ.

�� $��$ !

� �� �� ��� ���@����� �A�A�����@��
0
�
 ��
��
�
 ��
���� �� ��	���� ��� ��
 )
�	��
�
 ��� ��%������� ��
 ����
)
�� ���
�
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�����
 $ ��
 )
�	��
�
 

�� �  ����
 / 0��$�0�& 2 ���'�$'��!& $ 4�  ��
 , �
�
 ��
��
�

���"��� �� )
�� � �� �
���� +�� ���
� ���

H̃(Q,P, t)
�� ���� � �� 	�
 )
�	��
�
 %��������	�


�� ��
H

$



)� ���� � �
� � � �� ��
������� �������� ���
0 �� �0 �	 �������� "���
��
��� �� 

�� ��
� �!
 ���

6� ���
�
 �� ���

���� ��� �� �� 5�	� $ � $� $� $� � �
�� �� � �* � $ �� $�+)! $ & �������- 	���
� ��

*�
 $ �� $�+�! �� �� $�+) ! � '�� ��� ������
�


pi =
∂S1(q,Q, t)

∂qi
, i = 1, . . . , l,

�� $��+!

Pi = −∂S1(q,Q, t)

∂Qi
, i = 1, . . . , l,

�� $���!

H̃(Q,P, t) = H(q,p, t) +
∂S1(q,Q, t)

∂t
.

�� $���!

S1(q,Q, t)
�
� �  ���� / 0��$�0� 2 ���'�$'��! 1! B '!� ��'! !&B ��!$

������ �
� � ������ ������
� ��
 *�
 $ �� $��+ ! � �� $���! � *���� �
��� �� 	+��%�� ��� ��
�����"��


Q = Q(q,p, t)
,
P = P(q,p, t)

, ��
�
 	� 	+��%�� ��� �� �����"��
 
��� 	��
�����

 ��� �� �
�� ��� )
�	��
�

S1(q,Q, t)
����� ���

pi = ∂S1/∂qi
��
Pi = −∂S1/∂Qi

,
i = 1, . . . , l

$
5�
S1

���
�� , ��
�
 �� �
���� +�� ���
���� �
� �
���  ��
H̃ = H+∂S1/∂t

$ ( �� 
� �� 
���	����
��
 ������
�
 	��
�����
 ���
 ��
 �
������
 �����"��


Q
��

P
�
� 	
�
����� .

Q̇i =
∂H̃

∂Pi
, i = 1, . . . , l

Ṗi = − ∂H̃

∂Qi
, i = 1, . . . , l,

H̃(Q,P, t) = H(q,p, t) +
∂

∂t
S1(q,Q, t).

�� $���!

&�
 *�
 $ �� $���! )
�� ���������� ������� ��� ��
 �
������
 �����"��
 $ 9�� 	
�
������ , �� )���
�� ��� ��

q = q(Q,P, t)
��

p = p(Q,P, t)
$ 9
�� 	�	� , 
� 	
�
��'�� � ��"
�� �� ������
�

Pi = −∂S1(q,Q, t)

∂Qi

�� $��� !
��� � �
� �����
�  
�� 
"�����

q = q(Q,P, t)
,  ��
 
�"
����� ���


pi =
∂S1(q,Q, t)

∂qi

�� $���!
 
�� ��������

p = p(Q,P, t)
$ ��
 ������
�
 	
����
 , �� �
�  


�" �� � ��� ��� �� �� �
����

+�� ���
����
H̃

�� )
�	��
� ��
 �
������
 �����"��

Q

��
P
$ 4 ������  ��� ,  
�� 
"�����

� ��� ��

�
� �� �� ����
)
�� ���
� 	��
����� , �� �
� ��

� ��	�

���� � ������
��
(
q

p

)
=

(
q(Q,P, t)
p(Q,P, t)

)
,

�� $��)!
 
�� ��
���� �� )
��� �� ��	��� �� �� ����
)
�� ���
� 	��
�����

(
Q

P

)
=

(
Q(q,p, t)
P(q,p, t)

)
.

�� $��3!
9�� �� �+�
�'� � ��
 )
�	��
�
 �� ��	���
 , 	�	� �
�  


�"�� 
� �� ������ ����� �� �� � ����	�
+�

����� ��

S1
�
� �
� ��� .

det

{
∂2S1(q,Q, t)

∂qi∂Qj

}
6= 0.

�� $��*!
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�����
������ � ����� ����� )�
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 ���

9
��  
��
�� %������ ��� ����
)
�� ���
� 	��
����� , �� )
�	��
� %��������	� �
�� ���
 ����� ��
 ��	�����
 �����" ��
 ���
� ��� ��
 �
������
 �����"��
 $ 5
�
 	���� 	
�����
� , ��
�
�"�� �
��� �� �����"��
 �
�

4l+ 1
�	� 

��

q
,
p
,
Q

,
P
, ��

t
! $ � � ��� ����
)
�����
� �
�

��-���  �� �� �
��� ��

2l

������
�

Q = Q(q,p, t)

,
P = P(q,p, t)

$ �� ��
�� �
�	
2l + 1�����"��
 ���� �������
 �
�� �� )
�	��
� %��������	�  ��� �� ����� , �
�	 � ������
 	+
��

���
(q,Q)

$ ��  ��� �
�	 	
�
������ � ������
 )
�	��
�
 %��������	�
 , 	
���  �� ���� ��
S2(q,P, t)

$ � ��
 	
��� �� � �*� $ �� $��� ! 
� �
Pi = −∂S1/∂Qi

, ��
�

S2(q,P, t)

�
� ������
�
S1(q,Q, t)

 �� ��� ����
)
�� ���
� �� &�%����� �	) $ ������ ( $�! $ ( �� 
� , �� 	
�
���	��
�
��
 �����
 )
�	��
�
 
� )��� � � ����� �� �� ����
)
���� �� &�%����� $
� �������� 0 �2 00�$ S1(q,Q, t)

"� / 0��$�0� 2 ���'�$'��! 1! B '!� ��'! !&B ��!, �"0'& 0� 1��. ��$ "� � !" #&!" 8 3"3$%#$& ' 1' C' !"1' 'C�� ' B �' "� $'��&/ 0'� �! 1! �!2 !�1'! 1!
S1(q,Q, t)

B �' '�BB 0'$ �
Q

�

S2(q,P, t) =
(
L S1

)
(q,P, t) = −

l∑

i=1

Qi(q,P, t)
∂S1

∂Qi
(q,Q(q,P, t), t)

︸ ︷︷ ︸
(3.151)

= −Pi

+S1(q,Q(q,P, t), t)

=

l∑

i=1

Qi(q,P, t)Pi + S1(q,Q(q,P, t), t).
�� $��$!

� ��& "! � !� 3'! 1! 1'0�$! 1! " :� � 5 <� 5>��? , Q(q,P, t)
&�2��. ! Q(q,p(Q,P, t), t) 5 � ! B " &,B 0 ' � ! S2(q,P, t)

1�. ��&&!  �! $'��&/ 0'� �$�0� ���0��� !, �" / � $ � ! "! 1�$!'� ����$ 1!"� 	 !&&�!��! 1! S2
&0�$ �0� � " �

det

{
∂2S2(q,P, t)

∂qi∂Pj

}
6= 0.

�� $�)+ !
��� � � 0 �		 0 0�$ S2(q,P, t)

 �! / 0��$�0� 2 ���'�$'��! 1! &!�0�1! !&B ��!, �"0'&

Qi =
∂S2(q,P, t)

∂Pi
, i = 1, . . . , l,

�� $�) �!

pi =
∂S2(q,P, t)

∂qi
, i = 1, . . . , l,

�� $�)�!

H̃(Q,P, t) = H(q,p, t) +
∂S2(q,P, t)

∂t
.

�� $�)� !

� 
���� E  �� ����-	���
� ����	�� , 
� � .
∂S2(q,P, t)

∂Pi

(3.159)
=

l∑

j=1

Pj
∂Qj

∂Pi
+

l∑

j=1

Qj
∂Pj

∂Pi︸︷︷︸
= δij

+

l∑

j=1

∂S1

∂Qj︸︷︷︸
(3.153)

= −Pj

∂Qj

∂Pi
= Qi,

�� $�)� !

∂S2(q,P, t)

∂qi

(3.159)
=

l∑

j=1

Pj
∂Qj

∂qi
+

l∑

j=1

Qj
∂Pj

∂qi︸︷︷︸
=0

+

l∑

j=1

∂S1

∂Qj︸︷︷︸
(3.153)

= −Pj

∂Qj

∂qi
+
∂S1

∂qi︸︷︷︸
(3.153)

= pi

= pi,
�� $�)�!

∂S2(q,P, t)

∂t

(3.159)
=

l∑

j=1

Pj
∂Qj

∂t
+

l∑

j=1

∂S1

∂Qj︸︷︷︸
(3.153)

= −Pj

∂Qj

∂t
+

∂S1

∂t︸︷︷︸
(3.153)

= �H−H

= H̃ −H.
�� $�)) !



)� ���� � �
� � � �� ��
������� �������� ���

�

( �
����� , �  ����� �� � �*� $ �� $�) �! 
� �� ��� �
q = q(Q,P, t)

, ��� � �
� ��
'�� ���

� �*� $ �� $�)�!  
�� 
"�����

p = p(Q,P, t)
$ ��	�  ��� �� � ��� ����� �� �
���� +�� ���
����

H̃(Q,P, t)
�� )
�	��
� ��
 �
������
 �����"��
 $ 5
�
 �� 	
�����
� �� $�)+ ! , �� ������
� �
� ���

���
�" �� 	� ���  ��� �� � ����"��� �� ��	���� ��� � ��� ��

�
� �� �� ����
)
�����
� 	��
�����
Q = Q(q,p, t)

,
P = P(q,p, t)

$

0 �� �0 �0 �������� "���
��
��� �� �
��!��� � �!
 ���
� �������� 0 �� 00�$ S1(q,Q, t)

"� / 0��$�0� 2 ���'�$'��! 1! B '!� ��'! !&B ��!, �"0'& 0� 1��. ��$ "� � !" #&!" 8 3"3$%#$& ' 1' #$!&C&�+' 'C�� ' B �' "� $'��&/ 0'� �! 1! �!2 !�1'! 1!
S1(q,Q, t)

B �' '�BB 0'$ �
q

�

S3(p,Q, t) =
(
L S1

)
(p,Q, t) = −

l∑

i=1

qi(p,Q, t)
∂S1

∂qi
(q(p,Q, t),Q, t)

︸ ︷︷ ︸
(3.150)

= pi

+S1(q(p,Q, t),Q, t)

= −
l∑

i=1

qi(p,Q, t)pi + S1(q(p,Q, t),Q, t).
�� $�)3!

� ��& "! � !� 3'! 1! 1'0�$! 1! " :� � 5 <� 5>��? , q(p,Q, t)
&�2� �. ! q(P(q,p, t),Q, t) 5 � ! B " &,B 0 ' � ! S3(p,Q, t)

1�. ��&&!  �! $'��&/ 0'� �$�0� ���0��� !, �" / � $ � ! "! 1�$!'� ����$ 1!"� 	 !&&�!��! 1! S3
&0�$ �0� � " �

det

{
∂2S3(p,Q, t)

∂pi∂Qj

}
6= 0.

�� $�)*!

��� � � 0 �	� 0 0�$ S3(q,P, t)
 �! / 0��$�0� 2 ���'�$'��! 1! $'0�&��� ! !&B ��!, �"0'&

qi = −∂S3(p,Q, t)

∂pi
, i = 1, . . . , l,

�� $�)$!

Pi = −∂S3(p,Q, t)

∂Qi
, i = 1, . . . , l,

�� $�3+!

H̃(Q,P, t) = H(q,p, t) +
∂S3(p,Q, t)

∂t
.

�� $�3�!
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� �� �
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�� ������ � 	���� �� �� )
�	��
� %��������	� �� 
�	
���
�
 '	� $

�

0 �� �0 �� �������� "���
��
��� �� ����
��� � �!
 ���
� �������� 0 �# 00�$ S2(q,P, t)
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� �� � ��� �
�����
������ � ����� ����� )�

S2(q,P, t)
B �' '�BB 0'$ �

q
�

S4(p,P, t) =
(
L S2

)
(p,P, t) = −

l∑

i=1

qi(p,P, t)
∂S2

∂qi
(q(p,P, t),P, t)

︸ ︷︷ ︸
(3.162)

= pi

+S2(q(p,P, t),P, t)

= −
l∑

i=1

qi(p,P, t)pi + S2(q(p,P, t),P, t).
�� $�3�!

� ��& "! � !� 3'! 1! 1'0�$! 1! " :� � 5 <� 5>��? , q(p,P, t)
&�2� �. !

q(Q(q,p, t),P, t) 5 � ! B " &,B 0 ' � ! S4(p,P, t)
1�. ��&&!  �! $'��&/ 0'� �$�0� ���0��� !, �" / � $ � ! "! 1�$!'� ����$ 1!"� 	 !&&�!��! 1! S4

&0�$ �0� � " �

det

{
∂2S4(p,P, t)

∂pi∂Pj

}
6= 0.

�� $�3� !

��� � � 0 �	0 0 0�$ S4(p,P, t)
 �! / 0��$�0� 2 ���'�$'��! 1! � �$'���! !&B ��!, �"0'&

Qi =
∂S4(p,P, t)

∂Pi
, i = 1, . . . , l,

�� $�3� !

qi = −∂S4(p,P, t)

∂pi
, i = 1, . . . , l,

�� $�3�!

H̃(Q,P, t) = H(q,p, t) +
∂S4(p,P, t)

∂t
.

�� $�3) !
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���� E ��  ����� �
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�� ������ � 	���� �� �� )
�	��
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���
�
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�

0 �� �0 �� � ���
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&� ��"���� 
������ ��	� ����� ��
 ������
�
 
���
)����
  �� ��
 ��8������
 )
�	��
�
 %��

�������	�
 $

qi pi Qi Pi

S1(q,Q, t)
∂S1

∂qi
− ∂S1

∂Qi

S2(q,P, t)
∂S2

∂qi

∂S2

∂Pi

S3(p,Q, t) −∂S3

∂pi
− ∂S3

∂Qi

S4(p,P, t) −∂S4

∂pi

∂S4

∂Pi

0 �� �0 �� D���
  �!
�! 5
��

S1(q,Q) =
l∑

k=1

qkQk,
�� $�33!

����-���
∂2S1(q,Q)

∂qi∂Qj
= δij .

�� $�3* !



)) ���� � �
� � � �� ��
������� �������� ���

S1
��� 
� ��-�� �
� �
�	 "��� ��� )
�	��
� %��������	� ��  ��� �'�� �
 '	� $

Pi = − ∂S1

∂Qi
= −

l∑

j=1

qk
∂Qj

∂Qi
= −qi,

�� $�3$!

pi =
∂S1

∂qi
=

l∑

j=1

∂qj
∂qi

Qj = Qi.
�� $�*+!

&� ����
)
�����
� 	��
����� �

�� ��
S1


 ��	��� �
�	 .
(
q

p

)
7→
(
Q(p)
P(q)

)
=

(
p

−q

)
.

�� $�* �!
�� 
 ��%�� �� � ��	+��%� ��
 �� ��
 ��

q
��

p
$ &� �
���� +�� ���
���� �
� �
���  ��

H̃(Q,P, t) = H(q(Q,P),p(Q,P), t).
�� $�*�!

9�� ��-����
� �� �� ����
)
�� ���
� 	��
����� , �� )
�� � ��
 ������
�
 �� %�� ���
�
��
�� ���������� ���
 ��
 �
������
 �����"��
 $ 6�� ����
�
 ��� 	���� � 	�� ����
)
��
� ���
�  ��� 	��� ��

� ��%������  �� �� )
�	��
� %��������	� �� ������'� � �
 '	�

S4(p,P) =

l∑

j=1

pkPk.
�� $�*�!

��! 5
��

S2(q,P) =
l∑

j=1

qkPk.
�� $�*� !

&� ����
)
�����
� 	��
����� �

�� �� 	���� ��-����
� ��
S2

�
�

pi =
∂S2

∂qi
= Pi

�� $�*�!

Qi =
∂S2

∂Pi
= qi.

�� $�*)!
�� 
 ��%�� �
�	 �� �� ����
)
�� ���
� �������� $ 0
�
�
 �� ����� �
� ��

� ��%������  ��
�� )
�	��
� %��������	� �� ��
�
�'� � �
 '	�

S3(p,Q) = −
l∑

j=1

pkQk.
�� $�*3!

���! 5
�� � �+�� ���
���� �� � �

	�������� +���
����� � ��� �����
�
�

H(q, p) =
p2

2m
+
mω2

2
q2,

�� $�**!

�

m
�
� �� � �

� ��

ω
��  � �
���
� $ ( � ����� � ���� ����
)
�� ���
� 	��
����� � ����

	���
� �� �
�  


�"�� � �
"����� ��� �
������ �����"�� ��� 

�� 	(	����� ���
 �� �
����
+�� ���
����

H̃
$ ��	�  �������� �� ��

���� ����'������ ��  �
"�'� � $ 5
�� �� )
�	��
�

%��������	� ��  ��� �'�� �
 '	�

S1(q,Q) =
mω

2
q2 ctg(Q), (q,Q) ∈ D =

{�2\(0, 0)
}
.

�� $�*$!



� �� � ��� �
�����
������ � ����� ����� )3
&� 	
�����
�

∂2S1

∂q∂Q
= − mωq

sin2Q
6= 0

�� $�$+ !
�
� " ��� ����-�� ���
 D $ 9�� ��-����
� .

P = −∂S1

∂Q
=
mω

2

q2

sin2Q
,

�� $�$ �!

p =
∂S1

∂q
= mωq ctgQ,

�� $�$�!
	� ��� )
�����

q =

√
2P

mω
sinQ,

�� $�$� !
p =

√
2mωP cosQ.

�� $�$� !
&� �
���� +�� ���
���� �
� .

H̃(Q,P ) = H(q(Q,P ), p(Q,P )) = ωP.
�� $�$�!

�� �� ������ ���
Q

�
� ��� �����"�� 	(	�����  
��
H̃

, �
�	 

� �
���� 	
���%��
�
� ��� 	
�
����� �� �
���� ��� $ &� ����
)
�� ���
� ����� 	��
����� , �� 
���	����
��
 ������
�
 	��
�����
 ���
 ��
 �
������
 �����"��
 �
�  ��
����� .

Q̇ =
∂H̃

∂P
= ω,

�� $�$) !

Ṗ = −∂H̃
∂Q

= 0.
�� $�$3!

&� 

����
� ��
 ������
�
 	��
�����
 �
� ��
�

Q(t) = ωt+ ϕ,

�� $�$* !
P = P0 = cte|t,

�� $�$$ !
��� � �
� �� ��� � ���
 ��
 ��	�����
 �����" ��
 � � ����� ��
 *�
 $ �� $�$� ! �� �� $�$� ! .

q(t) =

√
2P0

mω
sin(ωt+ ϕ),

�� $�++ !
p(t) =

√
2mωP0 cos(ωt+ ϕ).

�� $�+ �!
�� � �
�	 ���  
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� %��	� � ��� ����
)
�� ���
� 	��
����� � ����
	���
� $
������ �
� � ������ ������
� ��

P0 � �
���
∂H/∂t = 0

�� ��� � �����%�� 	�������� �
�
��� )
�� � ����������� +
�
%'�� ��

p
, ��
�


H = E
�
� � �����%�� �
���� �� 
(
�'� � $

*� 
�"
������� ��
 *�
 $ �� $�++! �� �� $�+ �! ���
 �� $�**! �� � ���� .
E = ωP0,

�� $�+�!
� �
�

P0 = E/ω
��� � ��
 ��� ��
�
�
 � ���� �	��
� $ �� 	
�
���� ��� �� �(��� ����

���
 ��
 �����" ��

Q

��
P

� ���� 
�� �� 	��	�� �� ��(
�
P0

, ���	 )������	� �� �
����
�
ω/2π

$ �� ��� ��
�
 ���
Q

�
� �� -�'��3"! ��2 "!, �����
 ���
P

�
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�� �� +�� ���
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 �� ��	��

��� ��� �� ��� 
 .
∂H(q,p)/∂t = 0

$ & �+�� ���
���� �
� ��
�
 ��� 	
�
����� �� �
�������
H = E

��� � � ��
�  �
 )
�	�� ��� � �����%�� �
���� �� 
(
�'� �! $ �+
�
�


�

α1 = E

�� ��
)
�� � �� 

����
�

S2(q, E, α2, . . . , αl, t) = W (q, E, α2, . . . , αl) − Et,
�� $���!

��
�
 � �������
� �� %�� ���
��3�	
"� �� $��) !  ���� �� )
�� �

H

(
q,
∂W (q, E, α2, . . . , αl)

∂q

)
= E,

�� $���!
�� ��
 *�
 $ �� $��� ! �� �� $� ��! ���������� .

β1 =
∂W (q, E, α2, . . . , αl)

∂E
− t,

�� $��� !

βi =
∂W (q, E, α2, . . . , αl)

∂αi
, i = 2, . . . , l,

�� $��� !

pi =
∂W (q, E, α2, . . . , αl)

∂qi
, i = 1, . . . , l.

�� $���!
�� $���! �
� �  ���� � ��� �$�0� 1! � �� �"$0�����03� '�1 �$!$
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����� ������ ��
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����

H(q, p) = E =
p2

2m
+
mω2

2
q2,

�� $��)!

�

m
�
� �� � �

� ��

ω
��  ��
���
� $ �� � �
�	 �� ��%�� �� ��"����

l = 1
$ & �������
� ��

%�� ���
��3�	
"� �� $� �) ! 
 ��	���

H

(
q,
∂S2(q, α, t)

∂q

)
+
∂S2(q, α, t)

∂t
= 0.

�� $��3!
�
�
����
�
 ��
�
 ��� 

����
� �� �� )
��� .

S2(q, α, t) = W (q, α) − αt.
�� $��*!

�
��� ��
	���  ��	�������� , �
�
  


�

α = E

$ ��
����� � �* � $ �� $��*! ���
 �� $��3! ��� ����
∂W (q, α)

∂q
= mω

√
2α

mω2
− q2,

�� $��$!
�
�� �� 

����
� �
�

W (q, α) = mω

∫ q

0

ds

√
2α

mω2
− s2, W (0, α) = 0.

�� $��+!
��
����� �� $��+! ���
 �� $��*! 
� �

S2(q, α, t) = mω

∫ q

0

ds

√
2α

mω2
− s2 − αt.

�� $�� �!
�� ����-� ���

∂2S2

∂q∂α
=

1

ω

1√
2α

mω2 − q2
6= 0,

�� $���!

�
�	
S2(q, α, t)

�
� ��� )
�	��
� %��������	� �� �� ����
)
�� ���
� 	��
�����
(
q
p

)
7→
(
Q
P

)
=

(
β
α

)
.

�� $���!
9�� ��-����
�

p
(3.215)

=
∂S2(q, α, t)

∂q

(3.225)
=

∂W (q, α)

∂q

(3.231)
= mω

√
2α

mω2
− q2,

�� $��� !

β
(3.214)

=
∂S2(q, α, t)

∂α

(3.223)
=

∂W (q, α)

∂α
− t

(3.231)
=

1

ω
arcsin

(√
mω2

2α
q

)
− t.

�� $���!

& ������
�
� �� �� $���! �
���

q(t) =

√
2α

mω2
sin (ω (t+ β)) .

�� $��)!
& ��� 
����
� �� �� $��) ! ���
 �� $��� ! �'�� �

p(t) =
√

2αm cos (ω (t+ β)) .
�� $��3!
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α
��
β

��� 	
�����
�
 ��������

q0

��
p0

$ �� �

q0
p0

(3.236)
(3.237)

=
1

mω
tg(ωβ),

�� $��* !
� �
�

β =
1

ω
arctg

(
mωq0
p0

)
.

�� $��$ !
0
�
 
��
�
  �� 	
�
���	��
� ���

α = E
$ - ���-
�
��� � � ����� ��
 *�
 $ �� $��)! �� �� $��3! .

q2
mω2

2α
+ p2 1

2αm
= 1,

�� $��+ !
� �
�

α =
p2
0

2m
+
mω2

2
q20

(3.226)
= E.

�� $�� �!
0
�
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�
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� ����'������ ��
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�
 �� $��)! �� �� $��3! ���
 �� $�� �! �
���

S(q, α, t) = mω

∫ q

0

ds

√
2α

mω2

√
1 − sin2

(
ω(s+ β)

)
− αt

=
√

2αm

∫ q

0

dq cos
(
ω(s+ β)

)
− αt.

�� $���!
� ����
���

dq =

√
2α

m
cos
(
ω(s+ β)

)
ds

�� $��� !
���
 �� $���! �� � ����

S(q, α, t) = 2α

∫ t

t0

ds

(
cos2

(
ω(s+ β)

)
− 1

2

)
.

�� $��� !
4 ������  ��� , �� ��%���%��� �
�

L(q, p, s) =
p2

2m
− mω2

2
q2

(3.236)
(3.237)

= α cos2
(
ω(s+ β)

)
− α sin2

(
ω(s+ β)

)

= 2α

(
cos2

(
ω(s+ β)

)
− 1

2

)
.

�� $���!
�
� ����� ��
 *�
 $ �� $��� ! �� �� $���! 
� �
�� ��� � ��������� �� $��+ ! �
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���
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� � ��  � 	��� 
"����� �� �� �'
 ��

����
� ��  �
"�'� � $

� �� �� �� @�� �A����� ��
&� ��

����
� �� � �������
� �� %�� ���
��3�	
"� �
� %�������� ��� ��2 	��� $ �� �� �
��

�����
��
 ��
 	�
 
� �� 
������
� 
� 
�� ��-�  �� �� )��� ��� ��  �
"�'� �  ��� 	��� ��	
� �� $
� �������� 0 �	� 6�! �00'10���! 2 ���'�"�&�! qi !&$ 1�$! C3�%$%9)' &� "� / 0��$�0� B '�����
B �"! 1! � �� �"$0� B ! $ & :��'�'! &0 & "� / 0'� !

S2(q,α, t) = S
(1)
2 (qi,α, t) + S

(2)
2 (q1, . . . , qi−1, qi+1, . . . , ql,α, t).

�� $��) !
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S2(q,α, t) =

l∑

i=1

S
(i)
2 (qi,α, t).

�� $��3!

� �� �
��� E ��
 	
�����
�
 �

����� � ��� �
���	� � ���  �
"�'� � 
� ���"�� 

�� �  ����
�0�1�$�0�& 1! &�B �'�3�"�$� 1! 0 $�!�� !" ���� $ 4 ��
 �� 	
������ �� 	� 	
��
 , �� 
�2 � �� ��� ���
���� �� 	�
  ����	����� 
��
� ������ 
� � �+�� ���
����  ��� 
 ��	���� 

�
 �� )
�� �

H (q,p, t) =

l∑

i=1

Hi(qi, pi, t),
�� $��*!

��
�
 ��  �
" �'�� �
� 
� ���"�� $ *� �8�� , ���
 	� 	�
 �� ����
���
��� � �*� $ �� $��*! ���
 ��)
�� � %������� �� � �*� $ �� %�� ���
��3�	
"� �� $� �)! �� � ����
l∑

i=1

Hi

(
qi,

∂S2(q,α, t)

∂qi
, t

)
+
∂S2(q,α, t)

∂t
= 0,

�� $��$!
�� ��

�
� ���
 �������� 
� ����
���� �� )
��� � ��

�� �� $��3!  
�� 
"�����

l∑

i=1

Hi

(
qi,

∂S2(qi,α, t)

∂qi
, t

)
+

l∑

i=1

∂S
(i)
2 (qi,α, t)

∂t
= 0.

�� $��+!
��	� �'�� ��� ������
�
 �� % �� ���
��3�	
" � �� �� )
�� �

Hi

(
qi,

∂S2(qi,α, t)

∂qi
, t

)
+
∂S

(i)
2 (qi,α, t)

∂t
= Cte|qi︸ ︷︷ ︸

+ αi

,
�� $���!

 
��
i = 1, . . . , l

$ *�  ������� , �� 	�
 ��  ��
 ������

��� �
� 	���� 
� � �+�� ���
���� ��
�� ���  �
 �� ��	���� ��� �� ��� 
 $ �
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/ 0'� !

S2(q, E, α2, . . . , αl, t) =

l∑

i=2

Wi(qi, E, α2, . . . , αl) − Et,
�� $���!

!$ "!& �� �$�0�& 1! � �� �"$0�����03� '�1 �$!& B '!��!�$ "� / 0'� ! 1! l − 1
�� �$�0�& 1�7 ��

'!�$�!" "!& 0'1����'!& <1��& "!& -�'��3"!& qi? �

Hi

(
qi,

∂Wi(qi, E, α2, . . . , αl)

∂qi

)
= αi, i = 2, . . . , l,

�� $���!

04 "�
l
����! '!"�$�0� !&$ 10���! B �' α1 = E =

∑l
i=2 αi = H , !$

β1 =

l∑

i=2

∂W1(qi, E, α2, . . . , αl)

∂E
− t,

�� $��� !

βi =
l∑

i=2

∂Wi(qi, E, α2, . . . , αl)

∂αi
, i = 2, . . . , l,

�� $���!

pi =
∂Wi(qi, E, α2, . . . , αl)

∂qi
, i = 1, . . . , l.

�� $��)!
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���� ���
���� �� �� )
�� �

H(q,p) =

l∑

i=1

Hi(qi, pi).
�� $��3!

� ����
��� �� )
�� � � ��

�� �� $���! , � �������
� �� % �� ���
��3�	
" � ������� �� $���! �������
l∑

i=1

Hi

(
qi,

∂Wi(qi, E, α2, . . . , αl)

∂qi

)
= E,

�� $��* !

*�  �

��� 
�		�

���� ��� ��
 �����
 ���
 �� � ��"�� �� ��
��� �� � �*� $ �� $��*! , �� ���
	
��� ��� 	+���� ���� � �
�� ������������� ��� 	��� �%�� � ��� 	������� 	
�
����� , ��� �
�

�
�
�


αi
, 	� ��� � '�� ��� *�
 $ �� $���! $ ��  ��� ��

� �����
�� ��  ����� ����	��� ��� �

 ����� �� �� $�� �! , ���	
S(1) = −Et , �� S(i) = Wi

 
��
i = 2, . . . , l

$
�

��� � � 0 �	� �0 $! -�'��3"! �#�"�� ! qi !&$ &�B �'�3"!, !$ "� / 0��$�0� B '����B �"! & :��'�$

S2(q, E, α2, . . . , αl, t) = S(q1, . . . , qi−1, qi+1, . . . , ql, E, α2, . . . , αl, t) + γiqi,
�� $��$ !

04
γi = pi = ∂L/∂q̇i

!&$ "! � 0� !�$ �0�
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� 
���� E 

��
qi

��� �����"�� 	(	����� , ��
�
 �� � 
���� 	
���%��
pi

�
� ��� 	
�
����� ��
�
���� ��� $ - ���-
�
 ��
�
 ���

qi
�
� ��� �����"�� 
� ���"�� ���	 �� )
�� � � ��

��

S2(q, E, α2, . . . , αl, t) = W (q1, E, α2, . . . , αl, t)+S(q1, . . . , qi−1, qi+1, . . . , ql, E, α2, . . . , αl, t).�� $�)+ !
9�� ��-����
� �� �� )
�	��
� %��������	� �� 
�	
��� �
 '	�

pi =
∂S2(q,α, t)

∂qi

(3.260)
=

∂W (q1, E, α2, . . . , αl, t)

∂qi
.

�� $�) �!

� �
pi

����� ��� 	
�
����� �� �
������� , �
���
γi

, 
�  ��� ����%��� � �*� $ �� $�) �!  
��

"��� ��

W (qi, E, α2, . . . , αl, t) = γiqi + f(E,α2, . . . , αl, t).
�� $�)�!

��
����� �� $�)�! ���
 �� $�)+ ! �� ����-��

���
S

�� ���"�� �� ��
��� �� �� $�)+!  ��
S + S + f

, 
� � "���
W = γiqi

� �
� �� )
�� � �� $��$! , 	� �� � �	+'�� ��  ����� $
�

�����  ����� ��
��%�� �
�	 ��� �� )
�� � � ��

�� �

�� �� �� 	(	��	��� � ���� �����"��
�
� ��������� � 	���� �����
��  
��

E
$ *� �8�� , 
�

∂H/∂t = 0
�
�	

H = E
, 	��� �������

� ���� ��� �� ��� 
 �
� ��� �����"�� 	(	����� , �� �� )
�	��
�  ���	� ��� �
� �� �� )
���
S2 = W − Et

$
5� � �+�� ���
���� � ��
�  �
 �� �� )
�� � �� $��*! , �� 
�  ��� ���  
�� �� 	+
�� �  �
 ��� ��
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�� ���  ����	���  
�	������ �� ��

�
m


� �� ��(��� ���
 �
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�
 � ��	��
� � ���� )
�	�

	������� $ *� 	

��
����
 
 +������
 {r, θ, ϕ} ��  
������� �
� �
�	 �� �� )
���
V = V (r)

$
& �+�� ���
���� 
 ��	��� .

H(r, θ, ϕ, pr, pθ, pϕ) =
p2

r

2m
+

p2
θ

2mr2
+

p2
ϕ

2mr2 sin2 θ
+ V (r).

�� $�)�!
&�  �
"�'� � ����� ���
���� , �� )
�	��
�  ���	� ��� �
� �� �� )
���

S2(r, θ, ϕ,E, α2, α3, t) = W (r, θ, ϕ,E, α2, α3) − Et.
�� $�)� !

& �������
� �� %�� ���
��3�	
"� ������� �
� ���
�
1

2m

(
∂W

∂r

)2

+
1

2mr2

(
∂W

∂θ

)2

+
1

2mr2 sin2 θ

(
∂W

∂ϕ

)2

+ V (r) = E.
�� $�)�!

� 	�� 
� � �*� $ �� $�)�! � ��  �
 �� )
�� � � ���� 

��� � �+�� ���
����
 ��	
� ��
 , 
�  ���
����-�� ��� ��
 	
�����
�
 �� 
� ���"����� �� 5���	,�� 

�� �����
��
 
���
)����
 ���� $ 4��

�� 	
������ �� 	� 	
��
 , �� 
�2 �� �� 	
�
������ �� 
� ���"����� 	
��� ��� )
��� � ��

��
�
�� ��  �������	� 
��� ����-�� �  

����
�� .
W (r, θ, ϕ,E, α2, α3) = Wr(r, E, α2, α3) +Wθ(θ, E, α2, α3) +Wϕ(ϕ,E, α2, α3).

�� $�))!
5�"
������� �� $�))! ���
 �� $�)�! �� ����� ����� �� �
��  ��

2mr2 sin2 θ
�� � ����

r2 sin2 θ

(
∂Wr

∂r

)2

+ sin2 θ

(
∂Wθ

∂θ

)2

+

(
∂Wϕ

∂ϕ

)2

︸ ︷︷ ︸
(i)

+2mr2 sin2 θ
(
V (r) − E

)
= 0.

�� $�)3!

�� 	
�
���� ��� �� ���� � ��! �� �� ��� ��� ��
ϕ
, �����
 ��� ��
 �����
 �� ������ ��

r
��

θ
$ 9�� 	
�
������

(
∂Wϕ

∂ϕ

)2

= α2
3,

�� $�)*!

�

α3
�
� ��� 	
�
�����  �� ��  
�� �

r
��

θ
$ 4 ���
��� � �*� $ �� $�)3!  ��

sin2 θ
�� (


�"
������� �� $�)* ! �� � ����

r2
(
∂Wr

∂r

)2

︸ ︷︷ ︸
(ii)

+

(
∂Wθ

∂θ

)2

+ 2mr2
(
V (r) − E

)
︸ ︷︷ ︸

(iii)

+
α2

3

sin2 θ
= 0.

�� $�)$!

&�
 ���� �
 ���! �� ����! �� �� ������ ��� ��
r
�� ��
 �����
 ��� ��

θ

� �� ����

r2
(
∂Wr

∂r

)2

+ 2mr2
(
V (r) − E

)
= −α2

2,
�� $�3+!

(
∂Wθ

∂θ

)2

+
α2

3

sin2 θ
= α2

2.
�� $�3�!

&� 
(
�'� � � �*�
 $ �� $�)* ! , �� $�3+ ! , �� �� $�3�!  ��� 	��� ��

�� .
Wϕ = α3ϕ,

�� $�3�!

Wθ =

∫ θ

θ0

dx

√

α2
2 −

α2
3

sin2 x
,

�� $�3�!

Wr =

∫ r

r0

dx

√
2m
(
E − V (x)

)
− α2

2

x2
.

�� $�3� !
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S2(r, θ, ϕ,E, α2, α3, t) =

∫ r

r0

dx

√
2m
(
E − V (x)

)
− α2

2

x2
+

∫ θ

θ0

dx

√

α2
2 −

α2
3

sin2 x
+α3ϕ−Et.

�� $�3�!
&�
 ������
�
 �� �
���� ��� 
 ��	������ ���
� .

β1 =
∂S2

∂E
=
∂W

∂E
− t = m

∫ r

r0

dx
1√

2m
(
E − V (x)

)
− α2

2

x2

− t,
�� $�3) !

β2 =
∂S2

∂α2
=
∂W

∂α2
= −

∫ r

r0

dx
α2

x2

1√
2m
(
E − V (x)

)
− α2

2

x2

+

∫ θ

θ0

dx
α2√

α2
2 −

α2
3

sin2 x

,
�� $�33!

β3 =
∂S2

∂α3
=
∂W

∂α3
= −

∫ θ

θ0

dx
α3

sin2 x

1√
α2

2 −
α2

3

sin2 x

+ ϕ.
�� $�3* !
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 %�������

r0

��
θ0

� �
��  �
 � ��� 
����	� ���
 �� 
��
 
� ���� 	
����"���
� � � �����%����
��%����� ��� 	
�
����� , ��
���� �"

�" �� ���


βi
$ & �*� $ �� $�3)!  ��� 	��� ��

���  
��

r
$ �
����

��� � ���
����
� ��

r
, �� $�33!  ��� 	��� ��

���  
��

θ
$ 1 ������ ��� , 	
����

���

� ���
����
� ��
r
��
θ
, �� $�3* !  ��� 	��� ��

���  
��

ϕ
$ &�
 	
�
�����
 

�� ��
���� �� �
�

���
 �� )
�	��
� ��
 	
�����
�
 ��������
 , 	� ��� ������ ��� �� 

����
� ��  �
"�'� � $ &�

	
�
�����


α1
,
α2

, ��
α3


�� ��� ����� ������
�  +(
���� 	����� $
α1 = E

�
� � �����%�� �
����
�� 
(
�'� � $

α3
�
� �� ������ 	
�
����� �� �
���� ��%������ ���
�� ��

ê3
.

pϕ

��� �
=

∂S2

∂ϕ

(3.266)
=

∂Wϕ

∂ϕ

(3.268)
= α3.

�� $�3$ !
0
�
�
 ��� �� ����� � $�� ������ ����	��� ���  ��� �
 � ����"���

Wϕ = α3ϕ
, ���	

α3 = pϕ
$

9
�� ������-��
α2

, 
� 	
�
���� ��� � �*� $ �� $�3�!  ��� 	��� �	���� 

�
 �� )
�� �

p2
θ +

p2
ϕ

sin2 θ
= α2

2,
�� $�*+ !

�� )�(
� � 	� ��� � �+�� ���
���� 
 ��	����

H(r, θ, ϕ, pr, pθ, pϕ) =
1

2m

(
p2

r +
α2

2

r2

)
+ V (r).

�� $�* �!
�� 
 ��%�� �� �� )
�� � �� � �+�� ���
���� � ��� 
(
�'� � � ���� ��%��
 �� ��"���� �� 
���� ���
 ���! �� 	

��
����
  
�����
 $

α2
�
� �
�	 �� �
���� �� �
���� 	�������� �
��� $ ( ��
� ,

�� )
�� ���
� � �� % �� ���
��3�	
"� )��� ��


���� �� )�(
� �� ��	��� ��
 �
 �
 �� 	
�
������
� .
α1

�
� � �����%�� ,
α2

�� �
���� �� �
���� 	�������� �
��� , ��
α3

�� 	
� 

���� �� �
����
��%������ �
��� 
��
�

ê3
$ &� �
��� �� 	�
 ��
�
 %�������
 -�� ��
�
 ����
������� �� ������

��
 	
�
�����

β1

,
β2

, ��
β3

$ ( ��
� �� )
�� ���
� � �� %�� ���
��3�	
"�  ����� �� ����
����
��
 ���������
 ��� 

�� �����
 ��� 
(� �����
 ���������
 �� 
(
�'�� $

� ����
��� 	� )
�����
�� , 
�  ��� ��

���� ��  �
"�'� � �� 
 � ��� ��� �
� ��-��  �� ��
 
������� 	������ �� �� )
�� �

V (r) = −κ
r
, κ > 0.

�� $�*�!
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	�� ��
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 	��
�

���� �� ��������� � ����  ����	��� 

�� �
� � ��� )
�	� �������� � ���  
������� $

�
�
����
�
 ���  ����	���  
�	������ 	��

���� �� � �

�
m

�� ��� �����
�
� 

�� �
�
��  
�������

V (q, t)
$ & �+�� ���
���� �
�

H(q, p, t) =
p2

2m
+ V (q, t)

�� $�*�!
�� � �������
� �� % �� ���
��3�	
" � 	
���
 
������ 
 ��	���

H

(
q,
∂S

∂q
, t

)
= −∂S

∂t
,

�� $�*� !


��

1

2m

(
∂S

∂q

)2

+ V (q, t) = −∂S
∂t
.

�� $�*�!
5� ��  ��
 ��  
������� �
� ���� ������ �� ��� 
 , 
�  ��� �	����

S(q, t) = W (q, E) − Et,
�� $�*)!


�
E

�
� � �����%�� �� ��  ����	��� $ 9�� ����
)
�����
� �� &�%����� �����
�  �� ��  
�� �
� �����%�� 
� 
"����� ��� ������
� �� ��	��� �
����� ��  

���
�

q
�� ��  ����	��� �� )
�	��
�

�� ��� 

t
�	) $ ������ ( $� $� , 
� 
� ������-� ��
 *�
 $ �( $) �! �� �� $�*)! ���	

x = E
,
p = t

,
ψ = S

, ��
y = W

! .
t =

∂W (q, E)

∂E
.

�� $�*3!
�
�
����
�
 � ��������� �� 	�
 � ����  ����	��� ��������� $ 5
��

Ψ(q, t)
�� )
�	��
� � �
��� $

&� 	���� �� �� �
�� � ��
Ψ

�
��� �� ���
��� ��  �
"�"����� �� ��
���� ��  ����	� �� ��
q
��

��� 

t
$
Ψ(q, t)


"��� � � ��� �$�0� 1! 0 �	 '�1��2 !'
i~
∂Ψ(q, t)

∂t
= − ~2

2m

∂2Ψ(q, t)

∂q2
+ V (q, t)Ψ(q, t),

�� $�**!

�

~
�
� �� 	
�
����� �� 9 ���	, ������� $ * 	���
�
 ��
�


Ψ(q, t)


�
 �� )
���

Ψ(q, t) = exp

(
iS(q, t)

~

)
.

�� $�*$!
*� � �( 
�"
������� ���
 � �������
� �� 5	+�����%�� , �� � ����  
�� ��  +�
�

S
[

1

2m

(
∂S

∂q

)2

− i~

2m

∂2S

∂q2
+ V (q, t)

]
Ψ = −Ψ

∂S

∂t
.

�� $�$+!
4��
 �� ��� ���

~ → 0
, ���� ��� ��� 	��

���� , 
� �

1

2m

(
∂S

∂q

)2

+ V (q, t) =
∂S

∂t
,

�� $�$ �!
��� �
� � �������
� �� %�� ���
��3�	
"� �� 	�
 	��

���� $

�
����� 	
� ������ 	� ��
����� � &� 

����
� %������� �� � �������
� �� 5	+�����%��
�
� ��� 
� �� 

���
� �������� �� )
�	��
�
 � �
��� � �����%�� �
���� $ ��  ���� �� & �����
� �
���
' , ��� 
�	��� 	
���

Ψ(q, t) =

∫
dE g(E) exp

(
i
W (q, E) − Et

~

)
,

�� $�$�!
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g(E)
�
� �� )�	���� ��  
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� $ 9
�� �� ��� ����  ����� ��
 ����%��
 , � ��� 
����

������ ���
 � �����%���� 

	���� �� ���� ��� �� �� 	
����"��  �� � � �����%���� $ &� 	
����"���
�
�
� ������  �
������� �� �� ������ �� � �����%�� ������� 
����
������ � ���%�� ��� �� � ��� 
�
��������� , 	 ��
��������

∂

∂E
(W (q, E) − Et) = 0,

�� $�$� !


��

t =
∂W (q, E)

∂E
,

�� $�$� !
	� �� � 	
���
 
�� �� ��
����� 	��

���� �
���  �� � �*� $ �� $�*3! $ *� 	
�	��
�
� , �� )
�	��
�
��	������ ��  ����� � �
��� ��  ������ ��� ������ �
� ��%��%��"�� ��� �
�
��� 
�  

���
�
q

���
)��� � �������
� �� �
���� ��� 	��

���� $ *� � ������ ���� �
 , ��  ����� � �
��� & 
���'

�� ���� �	�
��� 	��

���� ���
 �� ��� ���
~ → 0
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 �� �� �+�
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 ����
)
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 �
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 �� � ���
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�������  ���
����� $ *� �8�� , 
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 )�	��� � ���"��� ,  ����� ��� ��
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 ��
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 �� ���
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q
, 

�� � �+�� ���
� ���

H(q, p) = α1 =
E
$ �� 
(
�'� � �
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�	 	��� ��
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p = p(q, E)
$ 5��
� ��
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q
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q
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D��� 
  � E 
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����  ��

E =
p2

θ

2ml2
−mgl cos θ.

�� $�$�!
4� � �*� $ �� $�$�! 
� ����

pθ = ±
√

2l

g

(
E

mgl
+ cos θ

)
,

�� $�$) !
��-��
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� ��
 
�"���
 ���
 � ��
 �	� ��
  +�
�


pθ = pθ(θ, E)
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E
$



*+ ���� � �
� � � �� ��
������� �������� ���

q

p
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p
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E > mgl
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E/(mgl)+cosθ > 0
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θ
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 ,
θ ∈ [0, 2π[
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��! 5�

E < mgl
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�
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��

θ∗ < 2π
��� ���

E/(mgl) + cos θ∗ = 0
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J
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(
q
p

)
7→
(
Q
P

)
=

(
ϕ
J

)
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J
�
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J =

∮
dq p(q).
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ϕ̇ =
∂H̃

∂J
,

�� $�$$ !

J̇ = −∂H̃
∂ϕ

.
�� $�++ !
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J

�
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�
����� , ��
�

∂H̃/∂ϕ = 0

, � �
�
H̃ = H̃(J)

�� �� ��� ��� ��
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�

H̃(J)
�
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� ��� 	
�
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�
������ �� ��

�
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∮
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ẍẋ+ ÿẏ = −∂U

∂x
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���
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������ �� �
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���  
�� ������
∂U/∂x = ∂U/∂y = 0

$ 4 �
���
  
���
 

�� �  ���
  
���
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�����
� � �������"�� 
 ��	��� �
�	

∂U

∂x
=

∂U

∂ρ1

∂ρ1

∂x
+
∂U

∂ρ2

∂ρ2

∂x
= 0,

�� $��)�!
∂U

∂y
=

∂U

∂ρ1

∂ρ1

∂y
+
∂U

∂ρ2

∂ρ2

∂y
= 0.

�� $��)"!
&�
 *�
 $ �� $��)!  ������ 
 ��	���� 

�
 �� )
�� � � ��� 
(
�'� � �������� .

(
∂U
∂x
∂U
∂y

)

︸ ︷︷ ︸
+ a

=

(
∂ρ1

∂x
∂ρ2

∂x
∂ρ1

∂y
∂ρ2

∂y

)

︸ ︷︷ ︸
+M

·
(

∂U
∂ρ1

∂U
∂ρ2

)

︸ ︷︷ ︸
+b

= 0.
�� $��3!

&� 
(
�'� � �� $��3! ��� �� ��� 

����
�
a = 0
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 ��
 ���� 	�
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b = 0
 
�� �
��� ������ ��

M
, ��
�
 �� 	
�����
� 
 ��	���
∂U

∂ρ1
=
∂U

∂ρ2
= 0.

�� $��*!
5�"
������� ��
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 $ �� $��� ! ���
 �� $��* ! 
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"����� ���������� ���

ρ1 = ρ2 = r1 + r2.
�� $��$!

��	� 
 ������ �'�� %�
� �������� ��� �� �� )�(
� 
������� $ 5� 
� 	
�
����� �� �����%��
��� �������� ���	 ��
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m1
��
m2

�� ���� 

����
 , ��
�
 �� ��
�
�'� � 

����
�
� ��  
��� � �������"�� $ �� ���
�� ���� ���
  
���
 , ��  ��� ��� ����� ���
 �� ��%�
�
y > 0

�� �� 
�	
�� ���
 �� ��%�
�
y < 0

$ &�  
��� 	
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����� �
y > 0

�
� �  ���
� �$'��� ! B 0��$ 1! ��2 '��2 ! , ��" ���� L4

, �����
 ��� 	����  
��
y < 0

�
� �  ������� ��� ! B 0��$ 1! ��2'��2 ! , ��" ���� L5
�	) $ 1 �% $ � $�3! $��! 5�

b 6= 0
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�


detM = 0
, 

 �� �����
��� ��
 *�
 $ �� $��� ! � �� $��3! .

detM = det

(
x+r1

ρ1

x−r2

ρ2
y
ρ1

y
ρ2

)
= y

r1 + r2
ρ1ρ2

= 0.
�� $�)+!

&� ������ ����� �
� ��� 
� �� 
����� ��� 
�
y = 0
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x
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 � �*� $ �� $��*! , �%����� �� ��
����� �

:��
 , �� ��� ������� ���  
��
y = 0


� �
ρ1 = |x+ r1|

��
ρ2 = |x− r2|


� 
"�����
∂U

∂x
=
Gm1(x + r1)

|x+ r1|3
+
Gm2(x − r2)

|x− r2|3
− ω2x = 0.

�� $�) �!
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x < −r1
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 −r1 < x < r2
, �� �� ��
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x > r2
$ 9
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��� ��
U

 �� ��  
�� �
x

��
y = 0

�
�
∂2U

∂x2
= − 2m1

|x+ r1|3
− 2m2

|x− r2|3
− ω2.
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&� ������� 
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x = −r1
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x = r2
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∂U/∂x
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∂U/∂x
� ���

Gm1 = Gm2 = 1
�
r1 = 0.5

�
r2 = 1

� ��
ω = 3
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���� {x0, y0}
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 � ���  
��� �� &�%���%� , ��
�
 ��-��


�
 ��
 �	���


ξ��
η
 ��

x = x0 + ξ,
�� $�)�!

y = y0 + η.
�� $�)� !

� ����

�
 ��  ��
 �� �
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� �"��%��
Ux

,
Uy

,
Uxx

,
. . .
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 ��

U
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 ������
�
 �� �
������� �� $�� �!  ������� �
�	 �� )
�� �

ξ̈ − 2ωη̇ = −Ux(x0 + ξ, y0 + η),
�� $�)��!

η̈ + 2ωξ̇ = −Uy(x0 + ξ, y0 + η).
�� $�)�"!

*� �����
  ��� �� ���"�� �� ��
��� ��
 *�
 $ �� $�)�! ��  ��� ��� 
���� ���
�� ��
ξ = η = 0
� 
"�����

ξ̈ − 2ωη̇ = −Uxx(x0, y0)ξ − Uxy(x0, y0)η,
�� $�))�!

η̈ + 2ωξ̇ = −Uxy(x0, y0)ξ − Uyy(x0, y0)η.
�� $�))"!

*� �8�� , �� ���� � � �
���� :��
 �
� ���  �� ��-����
� �� {x0, y0}
$
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�� �� �
�
���%� � ��� ��
  
���
 �� &�%���%�
L1

,
L2

, 
�
L3

, ��
�

y0 = 0

,
ρ1 = |x0 + r1|

, ��
ρ2 = |x0 − r2|

$ &�
 *�
 $ �� $��+! � �� $���! ���������� ��
�

Uxx(x0, y0) = −2Ω2 − ω2,

�� $�)3!
Uxy(x0, y0) = 0,

�� $�)*!
Uyy(x0, y0) = Ω2 − ω2,

�� $�)$!

�

Ω2 =
Gm1

|x0 + r1|3
+

Gm2

|x0 − r2|3
.

�� $�3+!
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(
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� �

ξ̈ − 2ωη̇ −
(
2Ω2 + ω2

)
ξ = 0,

�� $�3��!
η̈ + 2ωξ̇ +

(
Ω2 − ω2

)
η = 0.

�� $�3�" !
&� 
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� �� 
(
�'� � �� $�3�! �
� �� �� )
�� �

ξ = A exp(λt),
�� $�3��!

η = B exp(λt),
�� $�3�" !
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A
,
B
, ��

λ
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 $ ��
����� �� $�3�! ���
 �� $�3�!�� � ����

(
λ2 − 2Ω2 − ω2 −2ωλ

2ωλ λ2 + Ω2 − ω2

)

︸ ︷︷ ︸
+M

·
(
A
B

)
=

(
0
0

)
.

�� $�3� !

��� 

����
� �
� ���� ����  
��
A

��
B

�� �
�� 
�
detM = 0

.
detM = λ4 −

(
Ω2 − 2ω2

)
λ2 −

(
2Ω2 + ω2

) (
Ω2 − ω2

)
= 0.

�� $�3� !
&� ��

����
� �� 	���� ������
�  
��

λ2 �
���

λ2 =
1

2

(
Ω2 − 2ω2

)
± 1

2

√
9Ω4 − 8Ω2ω2.
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��� � �������"��

x0
����-� �� ������
�

Gm1(x0 + r1)

|x0 + r1|3
+
Gm2(x0 − r2)

|x0 − r2|3
− ω2x0 = 0.

�� $�3) !
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 $ �� $�3+! �� �� $�3) ! �� 
� ��  ����� ���

m1r1 = m2r2
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"�����

(
Ω2 − ω2

)
=
Gm1r1
x0

(
1

|x0 − r2|3
− 1

|x0 + r1|3
)
.

�� $�33!
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x0 < −r1
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x0 > r2

, �� � ��"�� �� ��
��� �� �� $�33! �
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���) , � �
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Ω2 > ω2

$ 5�
−r1 < x < r2
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� ����

� ����	�� ��
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�
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Ω2

��
ω2
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Ω2 > ω2
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λ2 =
1

2
Ω2
[
(1 − 2γ) +

√
9 − 8γ

]
,

�� $�3* !
���	

γ =
ω2

Ω2
∈ [0, 1[

�� $�3$ !
	��

Ω2 > ω2
$ 4�  ��


d

dγ
λ2 =

1

2
Ω2

[
−2 − 4

1√
9 − 8γ

]
< 0.
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0
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1
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γ = 0
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γ = 1
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ρ1 = ρ2 = r1 + r2 + ρ
,
x0 + r1 = ρ/2

,
x − r2 = −ρ/2 , y =

√
3ρ/2
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�
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Uxx = −3α2,
�� $�* �!

Uxy = −β2,
�� $�*�!

Uyy = −9α2,
�� $�*�!
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α =
ω

2
,

�� $�*� !

β2 =
3
√

3

4

m1 −m2

m1 +m2
ω2.
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ξ̈ − 4αη̇ − 3α2ξ − β2η = 0,
�� $�*)�!

η̈ + 4αξ̇ − 9α2η − β2ξ = 0.
�� $�*)"!
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)

︸ ︷︷ ︸
+ M

·
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A
B

)
=
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0
0

)
.
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R2 =
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(∆s)2 > 0

(∆s)2 > 0

E1

E2

(∆
s)
2 =

0

��� � � $� % 4��%����� �� � ��,
# 
, � $

5�
(∆s)2 < 0

��
�
 ��
 ���� ������ ���

E0

��
E2

��  ������  �
 	��� 	
���	��
  ��
�� 
�%��� 	�� 	� ������� ������� 
� �� ��	�� � ��� ����

� 
� ������� � 	���� �� �� ��� �'�� $
(�	�� 
�%��� ��  ��� 	��� ���
(� �� ��
 � �
��%���  
�� ��.���	�� �� ��������� ��� ���
(∆s)2 < 0

$ �� ��� ��
�
 ��� � ����������� �
� �� %���� �
 �	� $
&�
 ������ ���
 � � ���������� �� 	��� �� ��� �'��  
��

t > 0
 ������ �
�� 	��� �������


 �� �� 
�%���  ������ �� � �
��% ��� $ /
�� ������ ��� ���
 	� ��� �� ��� 
� ������ 
� 
����
�
�	 ���
 �� )���� $ &�
 ������ ���
 � � ���������� �� 	��� �� ��� �'��  
��

t < 0


��

��
 ���������
 ���  ������ 	���  ��(�
 � � �
��%��� $ /
�� ��������� ���
 	� ��� �� ���
��)������ �  ������� �
�	 ��  �

� $ &�
 ������ ���
 �� ��+
�
 �� 	��� �� ��� �'�� 

��
���
 ��� ��%�
� ���		�

�"�� �  ���� &�������
' $

�
��� 	
�
�����	� ��
 ����
 �����
  ��
 ���
 	���� 
�	��
� , �
�
 	
�
���
�
 �� ����
���
�� ����� ��
 	

��
����
 
 ������
 �� �� 	

��
���� ��� 
����� $ �� �  ����� �
�	 �������
�� �����
  �� �� )
�� ���
� � ���
 ������ 	�
 	

��
����
 

�� �����%��
 $ 9
�� 	� )���� ,
��  ��� 	��� ����� �� ��  ���� �������
 �
��
�
 �� 	��	�� ���

���� �	) $ ������ ( $* ! $

� �� �� �������������� �� ����� � �� �������
(�
 �
�
 �� �
����
� ��������	�
������

x = (x0, x1, x2, x3) = (x0,x)
$ 0
�
 
��
�
 ���

�� ��
���	� ����� ���� ������ ���
 �
� �� ��������� ��������
�� , 	� ��� 
 ��	���
(∆s′)2 = (∆x′0)2 − (∆x′1)2 − (∆x′2)2 − (∆x′3)2.

�� $��!
�
��� �
���� ���
 � ������� ( $* , ��
 �����"��


x′µ
���


R
′ 
 ��� ��� ��� �� ���� �
 ��


�����"��

xµ ���


R

��
� ��� ������
� �������� $ & �*� $ �� $��!  ���� �
�	 �� %������ ��

)
�� �
(∆s′)2 = gµν∆xµ∆xν ,

�� $��!



� �� � �� �
�����
������ �� ��
�� �� �+ �

�

gµν = gνµ
�
� �� ���
��� � ������� 
(�������� $ 0
�
 ��
 �
�
 �
�������� �� 	
�����

��
� �� * ��
���� ���	 

�����
� 
�� ��
 ����	�
 �� ���
 $ 4����� ��
�
 ��
 ���� ���

gµν

,

��
 )���� � �+( 
�+'
� �  ��
�� ��� 	�
 ���� ���
 

�� ���� ������
 �� �� ����

�

v
$ 9
��	�	� , 	
�
����
�
 � ��"
�� � ������� ��� 
�� �� 	��� �� ��� �'��

x = (∆x0,±∆x0, 0, 0)
, ��
�


(∆s)2 = (∆x0)2 − (∆x0)2 = 0
$ �� �
�� �
�	 �� 	��� �� � 	�� ��

(∆s′)2
, 	� ��� ���


� �*� $ �� $�� ! �
���
0 = g00(∆x

0)2 ± 2g01(∆x
0)2 + g11(∆x

0)2,
�� $�� !

� �
�
g00 ± 2g01 + g11 = 0.

�� $��!
��	� ����� ���� ���� ��� 

�� �� 
�%�� �� ±g01

, �� )��� ���
g01 = 0

$ ( ��
�
g00 = −g11

$ *�)��
��� �� � 	�� ���

������� ���	 ��
 	
� 

����
 
 ������

2
��

3

� ��
���

{gµν} =




±λ 0 0 0
0 ∓λ g12 g13
0 g12 ∓λ g23
0 g13 g23 ∓λ


 .

�� $�) !

&�  ����� 
 ������ +
�
����%
���� 
 �������  
�� ��
 ���

�
 � ���������	� 

�
 ��
 �
����
�

�� �� )
��� ����������� $ 9�� 	
�
������

(∆s′)2 = ±λ(∆s)2. �� $�3!
� � 	
��� �
�
 � ���
�
 ��� � �� ���
 �� 5�	� $ � $� $� , �� )��� ���

∆s′ = ∆s
�
�	 � �*� $ �� $�3!�� �����

λ = ±1
$ 0
�
 ��
�
 �� ��" ���� 
�� �� 	+
�� �� 
�%�� ��

λ
, ��  ���
�


λ = 1
$ 9��	
�
������ , �� ���
��� � ������� �
� �� � 	��  
�� �
�� ��)�������� � �������� �� �
� �
���

 ��

{gµν} =




1 0 0 0
0 −1 0 0
0 0 −1 0
0 0 0 −1


 .

�� $�* !

�� 
� 

������ ��� �� %�
� � ��	������ �
� ��-�� 	
��� � ��� 
��"�� ��
 ����
)
�� ���
�


�� �

3
��� ���

��� �� ��
���	� ����� �
�� 	
� �� ��  
���
 ���������� $ 4� )�(
� ����
%�� ,

�
�
 ��-��


�
 �� 2 '0 B ! 1! � 0����'� ���
 � ��
 �	� �� � ��,
# 
, � �� ��
 �	� ��
 ������
� ���


x
! ���� �� �� ��������

gµν
	
��� � ���
��"�� ��
 ����
)
�� ���
�
 ��
� )
�	�����

��������
! ��� ���

��� �� ��
���	� ����� ���� ������ ���
 ���������� $ �� 
 �������

� �� 	�

 ����	����� �� 2 '0 B ! 1! �0'!�$�  
�� ������ ��
 ����
)
�� ���
�
 

�� ��������
 �� ��  �
����

	������ �
� ��� �

� ����� ���
 � ��
 �	� �� � ��,
# 
, � $
� �������� � �� 6�! #$%"C� !$+ %#&!" 1' �!$'"#� Λ !&$  �! �BB "���$�0� "�����'! & '" :!&B ��! 1! � ��� 0�&� � "��&&��$ "� / 0'� ! 3�"�����'! 1�. ��! B �' "! $!�&! ' � �$'�� ! <� 5>�?��-�'���$!, � :!&$���1�'! Λµ

γx
γΛ δ

µ yδ = xµyµ
B 0 ' $0 & �-��!� !�$& x !$ y 5 � :!�&!� 3"! 1!�!& $'��&/ 0'� �$�0�& / 0'� ! "! 8$!��' 1' �!$'"#� 5

&�
 � ����	�
 �� ����
)
�� ���
� �� &
����:
Λ = {Λµ

ν}
����-���

Λt · g · Λ = g
$ �����

�����'�� �� ��

�
�  
������ ��

� 	���  ��
� 	
��� ��-����
� �� %�
� � �� &
����: $ *��8�� , � ��%�����
(∆s′)2 = (∆s)2


 ��	���
x′µx′νgµν = xµxνgµν ,

�� $�$ !
���	

x′µ = Λµ
ρx

ρ
�	) $ ������ ( $*! , � �
�

xµxνgµν︸ ︷︷ ︸
= xρxσgρσ

= Λµ
ρx

ρΛν
σx

σgµν ,

=⇒ gµνΛµ
ρΛ

ν
σ = gρσ,

�� $�+ !



�+� ���� � �
� � � ����
�� �� �� 
������� �� 
���
��� ��

	� ��� 
� ���	��� 

�
 )
�� � � ����	�����
Λt · g · Λ = g

$ 0
�
�
 ��

� , 	
��� �
���� ���

� ������� ( $* , ��� 
�

xµ
�
� 	
����������� , ��
�


xµ = gµνx
ν

�
� 	
������� $ &� � �������
 ��� �� �
�	 ��  �

�� � ����  �
 ����� �� 	
����������	� � ���  �
 ����� �� 	
������	� ,
�� ��	�����
� $ 4�  ��
 ,  
�� �� 	�
  ����	����� �� �� � ������� �� � ��,
# 
, � 
� ����-� ���
gµν = g ν

µ = gµ
ν = gµν $ /
��� 	
����	��
� � �����	�
 
� )��� ����� �� ���% 	
����������� ��

�� ���% 	
������� $ �� �	��� �
�	 ��  �
���� 
	������
xµyµ = xµgµνy

ν $ &�
 ����
)
�� ���
�

��� �
�
 ���
� 
 ������� ���
 	� 	+� ���� 

�� ��
 ���� ���
 �� 2 '0 B ! 1! �0'!�$� '!&$'!��$$
� �������� � �� �� �BB !" "! 8$!��' 1' �!$'"#� $'C#$'&" # "! &0 &�2 '0 B ! 1!& $'��&/ 0'�� �$�0�& 1! �0'!�$�

Λ
$!" "!& � ! detΛ = 1 !$ Λ0

0 ≥ 1 5
4��
 �� 
���� ,  
�� ��
 ���

�
 �� 
�� ��	��� � ��	������ �
�
 ���
�
 ������� �� 	�
  �����

	����� �� %�
� � �� &
����: ��
������  
�� ������ ��
 ����
)
�� ���
�
 �� )
��  �
 �������� ��
�� �
����
�
 �� 

�� ����%��
 ���
 ��� 
���� ����	��
� 
 ������ $ �� �  ���� ��� ����� ����
�
)
�� ���
� �� 300&$ $ &� -%��� � $� ���� 
��� �� "


� ���
 �� ����	��
�

ê1
, 	 ��
�������� ���

����
)
�� ���
�  
�� �������� �� ����

� ��������
v

�� 
�	
�� ��)��������
R′

�
� 
�������
���
 �� ����	��
� ��

x1 ������� ��� $

R

R′

x3 x′3

x2 x′2

x1, x′1
v

��� � � $� % 7


� ���
 �� ����	��
�
ê1

$
�+��	+
�
 � ��� ��

�
� � ���� ����
)
�� ���
� �

�� � ��� "


� ���
 �� ����	��
�

ê1
$ &�

	
�����
� �� 
����������� �� $��! 
 ��	���  
�� � �
��% ��� ��
 ���� ��)��������

R

��
R′ .

(x0)2 − (x1)2 = (x′0)2 − (x′1)2.
�� $� �!

9


�

x′0 = −x1 sh η + x0 ch η,

�� $���!
x′1 = x1 ch η − x0 sh η,

�� $��"!

�

η
�
� �� '�B �1�$� , �� ����-
�
 ��� �� )
�� � �� 

��  �� ��
 *�
 $ �� $��! 
���
)��� � ��

	
�����
� �� 
����������� �� $� �! $ � ����
��� ��  �
 �����
ch2 x − sh2 x = 1

, �� �
� )�	��� ��
�
�� ��� � �* � $ �� $��! �
� 
���
)���� $ ( �� 
� �� �� �
��

η
��� ��� �� ����
)
�� ���
� �� &
����:

 ����� �� )
�� � �� $��! $ 9
�� ��
���� �� �� �����
η
, 	+
�
�


�


x′1 = 0
��
v
�� ����

� ��

����
����
� 
��
�
ê1

��
R′

 �� ��  
�� �
R

$ &� 	

��
���� �� � �
��%��� ��
R′

���

R

�
�
�
�	

x1 = vt
, �� � �*� $ �� $��"! )
��� ��

0︸︷︷︸
= x′1

= vt︸︷︷︸
= x1

ch η − ct︸︷︷︸
= x0

sh η,
�� $��!

� �
�
th η =

v

c
+ β.

�� $�� !



� �� � �� �
�����
������ �� ��
�� �� �+�
� ����
��� ��
  �
 �����
 ��
 )
�	��
�
 +( ��"
�����
 
� 
"�����

ch η
(4.24)
= chargthβ =

1√
1 − β2

+ γ,
�� $��!

sh η
(4.24)
= shargthβ =

β√
1 − β2

= βγ.
�� $�) !

��
����� ��
 *�
 $ �� $��! �� �� $�)! ���
 �� $��! �� � ����

x′0 = γ(x0 − βx1),
�� $�3�!

x′1 = γ(−βx0 + x1).
�� $�3" !

5
�
 )
�� � � ����	����� , �� ����
)
�� ���
� �� &
����: 
 ��	��� �
�	

x′ = Λ · x, Λ(β) =




γ −βγ 0 0
−βγ γ 0 0

0 0 1 0
0 0 0 1


 ,

�� $�* !


� "��� �� 	
� 

����

x′µ = Λµ

νx
ν $ �� ����-� ��� �� ����
)
�� ���
� ��-���  �� �� $�* !�
� "��� �� ������� �� %�
� � �� &
����: ��
������ , 	 ��
�������� ���

detΛ = 1
�� ���

Λ0
0 ≥ 1

$ *� %������ �� )
�� � �� $��! �� �� ����
)
�� ���
� �� ����� �� �� �� ����� , �� �
�
��
� �� ����-�� ��  �
 ����� �� %�
� � $ *� �8�� , ���
 	� 	�


Λ(η) =




ch η − sh η 0 0
− sh η ch η 0 0

0 0 1 0
0 0 0 1


 ,

�� $�$ !

�� 
� ����-� ��� .
� $ * ��� ��� ������ . 	
���

ch 0 = 1
��

sh 0 = 0
, ��
�


Λ(η = 0) = �
$

� $ &
� �� 	
� 

���
� . �����
��� ��
  �
 �����


ch(x+ y) = chx ch y + shx sh y,
�� $�+ !

sh(x+ y) = chx sh y + shx ch y,
�� $� �!


� ����-� ���
Λ(η1) · Λ(η2) = Λ(η1 + η2).

�� $��!
� $ �����
� . �� 
��� ��
  �
 �����
 �� 
(� �����

ch(−η) = ch η
��

sh(−η) = − sh η
���

 
�� �
��
Λ(η)

�� ����
)
�� ���
� �����
�
Λ(η)−1 = Λ(−η) �� �
�� $

�� ��� �
���� �� �� �
� � �������
� ��
 ����

�
 �� ������� ��� ��
������� � 4� � �*� $ �� $��! 
�
�

Λ(η1) ·Λ(η2) = Λ(η3), η3 = η1 + η2.
�� $�� !

� �  �� ��-����
� �� $�� ! �� �� �� ����� �� �����
��� ��  �
 �����

th(x + y) =
thx+ th y

1 + (th x)(th y)
,

�� $�� !

� �

β3
(4.24)
= th η3

(4.33)
= th(η1 + η2)

(4.34)
=

th η1 + th η2
1 + (th η1)(th η2)

,
�� $��!



�+� ���� � �
� � � ����
�� �� �� 
������� �� 
���
��� ��

� �
�
v3 =

v1 + v2
1 + v1v2

c2

.
�� $�)!

�� ��� ����� ��� �� �
� �� 	
� 

���
� ��
 ����

�
 � ��
�  ��
 �� � 	�� �� ������� ��� ���
 
�� �� � �	������ �� ������� $ *� �8�� , 
��
� � �* � $ �� $�! 
� ������

v3 = v2+v1
$ & �*� $ �� $�)!� 
���� ��� 
� � ���� ��
 ����

�
 ,

v2
 �� ���� �� , ����

c
, ��
�


v3
������

c
������ ��� 

��

�� ������ �� � ������ ����

�
v1

$
c
�  ����� �
�	 	
��� ��� ����

� ��� ��� $ 9
�� ��
 ����

�


�
� ������� �
��
 
�
v1v2/c

2 �
� ��%��%��"�� , 
� ����
��� "��� �� �
 � �� 	
� 

���
� %���������
v3 = v2 + v1

$
&� �
� �� $�)! 
�%� �-� ��� 
� �� 
"
�������� �
� ���
 �� ��)��������

R′′
, �� �� ��� 
"� �� �
�

�� �
 � ����

�
v2

��������� ��� � �� ��)��������
R

�� �
���� ��� � ����

�
v1

 �� ��  
��
�

R′′
, ��
�
  
�� 	�� 
"
�������� � �
"� �� �� �
 ���� �� ����

�

v3
$ 9�� ���� �� , 
�  ���

	
�
������
R′′ 	
��� ����� �� ������� �� ��
 ������ �� 
"
�������� ��%���� �� ����� �

R
!

 �

�� � ����

�
v1

$ �� �
(�%��� ���
 �� ����� ���	� �� 
"� �� �
R′ ! � ����

�

v2
���������

� �� ����

�
v1

�� ����� ! ���
 �� ����	��
� �� �� ��	����� �� ����� $ ��� 
"� �� 
��� �
�	
 ��(� 	
��� �(��� ��� ����

�

v3
 �� � �
"
�������� ���
"��� ��

R′′ $
4
��
�
 � ��� ��

�
� �� ���
���

Λ
���
 �� 	�
 %������ � ���� ����
)
�� ���
� �� &
����:

�
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β =

(β1, β2, β3) = v/c
,
γ = 1/

√
1 − β2

,
β = |β| , ��
�


Λ(β) =




γ −γβ1 −γβ2 −γβ3

−γβ1 1 +
(γ−1)β2

1

β2

(γ−1)β1β2

β2

(γ−1)β1β3

β2

−γβ2
(γ−1)β1β2

β2 1 +
(γ−1)β2

2

β2

(γ−1)β2β3

β2

−γβ3
(γ−1)β1β3

β2

(γ−1)β2β3

β2 1 +
(γ−1)β2

3

β2



.
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a′µ = (Λ−1)ν
µaν .
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aµgµνb
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"����� � ����������

aµaµ
$

&�  ��� ���  

����� �� �� ������� ��� ��
������� 
�� ��� �� 	
������	� ��
 �
 �
  +(
����

�� ��  �
 	
�)
���� �	� ���	 ��  �
 ����� �� 	
������	� ��
 ��������	����
 , �� 
 ��%�� ��
���� 	
�	� �
 ��8�����
 ���  
����� �� � 	�� �
� !, 	 ��
�������� �� �����
 %������ �� � 	��
)
�� � ���
 �
�
 ��
 ��)��������
 $ &� )
�����
�� ��
 ��������	����
 �
�  ����	� ��'��� ���
"��� ��� ��  
�� ��	���� 	�
  �
 �����
 	
��������
 $ *� �8�� , �� 
�2 �� ��
�
 � ��� ��� ��
��
 �
�
  +(
����
 	
��� �%�����
 ����� ��������	����
 $ ( ����� � ����� 
�����
� , ��  ��
�
 ��
)
�� � 	
�������� ��
 ������
�
 �� � ����	��
�(��� ���� �� ������� ��� ��
������� $



� �� � �� �
�����
������ �� ��
�� �� �+�

D��� 
  � E �� ��-��� �� � �1'�-!�$! ' �0 '��$  ��
{Jµ(x)}3

µ=0 = (ρ(x, t), j(x, t)),
�� $�+ !
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ρ
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 ��
j
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{Aµ(x)}3

µ=0 = (ψ(x, t), cA(x, t)),
�� $� �!
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ψ
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χ(x, t)
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 ��� $'��&/ 0'� �$�0� 1! 
 � 2 ! 
 ��	���

Ãµ = Aµ + ∂µχ(x, t).
�� $��!

*�  ����	����� , �� 
 � 2 ! 1! �0'!�$�  ���� �� )
�� �
∂µAµ = 0.

�� $�� !
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F
 ��

Fµν = ∂µAν − ∂νAµ = −Fνµ.
�� $�� !
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 �� �$�0�& 1! � �;� !" " 
 ��	������ ��
�

∂µFµν =

1

ε0
Jν ,

�� $��!
∂λFµν + ∂µFνλ + ∂νFλµ = 0, ∀λ, µ, ν = 0, . . . , 3.
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&� ��
���	� ��-����
�� ���
(ds)2

����� ���� ������ ���
 �
�
(ds)2 = c2(dt)2 − (dx)2.

�� $�3!
� � ������

dt
��  

���
� �� ��  ����	��� 	+��%��� ��

dx = udt
, �
�	 � �* � $ �� $�3! �������

(ds)2 = c2(dt)2(1 − β2),
�� $�* !


�
β = |u|/c $ 9�� ��-����
� �� ��)�������� ���%���

R
′ , ��  ����	��� �
� �� �� 

 � � �
��% ���

�
�	
dx′ = 0

��
dt′ = dτ

$ &� ��
���	� ����� ���� ������ ���
 ����� �� ��������� , 
� �
c2(dτ)2 = c2(dt)2(1 − β2)

=⇒ dτ = dt
√

1 − β2

︸ ︷︷ ︸
=1/γ

.
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u(t)
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R′

$

� �������� � �� �� 1�. ��$ "! ��%1$&	' #'�$ �!C&#&!" �0�$'�-�'���$ xµ B �'
x(τ) = (ct(τ),x(t(τ))).

�� $�+!
� �������� � �# �� 1�. ��$ "! ��%1$&	' #'�$ 	&#'CC' �0�$'�-�'���$ uµ

�0�� ! "� 1�'�-�!B �' '�BB 0'$ � $!�B & B '0B '! 1 � �1'�-!�$! ' B 0&�$�0� �

u =
d

dτ
x(τ)

(4.50)
=

(
c
dt(τ)

dτ
,
dx(t(τ))

dτ

)
=

dt(τ)

dτ︸ ︷︷ ︸
(4.49)

= γ

(
c,

dx(t)

dt

)
= γ(c,v).

�� $� �!

� �������� � �	� �� 1�. ��$ "! ��%1$&	' #'�$ %  3)3$%#&!" �0�$'�-�'���$ aµ �0�� ! "�
1�'�-�! B �' '�BB 0'$ � $!�B & B '0B '! 1 � �1'�-!�$! ' - �$!&&! �

a =
du

dτ

(4.51)
=

(
c
dγ

dτ
,v

dγ

dτ
+ γ

dv(t(τ))

dτ

)
=

dt(τ)

dτ︸ ︷︷ ︸
(4.49)

= γ

(
c
dγ

dt
,v

dγ

dt
+ γ

dv(t)

dt︸ ︷︷ ︸
= a

)
= γ4(β|a|,a),

�� $��!04 0� � / ��$  &�2 ! 1! "� '!"�$�0� dγ/dt = γ3β|a|/c 5
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L′ = γL,

�� $��!
� �
�

L′ ≥ L
	��

γ ≥ 1
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�	� ������� �
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F = dp/dt = m du/dt
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m
�
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u


� ����

�  �� ��  
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m0
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R

!  ��
m = γm0.

�� $�)!
&� �������� �� �
���� ��� ������ �
�	

p = γm0u.
�� $�3!
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δE
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F = dp/dt
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��� ����

�

u
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���

dl = udt
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δE = F · dl =
dp

dt
· udt = u · dp. �� $�*!

�� �����
  � �� � ��"�� �� ��
��� �� � �*� $ �� $�*!  
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"��� ��
δE = m0γu · du +m0u

2dγ,
�� $�$!

��� ���	 �� ������
�
dγ = γ3u · du/c2 �������

δE = m0c
2dγ.
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E = mc2.
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� �������� � �		 0 0�$ E = γm0c

2
" :��!'2 �! $0$�"! 1 : �! B �'$�� "!, p = γm0u

&0� ��B  "�&�0� , �"0'& 0� 1�. ��$ "! ��%1$&	' #'�$ 3"'$8&'�&+�� )C&!" �0�$'�-�'���$ Pµ B �'
P = (E, cp).

�� $)�!
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���! E
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 �� ��� ��� ��#�
������ |u| � c

, �� �����
  �� ��� �� /�(�
� �� ��������	����
����%����� ��
�
� ���
�� �� |u|/c = 0

�
��� .

P =
(
m0c

2 + 1
2m0|u|2,m0u

)
+ O(|u|3). �� $)� !
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E0 = m0c
2
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T = (γ−1)m0c
2 = m0|u|2/2+O(|u|3) �
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  �� ���
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�
� 	��

���� $
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P
�� � ���� .

P 2 = PµPµ = PµgµνP
ν = E2 − c2|p|2. �� $)� !
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R′ ����	+� � ��  ����	��� , �� �
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P ′2 = E2

0 = m2
0c

4.
�� $)�!

P
����� �� ��������	���� , ��
�
  �� ��-����
�

P 2 �
� �� ��������� $ ��  ��� �
�	
�%���� ��
 �
�� �
 �� $)� ! �� �� $)�! .

E2 − c2|p|2 = m2
0c
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�� ���  ����	��� �� � �
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�
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�����'�� ������
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E = c|p|. �� $)3!
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P

(4.62)
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c

d

dt
(E, cp) =

(1

c

dE

dt
,

dp

dt︸︷︷︸
=F

)
=

(
1

c

dE

dt
,F

)
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Fµ =
dpµ

dt
.

�� $3+!
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µ = 1, . . . , 3
� �*� $ �� $3+ ! �
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dp/dt = F
, 
� �� � �

� �� �� 
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2)/dt
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Fµ = dpµ/dτ
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 �� ����������� $ �� ������ , ���
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F + γF

$ *� �8�� , 
� �
�� ��
�
 ������������� �� �����
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d/dτ = γd/dt
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�
�
 � ����  ����	��� �� � �
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ê1

���	 ����

�
v0

$ �� ��� �� 

� ��
t = 0

��� )
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F = (F1, F2)

�	) $ 1 �% $ � $� ! $ ��  ��� ��
�
 �
����� �� � �*� $ �� $3+! ��� 

� �		�������
� ��
t = 0

�
�
(
a1

a2

)
=

1

m0γ

(
γ−2F1

F2

)
,

�� $3�!

�

a = (a1, a2) = dv/dt
�
� � ��		�������
� �� ��  ����	� �� ��

γ = (1 − v2
0/c

2)−1/2 $

m0

a1

a2

F1

F2

v0ψ

θ

a

F

ê1

ê2

��� � � $� % 1
�	� �� �		�������
� ������� �
��
 $
��  ��� ��
���� � ���%��

θ
�����

F
��

a
$ �
���

tgψ = F2/F1
��

tg(ψ + θ) = a2/a1
,

��
�

θ = arctg

(
a2

a1

)
− arctg

(
F2

F1

)
.

�� $3�!
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����� � �*� $ �� $3�! ���
 �� $3�! �� � ����

θ = arctg

(
γ2F2

F1

)
− arctg

(
F2

F1

)
.

�� $3�!
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γ > 1
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θ > 0
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, � �* � $ �� $3�! �
���
θ = 4 × 10−9
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S =

∫ t2

t1

dt L.
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 ��
γ

 �� �� ������
�
dt = γdτ

.

S =

∫ τ2

τ1

dτ γL.
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S
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uµuµ = uµgµνu
ν =

γ2(c2 − |v|2) = c2
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L = − 1

γ
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2 1
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� ��%���%��� �
�

L = − 1

γ
m0c

2 − V (q), γ = (1 − β2)−1, β = |q̇|/c. �� $*� !
4�  ��
 , �
�
 ���
�
 �� ���

pi =
∂L

∂q̇i
=

m0q̇
i

√
1 − β2

= m0γq̇
i.

�� $*�!
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���

�
 �� ����
)
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L
�� )�(
� 
�� ������ �� 	�
 	��

���� .

H(q,p, t) =

3∑

i=1

q̇i(p)pi − L(q, q̇(p)).
�� $*)!



� �� � � ����
���� �������� �����
∗ ���

� ����
��� ��
 *�
 $ �� $*� ! �� �� $*�! ���
 �� $*) ! �� � ����

H =

3∑

i=1

m0γq̇
iq̇i +m0

1

γ
c2

︸︷︷︸
=γ(c2−q̇2)

+V (q) = m0γc
2 + V (q) = T + Ṽ ,

�� $*3!
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2(γ − 1),
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Ṽ = m0c

2 + V (q).
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T 2 = c2|p|2 +m0c
4,

�� $$+ !
� �
�

H(q,p, t) =

(
c2

3∑

i=1

(pi)2 +m2
0c

4

)1/2

+ V (q),
�� $$ �!
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q̇i =
∂H

∂pi
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ṗi = −∂H
∂qi

.
�� $$�" !
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L = − 1

γ
m0c

2 + qA · q̇ − eφ.
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�
pi = mq̇i + eAi

�� �� � �* � $ �� $$+ !
T 2 = (p − eA)2 +m0c

2,
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� �
�
H(q,p, t) =

(
c2(p − eA)2 +m2

0c
4
)1/2

+ eφ.
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d
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(m0γq̇) = e (q × B + E) ,
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B = ∇ × A
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E = −∂tA − ∇φ
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x0
i
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i
, ��

xi(t)

�  

���
� �� ��� 


t
$ 0
�
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qi(t) = xi(t) − x0
i
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�
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  ����	���

��� ������ ���
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q0(t) = qN+1(t) = 0
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m m m

a

qi−1 qi qi+1

ê1
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qi
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a
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T =
1

2
m

N∑

i=1

ẋ2
i =

1

2
m

N∑

i=1

q̇2i .
�� $�!

9
�� ��
���� � �����%��  
��������� , 
� 	
�
���� ��� �� �
�%���� �� ��


��
i
�� �� 

 �
�

L0
i = a = x0

i+1 − x0
i
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t
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Li(t) = xi+1(t) − xi(t)
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� �	���

� � �������"�� �� ��� 

t
�
�

∆Li(t) = Li(t) − L0
i = xi+1(t) − x0

i+1 − xi(t) + x0
i = qi+1(t) − qi(t).

�� $�!
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F
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Li(t)
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qi(t) = 0
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qi+1(t) > 0
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i
.

Vi =
1

2
k (qi+1 − qi)

2
.
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(
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V =
1

2
k

N∑

i=0

(qi+1 − qi)
2
.
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4�
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 ��	���

L(q, q̇) =
1

2
m

N∑

i=0

q̇2i − 1

2
k

N∑

i=0

(qi+1 − qi)
2
.
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�
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∂L

∂q̇j
= mq̇j ,

�� $)!

∂L

∂qj
= −k

N∑

i=0

(qi+1 − qi)
∂

∂qj
(qi+1 − qi)

︸ ︷︷ ︸
= δj,i+1−δji

= −k (qj − qj−1) + k (qj+1 − qj)

= k (qj−1 − 2qj + qj+1) .
�� $3!
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m

a
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F = E∆L/L
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q̈i − ka

qi−1 − 2qi + qi+1

a2
= 0, i = 1, . . . , N.
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 ��

qi = q(x = ia)
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.

L =

∫
dxL (q(x),∇xq, ∂tq,x, t) .
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ρ
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∂q

∂t

)2

− 1

2
ρu2
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L = L

(
q,
∂q

∂x
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∂q

∂t
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)
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δI = δ

∫ t2

t1

dt

∫ x2

x1

dxL

(
q,
∂q

∂x
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∂q

∂t
, x, t

)
= 0.
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q(x, t, λ) = q(x, t) + λη(x, t),
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dI

dλ
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dt
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dx
dL

dλ
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dt
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dx

(
∂L

∂q

∂q

∂λ
+
∂L

∂ dq
dt

∂q
∂t

∂λ
+
∂L

∂ ∂q
∂x

dq
dx

∂λ

)
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∫ t2

t1

dt
∂L

∂ ∂q
∂t

∂q
∂t

∂λ
= −

∫ t2

t1

dt
d

dt

(
∂L

∂ ∂q
∂t

)
∂q

∂λ
,
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∂λ
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dt
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[
∂L

∂q
− d

dt

(
∂L

∂ ∂q
∂t

)
− d

dx

(
∂L

∂ ∂q
∂x

)]
∂q

∂λ

∣∣∣∣∣
λ=0

= 0.
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d

dt

(
∂L

∂ ∂q
∂t

)
+

d

dx
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∂L

∂ ∂q
∂x

)
− ∂L

∂q
= 0.
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∂ ∂q
∂t

= ρ
∂q

∂t
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 �� .���� �� 

��  �
 ����
)
�� �  ��� 	
������ � �� �
������  +��
� '��
 ��� � ��  �����
� �� 
���	����
 ��

� �����
 ,
 �� ���� �� ���
 � ��8�� 6�(���%+�7����� ��  �����
� �� �
������ 	
���	��)
! $ &� ��
	�� �
��
� �� 	�
  +��
� '��
  ��� 	��� ��'
 	
� ���� $ 4��
 � ��� 

� �� � 
��� , �
�
 ���
�
 �
�	
��%��%�� 	�
 �8��
 �+��� ����
 $ ��� ����� �  �
� �� ���
� 

����� �����
�� �
� 	���� �� �  �1!���0�B '!&&�3"!, +( 
�+'
� ��������  
�� " ���	
� �� �������
 $ 0
�
 ����
�
 ��� � ��  ���
	���
� ��
 �
 �
 �� 0�#�
� � �� ���
 
(
�'� �
 	
����� � � �������
� , ���� �� � �- �!'�0 $0� !& $5� �� .� ��� �
� 
�  

� ��	
� ��

�" �� �� �� � ��"
��	� �� )
�	�
 �
��� ����
 , 	���� ������
�

 ��	���

∂v

∂t
+ (v · ∇)v = −1

ρ
∇p+ ν4v,

�� $�3!

�

ν
�
� �  ��� 	
�2 	���� �� - �&�0&�$� ��� �� �$�� ! , �� v = v(x, t)

$ ����� ������
� �
�
�������� ��� �������
  ��������
 ��	��� �� ��
��"�� ��'
 ����� � ��	
���� ���
 , �� �  ������
	��� 	
� ����
 , 	
���  �� ���� �� ���
 �� 	�
 �� �� $ '3 "!� �!$

� �� ���+��- ,- � �������/��� �������- ��+��+� -
� �� �
 ������ �������� �� ������� ��� ��������

5
�� �� �
��� �
Λ ⊂ �3 , 

�� �
 � ��
 )
�	�
 ����������

Fα
,
α ≥ 1

$ �
�
����
�
 ��
 
���

x ∈ Λ
�� ��� 
��)�	� �� 	
� ���

S
 �

���  ��

x
, � �������� �� 
��)�	� ��-����
�� ��

dσ
, �� 
� �����

Λ
�� ����  �����


Λ = Λ1 ∪ Λ2
$ *����
�
 �� 
(
�'� �  �� ���� �� ��



��� ���� � �
� � � �� ��� ���� ��� ����� �� ��� ��� �� � � ����
������

 �����
Λ2

$ 9
�� � ��������
Λ1

���
 �� � 	�� ���� �� �
���� ��� ��� �� �
���� ����� ��

� �����
� � �� ���� �� � �������"��! , 
� �
�� �  ������ 
�� �� 
��)�	� �� 	
� ��� ��
 )
�	�

�  ����
 / 0'�!& ��$!'�!& $ 9
�� 	�	� �� )����� �  ������ �� )
�	�

dFS

�� � �������� �� 
��)�	�

dσ = (dσ1, dσ2, dσ3)
�	) $ 1 �% $ � $� ! $

ê1

ê2

ê3

Λ1

Λ2

x

S

dσ

dFS
F1

F2 F3

F4

F5F6

��� � � $� % 1
�	�
 �������
 $
�
�
����
�
 �  ��
��� � ����� ��� �� 
��)�	� 
������ 
��
�

ê3
, ��
�
 �� )
�	� ������� 
 �� �

 ������� 
�� 	���� 
��)�	� 
 ��	���
dF3

S = (dFS
(3)
1 , FS

(3)
2 , FS

(3)
3 )

$ 4� � 	�� , ���
 �� 	�

%������

dFi
S = (dFS

(i)
1 , FS

(i)
2 , FS

(i)
3 )

�
� �� )
�	� ������� 
�� � ����� ��� �� 
��)�	� 
������

��
�

êi
, 
� �
�	

FS
i
j

�
� �� 	
� 

����
j
�� �� )
�	� �� 
��)�	� ����	�� 
�� �� ���� ���

�� 
��)�	� 
������ 
��
�
êi

$
� �������� � �	 �� 1�. ��$ "! #'"C'�$ 1'C  !"#$%&" #'C <0 1!& #'"C&!"C? τ i

j(x) B �'

τ i
j(x) =

dFS
(i)
j (x)

dσi(x)
.

�� $�*!
&� 1�% $ � $� ����
��� �� ��	
� 

���
� ��

dF3
S

$
�� �
�� �
�	 �� 	���� -%��� ���

dFS
3
j = τ3

jdσ3
, 	� ��� �
� �� 	�
  ����	�����

i = 3�� � �*� $ �� $�*! $ 6�� ����
�
 ��� �� � ������� ����� ��	�������� , ��  

���
� ��
 ����	�
 ��

���
���
 � ��  �
 � ��� 
����	� �
�	

τ i
j = τ j

i = τij = τ ij
$ 4�  ��
 ,

τ
� ��
�  �
 ���	��� ���

�� ���
��� � ��
 ��� ���
��� ���

������ �
� ���
��� �� �( � ���
��� , 	) $ ������ ( $*! $&
�
���
i = j

��
 	
��������
 

�� �
�� ���
 , �����
 ��� 
�
i 6= j

����
 

�� ���%��������
 $ &�
	
�������� � �
�	 ��
 �����
 � ���� )
�	�  �� ����� �� 
��)�	� $ 5� �  ��
��� 
� �
��

dFS,j�� )
�	� ��-����
�� ��� �
���� ���
 �� ����	��
�
êj

, ��
�
 �� � �* � $ �� $�* ! .

dFSj =

3∑

i=1

dFS
(i)
j = τ i

jdσi,
�� $�$!


� 
� ��
 �� �� 	
������
� �� * ��
���� 
��
� �������� �� ( � 

�����
� 
�� ��
 ����	�

�� ���
 $ *� �8�� , �� )
�	� �
���� ���
 �� ����	��
�

êj

 �
"����� �� 

����� 
�� �
���
 ��




� �� � ��� �
�� �� � ��������� �� ������
� ����
��� ���

ê1

ê2

ê3

τ32dσ3

τ31dσ3

τ33dσ3

dF3
S

��� � � $� % 4�	
� 

���
�  �� ��
 	
��������
 �� �� )
�	� �� 
��)�	� $


��)�	�
 
�������
 
��
�
êi

��
 	
� 

����
 �� �� )
�	� ���
 �� ����	��
�
êj

$ &� )
�	� �
����
���
 �� ����	��
�

êj
�
� �
�	 .

dFSj =

3∑

i=1

dFS
i
j

(5.28)
=

3∑

i=1

τ i
jdσi,

�� $�+ !
	� ��� ���
��� "��� � �* � $ �� $�$ ! $

� �� �� 
��� �� ���� � �A�� ������
�� 	
�
��'�� �� ������� �� �
��� � ���
 �� 	
� 
 ������ , �� �� ��� � ��
 	
�����
�


� �������"�� 
��
� ��
������
 �� 

��� ��
 )
�	�
 ���
� ��� �� 

��� ��
 �
����
 

��
�����
 $

� �� �� �	 ��
��!
*� ��� 
�
 ���
 ��  ��� ��� ��� 
 �� 	
�����
� � �������"�� �
 	�� ��
 )
�	�
 $ 9
�� 	�	� ,

����
���

�
 �� ���
��� �
��� ���� �� )
�	�
 �� �
��� �
f(x)

$ 5
��
FV (x)

�� ��
������� ��

)
�	�
 �
��� ����
 ��  
���

x
, ��
�


dFV (x) = f(x)dx.
�� $� �!

4� � 	��  
�� ��
 )
�	�
 �� 
��)�	� , 
�
dFSi(x)

�
� �� ��
������� ��
 )
�	�
 �� 
��)�	� ���

�� ����	��
�

i
, �
�
 ��
�
 �� �� � �*� $ �� $�$! ���

dFSi = τ j
idσj .

�� $��!
&� 	
�����
� � ���� ���"�� 
 ���
�	� 	
��� � ��%����� ��� 
�%��  �'
! ����� �� ��
� ������ ��

)
�	�
 �� 
��)�	�

FS
�� ��
 )
�	�
 �� �
��� �

FV
��� 
 �����	��� 
�� �� �
���� �� 
��)�	�

)��� ��
S

�	) $ 1 �% $ � $)! $
( ��
� , � ��	������ �� ��	��� �� �� �� ����� �� �� 

��� ��
 )
�	�
 
�� �� �
���� �� 	
���� ��

V
�� 
��)�	�

S
�
� .

∫

V

dFV +

∫

S

dFS = 0,
�� $�� !



��� ���� � �
� � � �� ��� ���� ��� ����� �� ��� ��� �� � � ����
������

ê1

ê2

ê3

τ21

τ23

τ22

τ32

τ12

FS
2

f2(r) f2(r)

V

S

��� � � $) % �
�����
� � �������"�� ��
 )
�	�
 $

	� �� �  
�� �� 	
� 

����
i
� � ����� �� � �* � $ �� $��! �� �� �+�
�'�� �� �� �����%��	� � ��)
�


��

� �  ��� �+�
�'� � � �� 
��
%���
, �! �������
∫

V

dFV i(x)

︸ ︷︷ ︸
(5.31)

= �
V

dxfi(x)

= −
∫

S

dσjτ
j
i(x) = −

∫

V

dx ∂jτ
j
i(x).

�� $�� !

��	� ����� ����  
�� �
�� �
��� �
V
, 
� �"
���� � �� )
�� � �
	��� �� �� 	
�����
� � ������

��"�� .
fi(x) = −∂jτ

j
i(x), i = 1, . . . , 3.

�� $��!
�� �
�  


�"�� �� %�������
�� 	���� 	
�����
� � �������"�� � �� �(��� ���� �	
��� �
�


�� ����
�
 � �
����� ���
 �� 5�	� $ � $* $�! �� �����
��� ��  ���	� � �� � �( ���"��� $ 4��
 	�
	�
 , 
� 	
�
��'�� �� 
(
�'�� �(��� ���� � � �������"�� 
 ��� �
� 

�� �
 � �� )
�	� −ṗi(x)

, 
�
p(x)

�
� �� ���
��� � ��� ��
�
� $ ( ��
� � �*� $ �� $��! ��
�� ����" �� �� ��� ��(���
fi(x)

 ��
fi(x) − ṗi(x)

$

� �� �� �� � �� ���!
& ������ 	
�����
� � �������"�� 	
�	���� ��
 � 
����
 ��
 )
�	�
 �� �  
�� 	
�
�����	�

�� ��
����� 
������ $
��� � � � �	 �! $!�&! ' 1!& $!�&�0�& !&$ &#� �$'�� ! ��

τij = τji
5

� 
���� E &�  ����� 
� �����
� �� �����
  ��� �� 	
�����
� � �������"�� ��
 �
����
 
�� ��
�
��� �

V
�� 
��)�	�

S
$ 5
����

MV
��
 � 
����
 �

�
 ��
 )
�	�
 �� �
��� � , ��

MS
	���


 �����(��� 
�� �� 
��)�	� , ��
�

∫

V

dMV +

∫

S

dMS = 0.
�� $�)!

��� ����� � ��� ���� � 	� �
 ������ �	 �� ������ � ��� ���� 	� � ��� ������ ��	 
� ��
� ��� 	
���	�
���
���� �� ��
������ �
� �� ��� �� �



� �� � ��� �
�� �� � ��������� �� ������
� ����
��� ���
4� � �*� $ �� $� �! 
� �

dMV = x × dFV
(5.31)
= x × f(x)dx.

�� $�3!
4� � �*� $ �� $��! 
� �

dMS = x × dFS
(5.32)
= x ×

3∑

i,j=1

êiτ
j
idσj .

�� $�* !

�� ��-��� �� &#� 30"! 1 :��$�&#� �$'�! � ��)
�
 ��

� �  ��� &#� 30"! 1! �!-����- �$� !

εijk =






0

� ���� ����	�
 

�� ���������


,

1

�

(i, j, k) = {(1, 2, 3), (2, 3, 1), (3, 1, 2)} ,

−1

�

(i, j, k) = {(3, 2, 1), (1, 3, 2), (2, 1, 3)} .

�� $�$ !

��  ��� ��
�
 ����-�� ��� 
�
a
,
b ∈ � 3 , ��
�
 ��  �
���� ��	�
���� ��

a
��

b

 ��	���

a× b =

3∑

i,j,k=1

εijk êiajbk.
�� $�+ !

( ��
� ��
 *�
 $ �� $�3! �� �� $�*! 
 ��	������

dMV =

3∑

i,j,k=1

εijk êixjfkdx,
�� $� �!

dMS =

3∑

i,j,k,l=1

εijk êixjτ
l
kdσl.

�� $��!

&� 	
�����
� � �������"�� ��
 �
����
 �� $�)! �������
3∑

i,j,k=1

εijk êi

∫

V

dxxjfk +

3∑

i,j,k,l=1

εijk êi

∫

S

dσl xjτ
l
k = 0.

�� $�� !

&� �+�
�'� � �� �� �����%��	� )
��� ��
3∑

i,j,k,l=1

εijk êi

∫

S

dσl xjτ
l
k =

3∑

i,j,k,l=1

εijkêi

∫

V

dx
∂

∂xl

(
xjτ

l
k

)

=

3∑

i,j,k,l=1

εijkêi

∫

V

dx
(
xj∂lτ

l
k + τ l

kδjl

)
.

�� $�� !

� � �� 	
�����
� � ���� ���"�� �� $��! 
 ��	���
∂lτ

l
k = −fk

, ��� ���
 � �*� $ �� $�� ! �
���
3∑

i,j,k,l=1

εijk êi

∫

S

dσl xjτ
l
k =

3∑

i,j,k=1

εijk êi

∫

V

dx
(
−xjfk + τ j

k

)
.

�� $��!

��
����� � �*� $ �� $��! ���
 �� $��! �� �����
3∑

i,j,k=1

εijk êi

∫

V

dx
(
xjfk − xjfk + τ j

k

)
= 0

=⇒
3∑

i,j,k=1

εijk êi

∫

V

dx τ j
k = 0.

�� $�) !



��) ���� � �
� � � �� ��� ���� ��� ����� �� ��� ��� �� � � ����
������

����� ������
� ����� ����"��  
�� �
�� �
��� �
V
, �� )
�� � �
 	��� �
�

3∑

i,j,k=1

εijk êiτ
j
k = 0.

�� $�3!

� ����
��� �� ��-����
� �� $�$! ��
εijk

, ��
 
����
 ������
�
 �
� �����
 )
�����
  �� � �*� $ �� $�3!

��

ε312ê3τ
1
2 + ε321ê3τ

2
1 = 0,

�� $�*!
ε213ê2τ

1
3 + ε231ê2τ

3
1 = 0,

�� $�$!
ε123ê1τ

2
3 + ε132ê1τ

3
2 = 0,

�� $�+!
	� ���  �� �� $�$! �� �����

τ1
2 = τ2

1,
�� $� �!

τ1
3 = τ3

1,
�� $��!

τ2
3 = τ3

2.
�� $��!

&� ���
��� ��
 	
��������
 �
� �
�	 
(� ������� , 	� ��� �	+'�� ��  ����� $
�

� �� �� �� ������� ��� �A����������
�� 

���� ����)
���"�� �
� 	���	����
�  �� ��
 ��
���	�
 	
�
�����
 ����� �
���  ����

��  
���
 $ &
�
�� ��� ( � ��)
�� ���
� , 	�	� � ��
�  ��
 �� 	�
 �� �� � 
���� ��� ��  ��
 %������

� ��	
� 

� �� ��� ����
����
� , ��� �
����
� , �� ��� ��)
�� ���
� $ 0
�
 ���
�
 �� � 
�����
�� ��	���� ��� $

�
�
����
�
 ����  
���

A = (x1, x2, x3) = x

��
B = (x1+h1, x2+h2, x3+h3) = x+h

,

�

x = (x1, x2, x3)
��

h = (h1, h2, h3)
, �� �
�	

AB = h
$ &� ��)
�� ���
� �� 
(
�'� � �
�

��	����  �� �� 	+�� �� �� ��	�����
s(x)

��� �� '��
A

��
A′ = x′

��
B

��
B′

�	) $ 1�% $ � $3! $

ê1

ê2

ê3

x′

x

x + AB

A

B

A′
B′

s(x) s(x + AB)

��� � � $3 % 4�	
� 

���
� �� �
������� $



� �� � ��� �
�� �� � ��������� �� ������
� ����
��� ��3
��  ��� �����
  �� �� �� ��	�� ��� ��

B
�� 
���� �� /�(�
� ���
�� �� �� ��	�� ��� ��

A
.

s(x + h)︸ ︷︷ ︸
= s(B)

= s(x)︸︷︷︸
= s(A)

+ [(x + h − x) · ∇] s + O(h2) = s(x) +
3∑

i=1

∂s

∂xi
hi + O(h2).

�� $�� !

4 ������  ��� , 
� �  
�� �� 	
� 

����
j
�� �� ��	�� ���

∂sj

∂xi
=

1

2

(
∂sj

∂xi
− ∂si

∂xj

)
+

1

2

(
∂sj

∂xi
+
∂si

∂xj

)
.

�� $��!
��
����� � �*� $ �� $��! ���
 �� $�� ! ��� � �
� ���	���  
�� �� 	
� 

����

sj
�� � ����

sj(B) = sj(A) +
1

2

3∑

i=1

(
∂sj

∂xi
− ∂si

∂xj

)
hi

︸ ︷︷ ︸
= [(∇×s)×AB]j

+

3∑

i=1

1

2

(
∂sj

∂xi
+
∂si

∂xj

)
hi

︸ ︷︷ ︸
+ sDj

+O(h2),
�� $�) !

��� � �
� �	��� ��	�
������� ���

s(B) = s(A) +
1

2
(∇ × s) × AB + sD.

�� $�3!
&�  ��� ��� �����

s(A)
�
� �


 	�� � ��� ����
����
� %�
"��� �� 

���� , �� 
�	
��

(∇× s)×
AB

� ��� �
����
� �	�	� 
���  ��
 	���� �
�
 �� � ����"��

����� �� ���
��� ��
 ����

�
 ��
��)
�����
� , 	) $ 5�	� $ � $3 $�! , �� �� ���� ���

sD
� ��� ��)
�� ���
� $ ( ��
�

sD =

3∑

i,j=1

1

2

(
∂si

∂xj
+
∂sj

∂xi

)
hiêj .

�� $�* !

� �������� � �� �� 1�. ��$ "! #'"C'�$ 1'C 13� !$+ %#&!"C εij
B �'

εij =
1

2

(
∂si

∂xj
+
∂sj

∂xi

)
.

�� $�$ !

εij(x)
�
� �� 	+�� ���

���� $ �� �
� 	���� ��� �� ���
��� ��
 ��)
�� ���
�
 �
� 
(� �������

εij = εji
$ � ����
��� �� ��-����
� � $� , 
� �
�� ��� �� ��)
�� ���
� �� $�*!  ���� �� )
���

��������
sDi = εijhj .

�� $)+ !
������ �
� � ������ ������
� �� ���
��� ��
 ��)
�����
�
 � &�
 ���� �


εii = ∂si/∂xi�� ��
������ ��� �������
� �� �
�%���� �������� , 
� �" "0�2 !� !�$ &B ���. � ! $ *� �8�� , ��
� �*� $ �� $�� ! 
� ����

si(xi + hi) = si(xi) + hi
∂si

∂xi
+ O

(
h2

i

)
,

�� $) �!
� �
� �� ��%��%���� ��
 ���� �
 �
� ��������
 ��

hi

εii =
∂si

∂xi

(5.61)
=

si(xi + hi) − si(xi)

hi
.

�� $)�!
� � ��
 �
�%����
 ����� �� � �'
 ��)
�� ���
� ����� |AB| = h

�� |A′B′| = h′
��
 �	����� ��� ,


� ���� �	) $ 1�% $ � $*! .



��* ���� � �
� � � �� ��� ���� ��� ����� �� ��� ��� �� � � ����
������

O
ê1

h1

h′1

A(x1) B(x1 + h1)
A′ B′

δ1

s1(x1) s1(x1 + h1)

��� � � $* % ( ��
�%�� ��� 
 �	�-��� ������ ��
�
���� $

si(xi) = hi − δi,
�� $)��!

si(xi + hi) = h′i − δi.
�� $)�"!

��
����� ��
 *�
 $ �� $)�! ���
 �� $)�! �� � ����

εii =
∂si

∂xi
=
h′i − δi − (hi − δi)

hi
=
h′i − hi

hi
.

�� $)� !

5�
i 6= j

, ��
�

εij

��	��� �� ��&��" "!� !�$ $ *� �8�� , 	+
�
�


�
 �� ��	���%�� 
���� ���
 ��
 ��� {ê2, ê3}

, 	����� ��
A = A′ , �� 
�"�

��� ��� ��)
�� ���
� ����� ���

εii = 0
$ 9 ���
�
��  
���

B
���
 �� 	
�� 
� ������ ��
�� �� � �
"� �� �	) $ 1 �% $ � $$ ! $

ê2

ê3 x

A

B

A′

B′

γ3

γ2

h2

h3

��� � � $$ % 4�)
�����
� �� 	�
������ ��� ���
 ��
 ���� ����	��
�

ê2

��
ê3

$



� �� � ��� �
�� �� � ��������� �� ������
� ����
��� ��$
�� � ��
�


AB = h2ê2 + h3ê3
$ �
���

h1 = 0
, � �*� $ �� $�� ! )
��� ��

s(x + AB) = s(A)︸︷︷︸
= 0

+
3∑

i=1

∂s

∂xi
hi =




0
∂s2

∂x2
h2 + ∂s2

∂x3
h3

∂s3

∂x2
h2 + ∂s3

∂x3
h3


 .

�� $)�!

� � 	
���  �� +( 
�+'
�
εii = ∂si/∂xi = 0

, � �*� $ �� $)�! �������

s(x + AB) =




0

∂s2

∂x3
h3

∂s3

∂x2
h2



 .
�� $)) !

9�� 	
�
���	��
� %�
�������� 
� �

tg γ2 =
s2

h3 + s3
,

�� $)3�!

tg γ3 =
s3

h2 + s2
,

�� $)3" !
	� ��� )
�����

s2 = h3 tg γ2 +
h2 tg γ2

1 − tg γ2
(h2 tg γ3 + h3 tg γ2 tg γ3) ,

�� $)*�!
s3 = h2 tg γ3 + h3 tg γ2 tg γ3.

�� $)*" !
9
�� �� )��"��
 ��)
�� ���
�


γ2
��
γ3

���
� ��� |h|  ����
s2
h3

' tg γ2,
�� $)$�!

s3
h2

' tg γ3,
�� $)$" !

� �
�
∂s2
∂x3

h3 ' h3 tg γ2 ' h3γ2,
�� $3+�!

∂s3
∂x2

h2 ' h2 tg γ3 ' h2γ3.
�� $3+" !

( ��
�
ε23 =

1

2

(
∂s2
∂x3

+
∂s3
∂x2

)
(5.70)' γ2 + γ3

2
+
γ

2
,

�� $3�!

�

γ = γ2 + γ3
�
� ��� ��2 "! 1! ��&��" "!� !�$ $

� �� �� � �����A�A� �� ������� ��� �A����������
&� ���
��� ��
 ��)
�� ���
�
 ����� 
(� ������� ���� , ��
  ��� 	��� 
��+
%
����� ��� ����

%
����
� �	 ��
�������� �� ��� �� �
�� ��� "�
� �� ��	����
  �
 ��
 
��+
%
���� ! $ ��	� ��

�%��-�  �
 ��� 	�
 ���
���
 �� �� ������  ��
 ��� �� ��
�
 	
� 

����
 ���� �������

	�� �� ���� ��� � )���� �����
�� ��
�
  ���� '���
 �� ������ ��
 ���� ���
 �� ���
���  ��� ���)
 
�� ���%
����
�� 	� ���� ��� $ 9
�� ��
 ��)
�� ���
�
 ���)
�� �
 �� $� $, �� 	+�� ���

����
�
� 	
�
���� ���
 � ��
 �	�! , ��� 
���� "�
�  ��� ���%
����
�� 	�
 ���
���
  ���
�� ���
 ��
	
� 
 $ 9�� 	
���� , 	�	� � ��
�  ��
 �� 	�
  
�� ��� ��)
�� ���
� %�������  
�� �������� ��
"�
� �� ��	����
  �
 ��
 �
� �
 	��� $



��+ ���� � �
� � � �� ��� ���� ��� ����� �� ��� ��� �� � � ����
������

��� � � � �� 00�$  � -0" � ! 1! � !& '! V !$ ∆V
&� -�'��$�0� 1 ! �  �! 1�/ 0'� �$�0� ,�"0'& � B '!� �!' 0'1'! 1��& "! $!�&! ' 1!& 1�/ 0'� �$�0�& "� -�'��$�0� '!"�$�-! 1! -0" � !!&$ 10���! B �' "� $'��! 1 $!�&! ' 1!& 1�/ 0'� �$�0�& �

∆V

V
= Tr ε + O(ε2).

�� $3�!

� 
���� E �� �
��� � ����� ��)
�� ���
� �
�

V =

3∏

i=1

hi.
�� $3�!

( �'
 ��)
�� ���
� , �� ����
V ′ =

3∏

i=1

h′i,
�� $3� !


�
h′i



�� ��
 �
������
 ��� ��
�
�
 ��������
 �
����
  �� � �* � $ �� $)� !
h′i = hi(1 + εii).

�� $3�!
��
����� � �*� $ �� $3�! ���
 �� $3� ! �� � ����

V ′ =

3∏

i=1

hi(1 + εii) =

[
1 +

3∑

i=1

εii +
1

2

3∑

i6=j

εiiεjj +

3∏

i=1

εii

︸ ︷︷ ︸
=O(ε2)

] 3∏

i=1

hi.
�� $3)!

&� �������
� �� �
��� �
∆V

����� �
����  ��
∆V = V ′ − V

, ��
 *�
 $ �� $3� ! �� �� $3)!)
����

���
∆V

V
=

3∑

i=1

εii + O(ε2) = Tr ε + O(ε2),
�� $33!

	� ��� �
� �� ��
����� 	+��	+� ��  �� 	
�
������ �	+'�� ��  ����� $
�

*���� �
��� ��� �� �+�
��� �����
  �� �
� �������� , �� ����� � $�  ��� ��

� 
 ���
�	�� ."! -0" � ! 1 : � &0"�1! � :!&$ B �& � 01�. � B �'  �! 1�/ 0'� �$�0� &� !$ &! "!� !�$ &� Tr ε = 0
$

5� �� �
���� �� 

���� �� 	+��%�  �
 , 
���� 
� )
�� � �
� �
��-�� �� 
�  ���� ����&��" "!� !�$ $ 4 ��
 �� 	�
 	
������� 
� 
��� �� �
��� � 	+��%� 
�  ���� �� �0�B '!&&�0� ��/ 0'� ! $ /
��� ��)
�� ���
�  ��� 	��� �� ��
�����  �� �� 

��� � ��� 	�
��������� ��
� ���� 	
� ��

�
� ���)
�� � .

εij = εij −
1

3
δij Tr ε

︸ ︷︷ ︸
+ ε0

ij

+
1

3
δij Tr ε.

�� $3*!

*� �8�� ,
ε0ij

��� 
� ��-�� �
� �� ���	� ����� , �����
 ���
(1/3)δij Tr ε

�
�  ������� ���%
��� $

� �� �� � ������� ���A���� ����� @���������� �� �A����������
�� �
� � ��
�%� �
�
 �� � ������ �� 
(
�'� �
 ���	 ��


��
 �� 	+
�
�� ��
 )
�	�
 �� �� �

 �� +���
�����
 , 	 ��
�������� �
�� ��  
������� �
� ����������� $ ��	� � '�� � ��� )
�	�
 �
 
���
������ � �� ��)
�� ���
� $ �� 
 ��%�� "��� ������� � ���� ������
�  +��
���
�
%����



� �� � ��� �
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� ����
��� �� �
������� ��� ����"�� ���
 �� ��%�� � �������� ��
  �����
 ��)
�� ���
�
 $ �
��� ��
��� ���

�� 5�	� $ � $� , � ������ ��
 	
��" �
 �� ���	��
� ��
 ��8�����
 � �������� �
�
 ���
��%�� 
�� ��
�
����� �� �������� �� �� �
 � �������� $ 5� �� )
�	� �� �

� ��� 	������� ��� ��� , ��
�
 �  ��
���

��� ��
 �
� ���������
 �� ���
 �� 
�	
�� ��� 
 �� ��)
�� ���
� �������  ��
����� , 

��
�������
�"�� �� ���	 +(
���'
� $ 5� 
� 	
������ � ���%������ �� 	
�������� � � 
�� �� ��� ������
	������� , ��
�
 �� ( � �� ���� �� � ������� �	) $ 1 �% $ � $�+ ! $

τ

ε

τ

ε

τ

ε

��� � � $�+ % �
��"�
 �� ���	��
� �� ��8�����
 	
� 
�������
 $
� �	� ��� �� ����
� �������
�� �� ��� � ����� �
� �����	��� �	
��	�� ������	� �� �� �� ��� ����� �
� ��� �������
�	�

�� � �� ����� � � �	� ��� �� � 	�	�� ��
��� � ��� ����
�� �� 
�
 �	
���	��� ��	� � �	�������	� 	�	�� � ��
�	� ���
����� �� ���	�� 	������� �� ������� �� � ����	�� �

& ��� �����	� �
���� �� ���� ��)
�� ���
� ���
 ��� ����	��
� �
���� � ��
�  �
 )
�	�����
�� ��
� ���� � ���� 	
�������� ���
 	���� � 	�� ����	��
� $ ��  ���� ��
�
 � ����&0$'0B �! $ � ��
�
�
�	 �� )�(
� ��������� ��� �� )
�� � �������� ��  ��
 %������� ����� ��
 	
��������


τ
�� ��


��)
�����
�

ε
�
� �� �� )
�� �

τij(x) = C kl
ij (x)εkl(x).

�� $3$ !
4��
 �� 	�
 �

��
 � 
� ��� ����� ���

C kl
ij ∼ δ k

i δ
l

j

$ ��  ��� �����
��
 �
���� ���
� �
��-	���
� �� � �*� $ �� $3$ ! $ 5
��

u(x, ε)
�� ���
��� �
��� ���� � �����%�� ������� , )
�	��
�

�� ��  

���
� �� �� ���
��� ��
 ��)
�� ���
�
 $ 5�  

��� ��
 ��)
�� ���
�
  �����
 , 
�
�����
� �� �����
  �� ��� �� �� )
�� �

u(x, ε) = u0(x) + bij(x)εij(x) + cijkl(x)εij(x)εkl(x) + O(ε3).
�� $*+ !
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�� ��
 ���

�
 �� ��� ��
�
�
 �� 	
����	��
�
τijεij

	
���
 
�� � �� ������� � �	������ ��
�
�	 � �� ���� � � �����%�� , ��� 
�

τij(x) ' ∂u

∂εij

(5.80)
= bij(x) + c kl

ij (x)εkl(x) + O(ε2).
�� $* �!

5 ��� � �( �  �
 �� ��)
�� ���
� , ��
�

εij = τij = 0

, �� � �*� $ �� $* �! )
�����
bij(x) = 0 ∀i, j,x $

*�  �

��� �� 	
�
����� ��  �
 
���
������� �����
τij

��
∂u/∂εij

���
 ��
 	
�2 	����

c kl
ij

,
��� ���
� 
��
�� �
��


C kl
ij

, 
� 
"����� �� � �*� $ �� $* �! �� ������
� �� $3$! $ (�  ��� ���

���� , 
� 
�  

� ��

� ���

C
�� �� ���  �
 �� ��  

���
�

x
$ ��	� ������� � ���� ���

��
  �
 �����
 ���
�����
 ��
���� �� "
��� �  �
��� ���
� ��
 � 	��
 �� �
��  
��� ��
	
� 
 $ ����� +( 
�+'
� 
����� � �
� �� ��)��� 
�  �� ���� �� �� �� �
���� �� )
�� %������� ��
��� ������� $ �� ��� ��

C
�� ��� 
 ��%�� �� $!�&! ' 1!& � 01 "!& �"�&$�� !& $ ( �
����� , ��

�+�
��� ����� )
������ 
�� �� �
 �	� ��	������ , �� � ������� �
� � ��������� �� �
�	 ��  

���
�
�����	��� ��
 ����	�
 � ��  �
 � ���	����	� $

&� �+�
��� �����
  �� �	�  ������  ��	� ���
 �� �
 �	� �� ��� ��
�
� ��
�
 , �� ���
���
C

�� ���% �  


'��
34 = 81

	
� 

����
 $ � � 	
���
εij

��
τij



�� 
(��������
 , 
� ��
������ �� � �*� $ �� $3$! ���

Cijkl = Cijlk = Cjikl = Cjilk .
�� $*�!



��� ���� � �
� � � �� ��� ���� ��� ����� �� ��� ��� �� � � ����
������

4�  ��
 , 
�  ��� �
����� �� ��
 ���� �� �������%�� ��� � �����	�
 ��� ��)�
Cijkl = Cklij .

�� $*�!
�
���

Cijkl 6= Cikjl
�� ���
���

C
� ��
� �
���)
 �
  �
 �
����� ��� 
(� ������� $ � ����
��� ��


*�
 $ �� $*�! �� �� $*� ! 
�  ��� �
�� ��� �� �
�"�� �
��� �� 	
�2 	����
 ���� ������
 ���

�� 	�
 %������ �
�

21
$ 5��
� ��
  �
 �����
 �� 
(� ����� �� 	��
��� , 	� �
�"�� �
� ��	
��

������ $ & ������ �� � ��� �
�����
� �� 	�
 
(������
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� ,
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� � �6��0� ��$!'��$�0��"! 1! �'�&$�" "02 '�B 	 �! �� �� �
�� 
�� / �� �" "!& �'�&$�" "��!& ����	���
� ���� , �
�
	��� ���� , 
��+
�+
�"���� , �����%
��� , +���%
��� , 	�" ����! , ����
�:� '�&!� ;1! � '�-��& �	) $ 1 �% $ � $��! �� ����
 ����� 
� � &#&$��!& 1! � '�-��& , ����������� �"�&&!&�'�&$�" "�� !& �� �����
 ����� 
� � &#&$��!& �'�&$�" "��& $
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��� �������� ���

��
 � 
�
����
�� � ��)� $ &� 
������
� ��  ��
 
�� �� �
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�
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�
 �� ��� 	
� 
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������ ��� �� ��� ��
	
� ��

�
� ���)
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��� �����
�  
�� � �*� $ �� $3*! $ 1��

�
 �� � 	��  
�� �� ���
���
��
 ���
�
�
 .

εij = ε0ij +
1

3
δij Tr ε, ε0ij = εij −

1

3
δij Tr ε,

�� $*� !

τij = τ0
ij +

1

3
δij Tr τ , τ0

ij = τij −
1

3
δij Tr τ .

�� $*�!
9�� �

��
 �� , �� 	�
������ ��� �� �
��  �
 �� ����� �� �� ����	��
� , �
�	

τ0
ij = aε0ij , a ∈ �

, ∀i, j. �� $*)!
�� �� �
� �� � 	��  
�� �� 	
� ��

�
� ���)
�� � .

Tr τ = bTrε, b ∈ �
.

�� $*3!
*� ��� ��(��� ��
 *�
 $ �� $*)! �� �� $*3! ���
 �� $*�! �� � ����

τij = a︸︷︷︸
+2µ

εij +
b− a

3︸ ︷︷ ︸
+λ

δij Tr ε.
�� $**!

λ
��
µ
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µ
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��� � � � �0 00�$  �! �0�B '!&&�0�  ��/ 0'� ! 1! B '!&&�0� p , �"0'&
(
λ+

2

3
µ

)
Tr ε = −p. �� $*$!
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���� E ���
 �� 	�
 �� �� 	
� ��

�
� ���)
�� � , �� ���
��� ��
 	
��������
 �
�
τij = −pδij ,

�� $$+!

�
p = |F|/S �
� ��  ��

�
� ���)
�� � 
 �����(��� 
�� 	+���� 
��)�	� � �����

S
���	

F
�� )
�	� $

*� �8�� , ���
 	� 	�

dFS,i = −pdσi = −pδ j

i dσj
, �� � �*� $ �� $�$! �
��� −pδ j

i dσj = τ j
idσj

$
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 �� 	
�
�������
� �� 
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�� � �
 	���
−pδij = τij

)
����� �� ��
� ���� �� $$+! $ 4 ������  ��� ,  
�� ��� 	
� ��

�
� ���)
�� � ��

	
� 

����
 +
�
����%
����
 �� ���
��� ��
 	
��������
 ����� �����
 , � �* � $ �� $** ! )
�����

τij = 2µδijεij + λδij Tr ε.
�� $$ �!

&� 	
� ��

�
� ����� ���)
�� � , �� ��)
�� ���
� �������� ���
 	+���� ����	��
� �
� �� � 	��
� �
�

εii = εjj ∀i, j , ��
εii =

1

3
Tr ε.

�� $$�!
��
����� � �*� $ �� $$�! ���
 �� $$ �! , ��� � �
� �%��� ��
���� � �� $$+! , �� � ���� .

−pδij =

(
2

3
µ+ λ

)
δij Tr ε.

�� $$�!
����� �����'�� ������
� ����� �����  
�� �
��

i, j

�  ��� 
 ��8���	+�� �� 
(�"
�� �� 
 �
�

��	,�� , 	� ��� %��'�� � �*� $ �� $*$! ��  �� 	
�
������ �	+'�� ��  ����� $
�

� �� �� � ������ �� �� � �A��������� � ��� �������
�
�
����
�
 ��� "����  �������� � '����� �� ��� ��
�
�
 {a1, a2, a3}

, ��� ���� ������
� ���
 �� �������� 
� ����	� ��� ���	��
�

F
$ 5
�
 � ��	��
� �� �� ���	��
� , �� "������ 
 ����
�%�

�
�� �� %������ ��� )
���  �������� � '����� �	) $ 1 �% $ � $��! $

ê1

ê2

ê3

a3

a1

a2

−F F

��� � � $�� % /��	��
� 
�� �� "������ $
�
��� �� ( � ���	��
� 
�� �� 
��
 	�
������ ��� , ��
�
 ��
 ���� �
 �
� ���%
���� 

��

���
 .
εij = εiiδij

$ 4�  ��
 , �� ( � 
(� ����� �� �

��
 �� ��  �
"�'� � ���
 ��  ��� ��%�����
 �� {ê1, ê3}

�
�	
ε11 = ε33 + ε1

$ 0
�
�

ε22 + ε2

, ��
�
 �� ������
� �� $** ! )
�����
τ11 = τ33 = 2µε1 + λ(2ε1 + ε2),

�� $$��!
τ22 = 2µε2 + λ(2ε1 + ε2).

�� $$�"!
�� ����-� �� ��� � ��"
��	� �� )
�	�
 �
��� ����
 , �� 	
�����
� � �������"�� �� $��! �
� ��
��
" ��� ��� 
���
)���� .

−∂jτ
j
i(x) = fi = 0.

�� $$�!
&�
 	
�����
�
 ��� ������ ���
 �� �� "���� 
 ��	������ ���	 ��
 *�
 $ �� $$� !

2µε1 + λ(2ε1 + ε2) = 0,
�� $$)�!

2µε2 + λ(2ε1 + ε2) =
F

a1a3
.

�� $$)"!



� �� � ����
������ � �
 ��� ��
�� ������ �� ���
&� 

����
� �� 
(
�'� � �� $$)! �
� �
����  ��

ε1 = − λ

2(λ+ µ)︸ ︷︷ ︸
+ ν

ε2,
�� $$3�!

ε2 =
µ+ λ

µ(2µ+ 3λ)︸ ︷︷ ︸
+E−1

τ2, τ2 =
F

a1a3
.

�� $$3" !
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ν
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��

E ∼ 2× 1011
0 ��

2
, ��

ν ∈
[0.3, 0.5[

$ & �*� $ �� $$3"! �
��� �� "0� 1! � 00� ! �� �� ���	��
� 
�� �� , 

��
τ = Eε

, 	 ��
��������
��� � ���
�%���
� �
�  �
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������ � �� 	
�������� , 
� �� 	
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�������
�
� �
���  �� �� �
���� �� �
��% $

�
����

���
ε
�� �����
��� �� ��-����
� �� ���
��� ��
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εij = (∂isj +∂jsi)/2
,

 �� ����%����
� 
� ��
��� ��
 �� ��	�� ���
 .

s(x) =
τ2
E



−νx1

x2

−νx3


 ,

�� $$* !

���	
τ2 = F/(a1a3)

$
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����� �� �� � ���'��
�
�  ��
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�
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 � ��� �����	�
���
 �������� ����  �����
  ����
 �� 
��)�	�

S
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�����
 ��

h
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 � � ���������� � ���
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������� �� .���� $ �� 
"
���� ��� 
�
h
�
� 
�2 
������  ���� ,  
�� � ��������

�� �
���� ��� ��  ����� 
� ������� � ����

� ���%��������
v

�������� � ��  ����� ��)������� ,
�� )��� �  ������ 
�� ��  ����� 
� ������� ��� )
�	�

F
	
�������� �

v
, �� −F
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 �
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 �� 
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 �� �� ��	�� ��� $ &� ������
� ����� �� )
�	� �  ������

F�� �� ����

� �� �� ��	�� ���
v

�� ��� �� �� %�
� ����� , �� .���� , �� �� ��� ������� , ��	 $,
�� �
�	  ��� 	��� 	
� ������ $ &� 	�
 ��  ��
 
�� �� �
� 	���� �� �  �1! �!� $0��!�  
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 ��  
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 ����

�
 �
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- � �� ����

� �� .���� ����� ��������� ��� ����� ��
 ����
 �����
 $ &� ����

� �� .���� ��

x3 = h
����

v
, �����
 �� ����� 
 ������� ��

x3 = 0
$ ����

 ����� �� ��-��� ��� �� ��
����! �� �0!� ��!�$ 1! - �&�0&�$� 1#��� �� ! η  �� �� ������
�

F = η
S

h
v.

�� $$$ !
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� , 
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� B �'/ ��$ 
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� ��
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ê1

ê2

ê3

F

−Fh

v

S

S

��� � � $�� % *	
������� ��
����� ����� ����  �����
 $
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� �� �
 �� ������� ��� � ������� �� �A���������

�� 	��	�� 
�� ������ � 	���� �� �� 5�	� $ � $� $� ���
 	���� )
 �
  
�� ��
 ����

�
 �� �� ���
	�����

u
�
���

u(B) = u(A) +
1

2
(∇ × u) × AB + uD,

�� $�++!
���	

uD =
3∑

i,j=1

1

2

(
∂ui

∂xj
+
∂uj

∂xi

)
hiêj

�� $�+ �!
�� ����

� �� ��)
�� ���
� $ � � 	
���

u
�
� �� ����

� �� �� ��	�� ��� ��

s
�� �� ��	����� ,


� �
u(x) = ds/dt

, 	� ��� � '�� � �� ��-����
� 
������� $
� �������� � �0 00�$ εij

"! $!�&! ' 1!& 1�/ 0'� �$�0�&, �"0'& 0� 1�. ��$ "! #'"C'�$ 1'C
	 &#'CC'C 1' 13� !$+ %#&!" B �'

ε̇ij =
dεij

dt
=

1

2

(
∂ui

∂xj
+
∂uj

∂xi

)
.

�� $�+�!

� ����
��� �� ��-����
� � $� , � �*� $ �� $�+ �! 
 ��	��� ���
�
uDi = ε̇ijhj.

�� $�+�!
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��� E �
��� ����

� �� �
����
� � ���  
���
B

���
�� ��
A

 ��� 
 ��	���� 

�
 ��
)
�� �

u(B) = ω × AB,
�� $�+� !


�
ω

�
� �� -!�$! ' 1! -0'$���$� �
� ��

� -!�$! ' $0 '3�" "0� , 	) $ 5�	� $ ) $� $�! �
�� � ��� ��

�
��
� �
����  �� �� �
����
���� �� �� ����

� .

ω =
1

2
∇ × u.

�� $�+�!
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 $ �� $�3!�� �� $�++! 	
��� ����� �� 	
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� ��� � �� �
����
� $ 9�� ���� �� , �� 	

��
����

	(���������
  
�� �� �
���� ��� ���
 ��  ��� {êr, êϕ}

� ��(
� 	
�
���� , 
� �
ω = ϕ̇êz

��
AB = rêr

$ ( ��
� 
� ����
��� �� ��
����� 	
��� .
u = ω ×AB = rϕ̇êϕ = uϕêϕ

$ �� ����-�
���
� �� ������
� �� $�+�! , ���	

u = (ur, uϕ, uz) = (0, uϕ, 0)
,
uϕ = uϕ(r)

�	) $ ������ ( $�� ! .

1

2
∇ × u =

1

2




0
0

1
r

∂
∂r (ruϕ)


 =

1

2

(
uϕ

r
+
∂uϕ

∂r

)
êz

uϕ=rϕ̇
= ϕ̇êz = ω.

�� $�+) !
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 ���
� ���
Tr ε̇

�
� �%�� � �� ����

� �� �������
� �������� ��
�
����

d/dt(∆V/V )
$ ��  ��� �� ��� ��

Tr ε̇
	
��� �� �����%��	� �� 	+�� �� ����

�

�� ��)
�� ���
� .
Tr ε̇ =

3∑

i=1

∂ui

∂xi
= div u.

�� $�+3!

� �� �� � ������� ���A���� ����� @���������� �� � ������� �� �A������
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���� � ��
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)
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�

τij(x, t) = M kl
ij (x, t)ε̇kl(x, t).

�� $�+* !
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�  

� ��
  �
 �����
 ��
����
�
 �� 	
� 
 ���������
 �� �
��  
��� , 	 ��
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������ ���

M
�� �� ���  �
 ��

x
$ 4�  ��
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�  
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��


�� ��� 
 $ &� ���
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M kl

ij

�
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�����

τij = a′︸︷︷︸
+2η

ε̇ij +
b′ − a′

3︸ ︷︷ ︸
+ξ− 2

3 η

δij Tr ε̇,
�� $�+$ !
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τij = 2η

(
ε̇ij − 1

3δij Tr ε̇
)

+ ξδij Tr ε̇,
�� $��+ !
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��� ����� �������� , �
�
  
��
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���� �� ���
��� ��
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 �� 
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�'� � ��
	
����
����� ��
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 �������
������
 �� 	+���� ���
��� $ �� �������� ���� � ������
���� �� �� 	
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�����

����� ��
�
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�	����� �� �� )
�� �

ε · ε̇ , 

�� �� 
�	
�� 
���� �� �� �  ���  �� 	
�
������
	��� ��%��%� $ ( ��
� , ��
 *�
 $ �� $** ! �� �� $�+$! �
�����

τij = 2µεij + λδij Tr ε + 2ηε̇ij +
(
ξ − 2

3η
)
δij Tr ε̇,

�� $���!

�

λ
��
µ
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 �� &��� ,
η
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�2 	���� �� ��
	

��� �(��� ���� , ��
ξ
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�	� ���������� $ &� ���
��� �� )
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 �
��� ����

f(x)

����� ��
�
 �� ��� , �� 	
�����
� � �������"�� �� $��! 
 ��	���
−∂jτ

j
i = fi(x) = 0.

�� $���!
0����
��
 , �
�
 ��
��
�
 ������� � ��
 �	� �(��� ���� �� ��  �
 �%���
� � ���� 
��� , ��
�� )��� �
�	 %�������
�� �� 	
�����
� � �������"�� 
������� �� 	�
 ��� �
�
 ������

� $ 9
��	�	� , 	
��� �"
��� ���
 �� 5�	� $ � $� $� $� , 
� ��	��� �� 
(
�'�� �(��� ���� 	
��� �����
� � �������"�� 
 ��� �
� 

�� �
 � �� )
�	� -	���� −ṗ

,
p

����� � ��� ��
�
� $ ��� ����
%�� �
�
��  ���	� � �� � �( ���"��� ��� �
� �� %�������
���
� ��  ���	� � ��
 ������� �������
 � ��
�(��� ����  �� � ��� 
�� �� �� )
�	� −ṗ

 ��� ������ �� 	
�
������ �� 
(
�'� � �(��� ���� �
� �������"�� $ ����
���

�
 �
�	 �� )
�	��
� �� �� ��	�� ���

s(x, t)
��  
���

x
�� ��� 


t
,

���
� ��� �� ���
��� �
��� ���� 	
�
�����
ρ

�� � ������� +
�
%'�� $ &� ���
��� �� )
�	�

����������
 &-	����' �
� �
�	

fi(x, t) = −ṗi = − d

dt
ρṡi(x, t) = −ρs̈i(x, t).

�� $���!
&� 	
�����
� � ���� ���"�� ������� ���
� ��� ������
� �� �
���� ���  
�� �� �� ��	�� ���
s(x, t)

.
∂jτ

j
i = ρs̈i(x, t).

�� $��� !
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��� ��
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τ
���
 �� 	�
  ���� ��� ���
����� 
 �
"����� �� � �*� $ �� $���! �� 

���

η = ξ = 0
, ��� ��
��� ���
 � �*� $ �� $��� ! �
���

ρs̈i(x, t) − ∂j

(
2µεj

i + λδj
i Tr ε

)
= 0.

�� $���!
� �  �� ��-����
�

εij =
1

2

(
∂si

∂xj
+
∂sj

∂xi

)
,

�� $��)!
��� ���
 � �*� $ �� $���! �
���

ρs̈i(x, t) − µ∂j∂jsi − µ∂i∂
jsj − λ∂i∂

jsj = 0,
�� $��3!

	� ��� ��	�
������� ��� 
 ��	���
ρs̈− µ4s− (µ+ λ)grad div s = 0.

�� $��*!
� ����
��� � ��������� ��	�
������ −4 = rot rot− grad div

, � �*� $ �� $��*!  ���� �� )
�� �
ρs̈ + µ rot rot s − (2µ+ λ)grad div s = 0.

�� $��$!
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����
� �� 	���� ������
� 
� ��
��� �� )��
��� �  �� �� �+�
�'� � �� % ���+
��: �	) $
������ ( $��! $ ( ��
� ,  
�� �
�� 	+�� ��	�
����

s(x)
�� ���
�� �� �	 ��B �''0$�$�0��!"�	 ��
�������� �� �	 ��B "0�2 �$ 1���" !

s1
�� �� �	 ��B �� �0�B '!&&�3"! �	 ��
�������� �� �	 ��B$'��&-!'&!! s2

���
 ���
s = s1 + s2

,
rot s1 = 0

��
div s2 = 0
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� ��� ��	���� ����� �
��

ê1
! �� ��� ����	��
� ��

 �
 �%���
� ��� ��	���� ����� �
��
ê2

! $ ( ��
� �� )
��� 	+��	+�� �� �� 

����
� �
�
s(x, t) = ê1f(x · ê2, t).

�� $��+ !
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 ��

ê1
��

ê2
$ � ����

�
 ��

� ���
 �� 
���� �� �
����
�

r = x · ê2
$

�! �1��
  ��"������� ��

��������� � $ 5�  


�
 ���
rot s = 0

, 	 ��
�������� ���
s = s1

$ � ����
��� � ��������� ��	�
������
rot(aφ) = φ rot a − a × gradφ,

�� $���!
�� � ����
rot s

(5.120)
= rot(ê1f)

(5.121)
= f rot ê1︸ ︷︷ ︸

=0

−ê1 × grad f︸ ︷︷ ︸
=
�
e2∂rf(r,t)

= −ê1 × ê2
∂

∂r
f(r, t).

�� $���!

� � �
�
 ��
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�
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����
� ����� ���
rot s = 0

, 	� ��� �� 

�
ê1 × ê2 = 0
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� ��  �
 �%���
� �
�  �����'�� � �� ����	��
� � �

	������
� ,
� �
�

ê1 = ê2.
�� $��� !

s1
�
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s
$ �+��	+
�
 �  ��
��� � �������
�

� �������� �
�� 
���
)���� �� 	+�� �
�%�������� $ �� � .

div s = div (ê1f) =

3∑

i=1

ê1i
∂f

∂r

∂r

∂xi︸︷︷︸
=
�
e2i

= ê1 · ê2︸ ︷︷ ︸
(5.123)

= 1

∂f

∂r
,

�� $��� !

� �
�
grad div s

(5.124)
= grad

∂f

∂r
= ê2

∂2f

∂r2
.

�� $���!
�
���  �� +( 
�+'
�

rot s = 0
, ��
 *�
 $ �� $��+! �� �� $���! ���
 �� $��$ ! �
�����

ê2

[
ρ
∂2

∂t2
f(r, t) − (2µ+ λ)

∂2

∂r2
f(r, t)

]
= 0,

�� $��) !
	� ��� �� �����

[
∂2

∂t2
− 2µ+ λ

ρ

∂2

∂r2

]
f(r, t) = 0.

�� $��3!
& �*� $ �� $��3! �
� ��� �� �$�0� 1 :0�1! .

[
∂2

∂t2
− u2 ∂

2

∂r2

]
f(r, t) = 0,

�� $��* !
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u
�
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� ��  �
 �%���
� �� � �
��� $ *� ������-��� ��
 *�
 $ �� $��3! �� �� $��* !
� �� ���� �� ����

� ��  �
 �%���
� �� � �
��� �
�%��������� �
���

u‖
.

u‖ =

√
2µ+ λ

ρ
.

�� $��$ !
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��� ���
div s = 0

, 	 ��
��
������ ���

s = s2
$ � ����
��� � ���������

div(aφ) = φdiv a + a · gradφ
, 
� �

div s = div (ê1f) = f div ê1︸ ︷︷ ︸
=0

+ê1 · grad f =

3∑

i=1

ê1i
∂f

∂r

∂r

∂xi︸︷︷︸
=
�
e2i

= ê1 · ê2
∂f

∂r
.

�� $��+!
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�
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����
� ����� ���
div s = 0

, 	� ��� �� 

�
ê1 · ê2 = 0
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� ��  �
 �%���
� �
� 
��+
%
���� � �� ����	��
� � �

	������
� ,
� �
�

ê1 × ê2 = ê3.
�� $�� �!

s2
�
� �
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s
$ �+��	+
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 �  ��
��� � �������
� �

�������� �
�� 
���
)���� �� 	+�� ����
���
� $ �� �

rot rot s = rot rot (ê1f)
(5.121)

= rot
(
− ê1 × ê2︸ ︷︷ ︸

(5.131)
=

�
e3

∂f

∂r

)
= −ê1

∂2

∂r2
f(r, t).

�� $���!
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���  �� +( 
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div s = 0

, � �*� $ �� $���! ���
 �� $��$ ! �
���

ê1

[
ρ
∂2

∂t2
f(r, t) − µ

∂2

∂r2
f(r, t)

]
= 0,

�� $���!
	� �� � �� �����

[
∂2

∂t2
− µ

ρ

∂2

∂r2

]
f(r, t) = 0,

�� $��� !
��� � �
� ������-� ���	 �� )
�� � %�������� �� � �������
� � �
��� �
����  �� � �*� $ �� $��* ! 
�� �� ����� �� ����

� ��  �
 �%���
� �� � �
��� ����
���
� �
���

u⊥
.

u⊥ =

√
µ

ρ
.

�� $���!
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 �� � �
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���

gp(r−ut)�� � ���� 0�1! '!$�'1�! �
���
gr(r + ut)

.

f(r, t) = gp(r − ut) + gr(r + ut).
�� $��)!
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f(r, t)
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��� � ����

�
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t
$ 9�� 	
�
������ , �� ��
���	�  ��	
���� 
���

ut
, ��

f(r, t) = f(r − ut, t0 = 0).
�� $��3!

&� ��
	�

�
� �
� 
�� ������  
�� � �
��� �������� , ��� 
� �� ��	� ���
 �� %��	+� $ �� ���
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� ����	�� ��� �� )
�� � �� $��)! �
� 

����
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r(t) = r ± ut
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� �� �
��
 �	����� ��� .

∂2

∂t2
f(r, t) =

∂

∂t

[
∂gp

∂r
(r − ut)

∂r

∂t︸︷︷︸
= u

+
∂gr

∂r
(r + ut)

∂r

∂t︸︷︷︸
=−u

]

= u
∂

∂r

[
∂gp

∂r
(r − ut)

∂r

∂t︸︷︷︸
= u

−∂gr

∂r
(r + ut)

∂r

∂t︸︷︷︸
=−u

]

= u2 ∂
2

∂r2
[gp(r − ut) + gr(r + ut)]

(5.136)
= u2 ∂

2

∂r2
f(r, t),

�� $��* !
� �
�

∂2

∂t2
f(r, t) − u2 ∂

2

∂r2
f(r, t) = 0.

�� $��$ !
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 $ 9
�� �� � ��	��� , �� ���
��� ����

ρ =
7.85 × 103

,%��
3
, �� � 
���� �� �
��%

E = 2.4 × 1011
0 ��

2
, �� � 
���� �� 9
�


�

ν = 0.27
$ &�
 	
�2 	����
 �� &��� 

�� ��
�
 �
���
  �� �� 
(
�'�� � �*�
 $ �� $$3! .

µ =
E/[2(1+ν)] = 9.45×1010

0 ��
2
,
λ = 2µν/(1−2ν) = 1.1×1011

$ &�
 ����
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 �%���
�
�
�%���������
 �� ����
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 �
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c‖ = 6.2×103
� �
 ,

c⊥ = 3.5 × 103
� �
 $
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= −ρ divv − v · grad ρ

=⇒ ∂ρ

∂t
+ v · grad ρ

︸ ︷︷ ︸
(6.5)
= dρ

dt

= −ρ divv.
�) $�$ !

9�� 	
�
������ , 
�
dρ(x, t)/dt = 0

��
�

div v = 0

, 	� ��� �	+'�� ��  ����� $
�

6������
�
 ��� 
� �� .���� �
� ��	
� ��

�"�� , ��
�
 �� ���
���
ρ
�
� +
�
%'�� �
�	

v · grad ρ = 0
$ ( ��
� � �*� $ �) $�$! �
���

dρ/dt = ∂ρ/∂t = 0
$



��* ���� � �
� � � �� ��� ���� ��� �� �����
� �� �� �� � ���� �� �������A �� ���������

&� "���� �� �������� �� �
���� ��� 	
���
 
�� � �� )
�� � �
 	��� �� � �������
� ��
0�#�
�

dP

dt
= F,

�) $�+!

�

P
�
� � ���  ��
�
� �
���� �� 
(
�'� � ��

F
�� ��
������� ��
 )
�	�
 �  ������
 $ &
 	������� ,

��
 )
�	�
 �%�

��� 
�� �� ���� ��� �� �
��� � 

�� �

��
 �� ���� 	
����"���
�
 .
�! &�
 )
�	�
 �
��� ����
 , 	
���  �� ���� �� ��
 )
�	�
 � �
�%��  
���� �����
 �� %���

������
� �� ��
 )
�	�
 ���	��
� �%�������
 $
��! &�
 ���
�
�
 �
 	���
 ����	��
 
�� �� 
��)�	� �� � �������� �� �
��� � $ 4��
 �� 	����

��
 +( 
�+'
�
 �� �
�
 , 	�
 ���
�
�
 

�� ��	����
  �� �� ���
��� ��
 ���
�
�

τij

��
� �* � $ �� $���! $�
��� ��
�	� �� ����
��	��
� , �� 	��

� ��
 .����
 �
�� �
�
  �
 


�
 � ������ �
�

	���	����
��  �� �� �
���� �� 	�
������ ��� ���
µ = 0

$ ��	� 
�%��-� �� ��� � �( �  �
 ��
	
��������
 ���%��������
 ���
�����
 $ ( ��
� � �* � $ �� $���! 
 ��	���

τij = λδij Tr ε + 2ηε̇ij +
(
ξ − 2

3η
)
δij Tr ε̇.

�) $� �!
4�  �� 
 , 	
��� �� �
���� �� ����� � $� , �� � ��"
��	� �� 	
��������
 ���%��������
 ���
�����
 ,
�� 
�� �� 	
����"���
� ���
����� �
� �� �( � 	
� ��

�
� ���)
�� � � �
�

λTr ε = −p ��
� �*� $ �) $��! �������

τij = −pδij + 2ηε̇ij +
(
ξ − 2

3η
)
δij Tr ε̇.

�) $��!
� � �� ��� ������� ���

Tr ε̇ =

3∑

i=1

∂vi

∂xi
= div v,

�) $��!
� �*� $ �) $��! �������

τij = −pδij + 2ηε̇ij +
(
ξ − 2

3η
)
δij div v.

�) $�� !
0
�
  �
 


�
 � ��"
�� �� ��������
� �� � �������
� �� "���� �� �� �������� �� �
����

� ��� ���
 �� 	�
 %������ , �
�� ��  ����	�����
���
� �"
���� � � �������
� �� � �- �!'�0 $0� !& $����� ��������
� ����
��� ��� �  �
 	+� ��'
 %������� ��  +(
���� ��� 	
�
�
�� � �	���� ��

������
�
 �� "���� $ &� 
�	
��� ��������
� �� � �������
� �� 0������5�
,�
 
� "�
� 
�� � ������
��
� �� 0�#�
� ��� 
��� �  ������ �� 	�
 �� .���� ��
����� $ 0
�
  ����	�����

�
 ��
����
� �������
� �� 0������5�
,�
 � ��8�����
 �	
���� ���
 � ������	� $

� �� �� �	 �� 	���� � �!����� E  ��������� �� � �� ��
������!
� �
������� ��
  ������  � � � �� � ���
� !��� � 5
�� �� �
��� �

V ⊂ �
3
�� 
��)�	�

S
,



 �� � �
"
����"�� �����
��� �� ��
�
� A = P
, 

��

ρ(x, t)
�� ���
��� �
��� ���� �� � �

� ,

��
�
 �� ���
��� �
��� ���� � ��� ��
�
� �
�
ρp(x, t) = ρ(x, t)v(x, t)

��

P(t) =

∫

V

dx ρ(x, t)v(x, t).
�) $��!

&�
 	
����"���
�
 � �� �������
� ��� 
����� ��
p

���

V



�� �� ���� 

���
 .
�! &�
 	
����"���
�
 �� 
��)�	� .

�! &� .�� � ��� ��
�
� � ������
 �� 
��)�	�
S

�
� �
���  ��
dP

dt

∣∣∣∣��
��
���
= −

∫

S

dσ · Jp,���� = −
∫

S

dσ · ρ(v ⊗ v),
�) $�)!



� �� � ��������� �� ����� ��$

�

Jp,����
�
� �� .�� � ��� ��
�
� 	
���	��) ��

v⊗v
�� ��� 
��� � ��������


vivj
�	) $

������ ( $��! $ &� )
�� � ��
Jp,����


� � �
��-�  �� � �*� $ �) $�� ! $ *� �8�� , �� � ��"��
�� ��
��� �� � �*� $ �) $�)! ��� 
� ���

dσ


�� ��
 ���
���
 �� ���%

1
,  �� 	
�
������

Jp,����
�
�� 	��� �� ���
��� �� ���%

2
$ � � 	
���

ρp(x, t) = ρ(x, t)v(x, t)
��  ��

�� )
��� %������� �� .�� �� � �*� $ �) $�� ! , �� )��� ���
Jp,���� = ρ(v ⊗ v)

$
" ! 9�� � �������
� �� 0�#�
� �) $�+! , ��
 ���
�
�
 �� 
��)�	� �
�����

dP

dt

∣∣∣∣�	�
���
 =

∫

S

dFS
(5.29)
=

∫

S

dσ · τ . �) $�3!
�
��� 
� �� �����  ��
 �
�� , 	���� 	
����"���
� �
� �

�� �� ��  ����� ��8�
���
Jp,

��� �� .�� � ��� ��
�
� $
��! &�
 	
����"���
�
 �
��� ����
 . 

��

f(x, t)
�� )
�	� �
��� ����  �� ����� �� ��

� ,

��
�

dP

dt

∣∣∣∣�����	
=

∫

V

dx ρ(x, t)f(x, t).
�) $�* !

&�
 �����
�
 	
����"���
�
 ��
 *�
 $ �) $�) ! , �) $�3! , �� �) $�*! ����� ��������
 , 
� �
d

dt
P(t)

(6.25)
=

d

dt

∫

V

dx ρ(x, t)v(x, t) = −
∫

S

dσ ρ(v ⊗ v) +

∫

S

dσ · τ +

∫

V

dx ρ(x, t)f(x, t).�) $�$ !
( �
����� , ���
 �� ��
	�� ��
� �� *���� �� �
��� �

V
�
� ���� ������ �� ��� 
 � �
�

∫

V

dx
∂

∂t
[ρ(x, t)v(x, t)] = −

∫

S

dσ · ρ(v ⊗ v) +

∫

S

dσ · τ +

∫

V

dx ρ(x, t)f(x, t).
�) $�+ !

� ����
��� �� �+�
�'�� �� �� �����%��	� 
�� �� 	+�� ���

���� � �
���� ����
A

�	) $ ���
���� ( $��!

∫

S

dσ ·A =

∫

V

dx DivA,
�) $� �!


� 
� �
��
DivA = ∇ · A , �� � ����

∫

V

dx
∂

∂t
[ρ(x, t)v(x, t)] = −

∫

V

dxDiv [ρ(v ⊗ v) − τ ] +

∫

V

dx ρ(x, t)f(x, t).
�) $��!

����� ������
� ����� �����  
�� �
�� �
��� �
V
, �� )
�� � �
 	��� �� � �*� $ �) $��! �
�

∂

∂t
[ρ(x, t)v(x, t)] = −Div [ρ(v ⊗ v) − τ ] + ρ(x, t)f(x, t).

�) $�� !
& �*� $ �) $�� ! �
� �� )
�� � %������� �� � �������
� �� 0������5�
,�
 �� ����� 	
��� ������
�
�� "���� � ��� ��
�
� �	) $ * � $ �) $�� !! $ 6�� ����
�
 ��� �� 	
� ����

� �� � �*� $ �) $�� ! �
�� )
�� � �
 	��� %������� �� � �������
� �� "���� �) $��!  ��� �� �� 	
�	���� ��� �� 	
�����
� ��� ��
�
� �
��� �
�

Jp = ρv ⊗ v︸ ︷︷ ︸
=Jp,����

+ (−τ )︸ ︷︷ ︸
=Jp,

� ��
.

�) $�� !

& �������%� �� 	���� )
�������
� �
� �� ��� � ��
�  �
 ��	
�� )��� �
�%� � ���� )
�� � �� ��	���
�� ���
��� ��
 	
��������


τ
$ ( �� 
� 
�  
������ ����
�%�� ��� ������
� ��	
��  �� 
 %�������

��� 	���� �� � �*� $ �) $�� ! $
0����
��
 , ��  ��� 	��� ����� �� �����
  �� � �*� $ �) $�� ! $ � ����
��� �� )
��� �) $�� ! ��

���
��� ��
 	
��������

τ


� �
Div τ = Div

[
−p� + 2ηε̇ +

(
ξ − 2

3η
)
� div v

]
.

�) $��!



��+ ���� � �
� � � �� ��� ���� ��� �� �����
4����
  
�
 ��
 ��8�����
 ���� �
 �  ����

��� ���
 � �* � $ �) $��! $ �� �

Div(−p�) = −
3∑

i,j=1

êi
∂(p�)j

∂xj
= −

3∑

i,j=1

êi
∂p

∂xj
δij = −

3∑

i=1

êi
∂p

∂xi
= − grad p,

�) $�)!

�� �� � 	��
Div

[(
ξ − 2

3η
)
� div v

]
=
(
ξ − 2

3η
)
grad div v.

�) $�3!
1 ������ ���

Div (2ηε̇) = 2η
3∑

i,j=1

êi
∂ε̇ij

∂xj

= 2η

3∑

i,j=1

êi
∂

∂xj

1

2

(
∂vi

∂xj
+
∂vj

∂xi

)

= η

3∑

i,j=1

êi

(
∂2vi

∂2xj
+

∂2vj

∂xi∂xj

)

= η
3∑

i,j=1

êi
∂2vi

∂2xj

︸ ︷︷ ︸
=4v

+η
3∑

i,j=1

êi
∂2vj

∂xi∂xj

︸ ︷︷ ︸
= graddiv v

= η4v + η grad div v.
�) $�*!

&�
 *�
 $ �) $�) ! , �) $�3! , �� �) $�*! ���
 �) $��! �
�����

Div τ = − grad p+ η4v + η grad div v +
(
ξ − 2

3η
)
grad div v

= − grad p+ η4v +
(
ξ + η

3

)
grad div v.

�) $�$!
��
����� � �*� $ �) $�$! ���
 � �������
� �� 0������5�
,�
 �) $�� ! �� � ����

∂

∂t
(ρv) = −Div [ρ(v ⊗ v)] − grad p+ η4v +

(
ξ + η

3

)
grad div v + ρf .

�) $�+!
6�� ����
�
 ��

� ���

Div [ρ(v ⊗ v)] =
3∑

i,j=1

êi
∂

∂xj
[ρ(v ⊗ v)]ij

=

3∑

i,j=1

êi
∂

∂xj
ρvivj

=

3∑

i=1

êivi

︸ ︷︷ ︸
=v

3∑

j=1

∂

∂xj
ρvj

︸ ︷︷ ︸
=div(ρv)

+

3∑

i,j=1

êiρvj
∂

∂xj
vi

︸ ︷︷ ︸
=ρ�3

j=1 vj
∂

∂xj︸ ︷︷ ︸
=v·∇

�3
i=1

�
eivi︸ ︷︷ ︸

= v

= v div(ρv) + ρ(v · ∇)v.
�) $� �!



� �� � ��������� �� ����� �� �
�� �
�� ��

� ��� �� 
�	
�� ����� �� � �*� $ �) $� �!  ��� 
 ��	���� ���	 �� %���� %������� 

�

�� )
�� �

(v ·∇)v = (Gradv) ·v �	) $ ������ ( $��! $ ��
����� � �*� $ �) $� �! ���
 �) $�+! 
� �

ρ
∂v

∂t
+ v

∂ρ

∂t
= −v div(ρv) − ρ(v · ∇)v − grad p+ η4v +

(
ξ + η

3

)
grad div v + ρf

=⇒ ρ
∂v

∂t
+ v

(
∂ρ

∂t
+ div(ρv)

)

︸ ︷︷ ︸
(6.16)

= 0

= −ρ(v · ∇)v − grad p+ η4v +
(
ξ + η

3

)
grad div v + ρf ,

� �
� �� )
�� � -���� �� � ��� �$�0� 1! � �-�!'�0 $0� !&
∂v

∂t
+ (v · ∇)v = −1

ρ
grad p+

η

ρ
4v +

1

ρ

(
ξ +

η

3

)
grad div v + f .

�) $��!

�� 
 ��%�� � ���� ������
� ��8���������� �
� �������� ��� �������
  ��������
 , �
�	  ����	��
��'������ ��2 	��� � ��

���� �� %������ $ � ��
�  
����
� 
� 	
�
��'�� 

����� ��8������

�  �
� �� ���
�
 , �
�� �
�
 � ����
��
�
 ��
  �� 
 	
������
 	����


�
 $ ��������
 
��
��
�"
����
  ��
 �� ������ ���
 ��
 
�	��
�
 ��� 
������ $

% &� .���� �
� ��� ��	
� ��

�"�� 
� �� ���
���
ρ
�
� 	
�
����� $ 4��
 	� 	�


div v = 0�	) $ ����� ) $�! , �� � �������
� �� 0������5�
,�
 �������
∂v

∂t
+ (v · ∇)v = −1

ρ
grad p+ ν4v + f

�) $�� !

� 
� � ��-�� �� - �&�0&�$� ����� �$�� !  ��

ν =
η

ρ
.

�) $�� !
% &� .���� �
� ��� B �'/ ��$ 
 ��� � ��
�  �
 ��
����� .

η = ξ = 0
$ 4��
 	� 	�
 � �������
� ��

0������5�
,�
  ���� �� � 	�� )
��� �) $��! ���  
�� �� .���� ��	
� ��

�"�� , ���	
��  ��


ν = 0
$

% & ��	
���� ��� �
� B !'� ��!�$ , 
� &$�$�0����'! , 
� ∂v/∂t = 0
$

��������� E � �����
��	��
� ��
 
 �������

Div

��
Grad

� ��� �����
�� ���
 �� "��
 ���%
%���� ������� ��� ��� 	���� �
����
� 
� ����
��� ���
 	������
 
����%�
 
 �	����
�
! $
*� �8�� , �� � ��
� � ��+�� ������� ���  �
 ��	�

���� � �����
����� 	�
 �
������
 ��-����
�
 $
5� 
� ��-��� ��
 
 �������
 ��8��������
  �� �� ����� ��	���
� � ����	����� ���	

∇
, ��
�
 �
�


	�
 
 �������
 %������ �� � 	�� )
�� � ���� ��������� �� ���% �� � �
"� �� 
�� ������ ��

�%�

��� $ &� "�� �
� � �������� � ��������
� 
�� �� )��� ��� ��
 
 �������
 ��8��������
  �������
��� �� ��

�
� ��8������ 
��
� �� 	+
�� ��
 	

��
����
 	������%��
 , �� �� �
�� 	�
 ���
)
�� � ��'
 ��8������ ��
 	

��
����
 	����
�����
 , 	
��� �
���� ���
 � ������� ( $�� $

� �
������� � ��
������ ��  ��������� �� � �� ��
������! � ����� ��������
� �� )���
 �
 �  �� �� ��	���� ��� ��� ������
�
 �� "���� � ��
 �  ����� ����	��� ��� � �������
� ��
0�#�
� �� ���� ��� 	
����� ���
 �� �
���� �
��� $ &�
 ��%�������
  +(
����
 

�� ������ �
� ��� "!& � ��!& � ! 1��& "� 1�'�-�$�0� B '���1!�$!$

�

�
�
 �� �
��� � .����
V

�� 
��)�	�
S
, �� ��� ��(
�
 � ��8�� �� ��
�� �� .����  ��

��
 )
�	�
 �� 
��)�	� �	) $ 1�% $ ) $�! $
&� )
�� � %�������� �� � �������
� �� 0�#�
� �
� .

∑

i≥1

Fi = ma.
�) $��!



��� ���� � �
� � � �� ��� ���� ��� �� �����

ê1

ê2

ê3 dσ

f

S

V

dFS

��� � ) $� % 4�������
� �� � �������
� �� 0������5�
,�
 $
4��
 �
��� 	�
 , � ��		�������
� �
� 	���� �� �� � �

� �� .���� �

�� ��

V
.

ma =

∫

V

dx ρ
dv

dt
,

�) $�)!
���	

dv/dt
�� ��� � 
��
� *���� .

dv

dt
=
∂v

∂t
+

3∑

i=1

∂v

∂xi

dxi

dt
=
∂v

∂t
+ (v · ∇)v.

�) $�3!
&� 

��� ��
 )
�	�
 �
� )
���� �� ���� 	
����"���
�
 . ��
 )
�	�
 �� �
��� �

FV =

∫

V

dx ρf ,
�) $�*!

�� ��
 )
�	�
 �� 
��)�	�
FS

$ ��
 �����'��
 

�� �
����
  �� � �*� $ �� $�$! .
dFS,j = τ i

jdσi
, ���

� �
� ���'%�� 
�� �� 
��)�	�  ��
 �����
� � �����(
� ��	�
������  
�� )����  
���� � �����%����
�

�� �� �
����

V
$ ( ��
�

dFS,i
(5.29)
= τ j

idσj
(6.24)
= −pδijdσj + 2ηε̇ijdσj +

(
ξ − 2

3η
)
δij div v dσj ,

�) $�$!
� �
� �����
��� �� �+�
�'�� � �� 
��
%���
, � .
FS =

∫

S

dFS

(6.49)
= −

∫

S

p δijdσj êi︸ ︷︷ ︸
=dσ︸ ︷︷ ︸

= �
V

dxgradp

+ 2η

∫

S

ε̇ijdσj êi

︸ ︷︷ ︸
=2η �

S
1
2

�
∂vi
∂xj

+
∂vj
∂xi �dσj

�
ei

=η �
V

dx ∂
∂xj

�
∂vi
∂xj

+
∂vj
∂xi ��ei

+
(
ξ − 2η

3

) ∫

S

div v δijdσj êi︸ ︷︷ ︸
= dσ︸ ︷︷ ︸

= �
V

dxgraddiv v

= −
∫

V

dxgrad p+ η

∫

V

dx
∂2vi

∂x2
j

êi

︸ ︷︷ ︸
=4v

+η

∫

V

dx
∂2vj

∂xi∂xj
êi

︸ ︷︷ ︸
= graddiv v

+
(
ξ − 2η

3

) ∫

V

dxgrad div v

= −
∫

V

dxgrad p+ η

∫

V

dx4v +
(
ξ +

η

3

)∫

V

dxgrad div v.
�) $�+ !

�� �� 
'�� ��
 *�
 $ �) $�) ! , �) $�3! , �) $�*! �� �) $�+! ���
 � �������
� �� 0�#�
� �) $��! $ 9��

�� ������
� 
"����� ����� �����  
�� �
�� �
��� �

V
�� )
�� � �
 	��� ���
� 
"����� �
�

ρ
∂v

∂t
+ ρ(∇ · v)v = − grad p+ η4v +

(
ξ +

η

3

)
grad div v + ρf ,

�) $� �!



� �� � ��������� �� ����� ���
	� �� � �
� "��� � �������
� �� 0������5�
,�
 �) $��! $ ( �
����� ,  
�� �� ��� �� 	���� ������
�
�� 	

��
����
 	������%��
 , �� )��� 
"����� ��
 
 �������
 ��8��������
 ���
 �� �� '�� ��
���
�	) $ ������ ( $�� ! $

� �� �� �� �� 	���� 
�
���� E  ��������� �� D� �

��� 	���	����
����� �� .���� ��
����� �
� �� 
� ���� ��
  ��
�
 ��%���
 $ ��	� � ��
�  ��


����  
�� �� .����  ��)��� ���  �� ��-����
� � ��
�  �
 ��
����� , 	 ��
��������
η = ξ = 0

$
4 ��
 	� 	�
 , � �������
� �� 0������5�
,�
 �) $��! 
� ������ � � ��� �$�0� 1! �  "!'

∂v

∂t
+ (v · ∇)v = −1

ρ
grad p+ f .

�) $��!
� ��%�� 	�
 
�� ��-	���
�
 , �� 
 ��%�� �
�� 
��
 � ���� ������
� �
� �������� �
�	 �� %������
��2 	��� � ��

���� $

� �� �� �0 �� 	���� 
�
���� !���������
� �����

�!!��  � E  ��������� �� � �
���  �
&� .���� �
� ��� 
����
������ 
� � ��	
���� ��� �� �� ���  �
 �� ��� 
 , 	 ��
�������� 
�

∂v/∂t = 0
$ & �������
� �� *���� �) $��! 
� ������ �

(v · ∇)v +
1

ρ
grad p = f .

�) $�� !
& �������
� �� 7���
���� �������� � �+( 
�+'
� 
�  ��� ������� 
��
� �������� �� )
�	�

�
��� ����
f
������ � ���  
�������

φ
.
f = − gradφ.

�) $�� !
� ����
��� � ���������

(v · ∇)v =
1

2
grad(v2) − v × rot v

�) $��!
���
� ��� � �*� $ �) $�� ! ���
 �) $��! �� � ����

1

2
grad(v2) − v × rot v +

1

ρ
grad p+ gradφ = 0.

�) $�) !
�
�
����
�
 �  ��
��� ��� "�2 �! 1! �0 '��$ $ ��� ��%�� �� 	
����� �
� ����� �� ��� �
��  
���

� ���%���� �
�  �����'�� � �� ����

� �� .���� $ �	) $ 1 �% $ ) $�! $

����%�
�
 � �*� $ �) $�) ! �� �
�% � ���� ����� ��%�� .
∫ x

x0

ds · 1

2
grad(v2)−

∫ x

x0

ds · v × rot v +

∫ x

x0

ds · 1

ρ
grad p+

∫ x

x0

ds · grad φ = 0.
�) $�3!

� �  �� ��-����
� �� �� ��%�� �� 	
����� , 	���� �����'��  ��� 	���  ���� ����
��  ��
ds = vdt

$
( ��
�

∫ x

x0

ds · v × rot v =

∫ t1

t0

dtv · v × rot v.
�) $�* !

� �  
�� ��
 ��	����

a
,
b
, ��

c

� � � ��������� ��	�
������
a · (b × c) = (a × b) · c, �) $�$ !

��� ���
 �
��� 	�

a = b = v

��
c = rot v

�
���
v · (v × rot v) = (v × v)︸ ︷︷ ︸

=0

· rot v = 0.
�) $)+ !



��� ���� � �
� � � �� ��� ���� ��� �� �����

v

v

v

Γ

x0

x

��� � ) $� % &�%�� �� 	
�����
Γ
$

& �*� $ �) $)+! ���
 �) $�*! �
���
∫ x

x0

ds · v × rot v = 0.
�) $) �!

4 ������  ��� , �� ���
���
ρ
�����  �� +( 
�+'
� 	
�
�����
∫ x

x0

ds · 1

ρ
grad p =

∫ x

x0

ds · grad
p

ρ
.

�) $)�!

&�
 *�
 $ �) $) �! �� �) $)�! ���
 �) $�3! �
�����
∫ x

x0

ds · grad

(
1

2
v2 +

p

ρ
+ φ

)
= 0.

�) $)�!

����%���� � �*� $ �) $)�! �� �
�% �� �� ��%�� �� 	
����� 	
�
������ ��  �

��� ���
 �� � ��"��
�� ��
��� �
���
 ��
 	
�
�����
 ���
 ��  
���

x0
, �
���


cte
�	���� 	
�
�����  ��� ��8����

� ���� ��%�� �� 	
����� � � ������! , 
� 
"����� � ��� �$�0� 1! � !'�0 " "� .

1

2
ρv2 + p+ ρφ = cte.

�) $)� !

����� ������
� �
� ��� )
�� � �� �� 	
�
������
� �� � �����%�� , 
�
cte

� �
�	 ��
 ���
� ��
�
�
 � ���� ����%�� �
��� ���� $ & �������
� �� 7���
���� �
� ��

� ����"��  
�� ��

�	
���� ���
 �
����
����


rot v 6= 0
$ *��� ��
�
 �  ��
��� �������
 	�
  ����	�����
 ��

� �*� $ �) $)� ! $
D���
  �! E

% � �3�� �$'! 1! �!�$ '� . 

�� �� ��"� +
��:
���� )
�� � � ���� 
�	��
� �� %���� ���� '���
S0

�� ��  ���� ����'���
S1

$ &� ��%�
� �� ���� '���
Si

�
� 	���	����
��  �� ���  ��

�
�
pi
, �� �� ������� 
 �( �� ��	� � ����

�

vi
,
i = 0, 1

�	) $ 1 �% $ ) $� ! $0
�
 ��
��
�
 ��
���� �� ��"�� �� )
�	��
� ��
  ��

�
�

pi

�� ��
 
�	��
�

Si

$ *� 
�
 ��(��� 
�� �� ��%�� �� 	
����� 	
���
 
����� � � ���� �� 
(� ����� , �� �	������ � ������
��
� �� 7���
���� ���
 ��
 ��%�
�
 ��  ��

�
�


p1
��
p2

,  ��
 �%����� 	�
 �� ��

�
�

�� � ����

1

2
v2
0 +

1

ρ
p0 =

1

2
v2
1 +

1

ρ
p1.

�) $)�!



� �� � ���� �� ��� ������� � � ����
� �� 
� ������ ���

S0 S1

P0 P1

v0v0 v1

��� � ) $� % 4�"�� '��� �� -������ $
4 ������  ��� , �� .� ��� ����� ��	
� ��

�"�� , �� ��"��

D
�
� 	
�
���� .

D = S0v0 =
S1v1

, � �
�
v1 =

S0

S1
v0.

�) $)) !
5�"
������� � �*� $ �) $)) ! ���
 �) $)�! ,  ��
 ������

v0
�� 	���� �����'�� ������
� ��

����� .
D = S0v0 = S0S1

√
2

ρ

√
p0 − p1

S2
0 − S2

1

.
�) $)3!

% *����
�
 ��	
�� ��� �  ��	���
� "��� 	
�	�'�� $ 4��
 �� +����-����
 , 
� 
"
���� ��

	+����
 �� �
���%�� ���(��
! ���	 �� �
����
  �����
  

��
 
�� ���� �
�� $ *� �8�� ,
�� �
� 	
��� ��� ���
 	���� ��%�
� ��  ��� ( ��
�� �� )
���
 ��� 	��
 $ � � 	
���
�
�
 � ���
�
 	
� ��
  �� � ����� ��  ��	����� , 
� �� ����

� �� .���� ��%� ���� ��
 ��

�
� ��� ���� $ 9�� 	
�
������ , � ����  
����� 	��� 	
�
����� 	
��� �� .���� �
)��"�� ���
��� , �
�
 �� )
���
 ��� 	��
 �� ����

� �� ���� 
�� ��
 �
��
 �
� ����� ��� ��
 ��

�
� ��� ���� ��'
 )
���� ��� 
�� �� 	��� ��������� �� �
�� $ 4 ������  ��� , ��  ��

�
�
�� 	��� ��������� �
� "��� 
� ������� 	�� � ���� ( �
� �� �� 

 $ 9�� 	
�
������ , �� �� �
��
��� ��8����	� ��  ��

�
� ����� ��� �� )
�	� ��
�������  ��� ����	+�� �� �
�� , � �
� ��
 ��
��	� �� �
����
  �����
  
�� � ���� �
�� 	� ��
��� $

�

� �� �+�� ,- ��� �����,- -� �+���- ,- � -��+�,�
��������� � 	
��
���� �� �
��������,�� �������������� �) ��� � �
�� ������ �� ����� � .

∂v

∂t
+ (v · ∇)v = −1

ρ
grad p+ ν4v,

�) �)* �
div v = 0.

�) �)$ �
���� ����������� ����� ����� ��� 
��
����� �� �
��������,�� �
�� �
 ���������� ��� ����
���� ��� �
����� � 	
��
������ � 	
������� � �� ���� 
���� ������
��� �� �
� ������������ 
���
������ �� ������ �

��� ���� ��������� ������� 	��� ���
� ���
���� �� ���� � 	����
� � !
� ����
����� " �� ���
���������� � 	� ���� �� ��� ��
������ ���� ���� � 
��� ����������� � #
�� �� �
� ��
���� " ����
�
 � �������� � 	�������
��� � 	���� ��� �������� �� ����
��� ���� �� �� � 	
��
���� �� �
�����
���$�� �

���� ��� ������
��� ����������
a
� �� �� �
���� ������� �
 ��
�����

a
" 
���� �� �
����
�

�� �
 ������ � 	� ���� � �
� �� ������ �
�� " ���

a(s) " �
�� � 	����
 ��

a
" ���
�

a0 %
a = a(s)a0.

�& �'(�



��& ���� � ��� � � �� ��� ���� ��	 �
 ����	

!
� � ����� " ������ % �������� % x = x(s)L,

�����
% t = t(s)t0,

������� % v = v(s)v0,

������
 % ρ = ρ(s)ρ0,

�������� % p = p(s)p0,

�
��� % m = m(s)M.

�& �'��

�� ���� �
����� ���� ��� ����
�
a0

��� �
� � �����

v0 =
L

t0
,

p0 = ρ0v
2
0 ,

ρ0 = ML−3.

�& �'��


��
�
�� ��� ���
����� �& �'�� �� �& �'�� �
�� � 	�� � �& �&� � �� � ����

u0

t0

∂v(s)

∂t(s)
+
v2
0

L

(
v(s) · ∇(s)

)
v(s) = − p0

ρ0L

1

ρ(s)
grad(s) p(s) + ν

v0
L2

4(s)v(s),
�& �'��

��� � 	�� ��������� �
�
t0/v0 %

∂v(s)

∂t(s)
+
v2
0t0
v0L︸︷︷︸
=1

(
v(s) · ∇(s)

)
v(s) = − p0t0

p0Lv0︸ ︷︷ ︸
=1

1

ρ(s)
grad

(s) p(s) +
νv0t0
v0L2

4(s)v(s).
�& �'� �

� �������� � �� 00�$  � ��0 "!� !�$ ��'��$�'�&� B �'  �! "0�2 ! ' L !$  �! -�$!&&! v0 500�$ ν = η/ρ
"� -�&�0&�$� ����� �$�� ! 1 "�� �1!5 �� �&&0��! � �!$ ��0 "!� !�$  � �0� 3'!�1�� !�&�0��!" �BB !"� "! "!+ 9$' 1' �'�"!)1C Re

1�. �� B �' �

Re =
Lv0
ν
.

�& �'��

� �����
�� �
 �
������� �� ������ �� �������� � 	�� � �& �'� � �������

∂v(s)

∂t(s)
+
(
v(s) · ∇(s)

)
v(s) = − 1

ρ(s)
grad(s) p(s) +

1

Re
4(s)v(s) .

�& �'&�

�� ��� �� � 	�� � �& �'&� �� 	�� � 	
��� �� �
 / 0�� � � !� �"#!$""�% %� �� � 	
��
���� �� �
�����
���$�� ��������������� �� �
�� ������ �� ����� �� �

�� ��� 
������ ���� ��� � &��� �
�� 
����� " ���������� 
� ����� " �� ���������� ����
��
���� ���� �
�
��
���
� �
� �� � &�� ������ �� �������� " 
���� �� ��� �� 	�� � 	
���
� 	'($)%�� �"*# #!� !%�!��# � +� �
�� ��� ������
 �� � 
��,�� ������
��� �
�� � 	
���� ��� 
����
��� ���� 
����� � 	�� - ��� �� ���. ���� �
� � ����� �

������ ��� � 	�������
�
���� �� ������ �� �������� � +� ������� � ��� � 	
����� ���� �

���� �

Re =
Lv0
ν

=
ρ0v0

η
L

=
ρv2

0
ηv0

L

.
�& �''�



� �� � 
��	 �� 	�� �
����� � � ������ �� �� ���
�	 ��'

� �
ρv2

0 = (ρv0)v0

 ��� ��� ������� �� � 	�������
�
���� � 	�� �� � 	��������� ��������� �

# 	
���� �
�� "
ηv0/L = (η/L)v0


 ��� ��� ������� �� � 	�������
�
���� � 	�� �� � 	���������
������� �
� �
� ���
�� �� �
 ��������
 ����� �� ��� ������ ������
��� � � � ���� �� ������ ��
�������� � 	�������,�� ����� �� �
����� �� �� ���������

Jc
��� �� �� �������

Jd % Re =
Jc/Jd

� �� ���� 
�
��� ��� �������
��� Re
����� �� �
����� �� ����� �
�
��
��������� � ��

����� �
�
��
�������� ��� ��� ������ ���������� ���
tc + L/v0

" �
���� ��� ����� ��� ��� ������
�������� ���

td + L2/ν
� � ���� Re = td/tc

� ���� ������� 
���� �
�
��� ��� �������
�
����
��� 
������ ���� ��� �
 �
�� �� ������ �� ��������

%	 � ($)%�� �"* 
 � �*!* Re %
�
�� �� �
�

ν � Lv0
" �� ����

tc � td
��
Jc � Jd

� �� �� 
������� ��� ��� ��
�� " ���� �� ����� �
�
��
�������� ��� ��� ������ �������� � �
�����
��� � � ���� ��� ����� ��� ��� ������ ���������� � ��� ������ ���������� ���� �
� ����
�
����� ��� ��
���� � #� ���� 
������ ���� � 	��������� ���� �� �
�� ��� �������� ����� ��
������� �
����� " �� ���� ��
���� � �� ���� � �� �
��
���� �� �
 ������� �
�� � 	�� � �& �'&� "
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(, ���  � - !*�##�
Γ

%� %$"
  �
γ

� ��

Γ =

∮

γ

ds · v. �& �'��
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ω =
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rot v.
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Γ =

∮

γ

ds · v =

∫

S

dσ · rot v
(6.79)
= 2

∫

S

dσ · ω, �& ��(�

�5
S

��� �
 ����
�� �� ����
γ
� ��� ����� �
���� ��� ����� �
���� ���� �
 ����
���� ��

����� ������ �

6 78 9:;<7 = �� ����� ���� &��� �� �
������ �����
������� " � 
�� � ������
���� ��� ����� �
�� ���� " �� ��
��,�� �� ���$�� ��� � �� �� �
�
�� �� �� ��� 
���

S
�
�� ������ �� ��
�� ��

������� ��� �
������ � 	��� �
� ������� ��� ����� � � �� �
��������� " �� ���
��� ��� 
�� ��
��� >�����? � 	��� �
� ������� ��� ����� � � !
� � ����� " �� �������� �� �
���

R
�����
��

� ������� 
����
��� �����
���
ω

�� ����
@�
�� �� ����� �� ����� ����� ��� ����
r > R

�� 
��
�� ��������
�� ���
����

v(r) = C/rêθ
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ê2

êr
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dΓ

dt

(6.78)
=

d

dt

∮

γ

ds · v = 0, ∀γ. �& �� ��
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ds %
dΓ

dt

(6.78)
=

∮

γ

d

dt
(ds · v) =

∮

γ

(
d

dt
ds

)
· v +

∮

γ

ds · dv

dt
.
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ds = (r + dr) − r = dr
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(
d
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)
· v = v · dds
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(6.83)
= v · dv = d

(
1

2
v2

)
.
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∮
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dΓ

dt
=

∮

γ

ds · dv
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∂v

∂t
+ (v · ∇)v

︸ ︷︷ ︸
= dv

dt

= −1

ρ
grad p+ f︸︷︷︸

=0

,
�& ��'�

��� � 	�� �� �,�� �
�� � 	�� � �& ��&� �� ���
�� ������ �� � 	������,�� � 	����������������
 ����
����� ��

dΓ
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ρ
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ds · grad p.
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dΓ
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ρ
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dσ · rot grad p,
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rot grad p = 0
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Γ
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mR2
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ω
4π
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ρ
grad p+ ν4v.
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D =

∫

S

dσ · v(x) =

∫ 2π

0

dϕ

∫ R

0

dr vz(r)
(6.104)

=
πR4

8νρL
∆p.
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Φ(x, z, t) = Aekz cos(kx− ωt).
�& ���� �

�����
�
�� �
 �������� �& ����� �
�� �
 ��������� 
� ����� �& ����� �� ���� �
 ���
���� ��
���� ������ %

k − 1

g
ω2 = 0,

=⇒ ω =
√
kg.

�& ���� �
�� �
���� �
 -!*�##�  � � , �#� �
�

vk =
ω

k

(6.129)
=

√
g

k
.
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vk
�
���� ��

k
�� �
��,�� ��� ���

��� " �� ���� �� � 
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����
�
���� �� � 	���� ��� 
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� �
� �
 - !*�##�  � 
 �$)� �
%

vg =
dω

dk
=

1

2

√
g

k
=

1

2

√
gλ

2π
.

�& ��� ��

��� ������
���� �� �
 ������� �� �����
v = (vx, vz)

����

vx =
∂Φ

∂x

(6.128)
= −Akekz sin(kx− ωt),

�& �����

vz =
∂Φ

∂z

(6.128)
= Akekz cos(kx− ωt).

�& ���� �

+����
vx = dx(t)/dt

��
vz = dz(t)/dt

" � 	���
��
���� ��� ��� � �& ����� �� �& ���� � ����� �

��������

x(t)
��
y(t)

� � 

������ " � 	
����
�� � 	�� ����,�� ��� ���

��� �� ��� 
��
�����
� ��� ��������� " ���� � 	��� �
� ������ �� �
�� 
���� �� 
���� �����
� ���
��� � �� ���� "
��� ��
������

x
��
z
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�
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�� �� � ����� �� ������ ��� ��� � �& ����� �� �& ���� �
�
������� �� ����� � � 	��
� ��� ������ � 	���
���� ��� 
��
����� ���� ��� ������ �
��
����

����� �� ����� � 	
�������� {x0, z0}

� ������
ζx = x(t) − x0

��
ζz = z(t) − z0

��� 
�
���
� �
 �������� � 	
�������� � ����� ����� �� � ��� ��� � ������ �� ������ ��� ��� � �& �����
�� �& ����� �
� ����� � ��������� 
� ����� � 	
�������� %

vx =
dζx
dt

= −Akekz0 sin(kx0 − ωt),
�& ���� �

vz =
dζz
dt

= Akekz0 cos(kx0 − ωt).
�& �����
�& ���&�



�'( ���� � ��� � � �� ��� ���� ��	 �
 ����	

� 	���
��
���� ��
t0

�
t
�������

ζx(t) = −Ak
ω

ekz0 cos(kx0 − ωt),
�& ���'�

ζz(t) = −Ak
ω

ekz0 sin(kx0 − ωt).
�& �����

��� �����
����� �
������� ���� �� ������ �� �
���
R(z0) = Akekz0/ω

�
�� �� ��
� {êx, êz}
����� �� ����� {x0, z0}
� ��� �
����� ��� ��� �� ������� �� �
� �
��� ��� ��� " � 
�� �
�

������ � 	���� 
 ��� ������� �� ������
vg

�
�� �
 ���������
êx

��� � � �� � & ��� � � �� �
 �
�����
z0

��� ���� " 
���� � 	
�������� ��� �����
�����
R(z0)

��� ���� �

êx

êz
vg

R

��� � & ��� 	 �������� ��� ����� �� ��
���
���� �

�9���� �7 �:� ����7<: ���7 = 
������� ������ �
 �������� ���� �� �
���� �� ����������
h
� # 
�� �� �
� " �� �
�� �
����
��� �
 ��������� �����
� ���
���

vz(z = −h) = 0.
�& �����

�� ���� ���� ��������� �
 �������� �� � 	�� � �& ���'� ��� ���
f(z) = Aekz + Be−kz " ��

�
��
�� ����� �� ��
B 6= 0

�
� ���� 
���� � ��
���� ��� ���������� 
� ����� � �
����
��� �
� ����

Φ(x, z, t) =
(
Aekz +Be−kz

)
cos(kx− ωt).

�& ���(�

��
�
�� � 	�� � �& ���(� �
�� �
 ��������� 
� ����� �& ����� �� 


Ae−kh −Bekh = 0,
�& ��� ��

� 	�5
B = Ae−2kh,

�& �����
��� � 	�� ���,�� �
�� � 	�� � �& ���(� ���� �������

Φ(x, z, t) =
[
Aekz +Ae−2khe−kz

]
cos(kx− ωt)

= 2Ae−kh 1

2

[
ek(z+h) + e−k(z+h)

]

︸ ︷︷ ︸
=ch[k(z+h)]

cos(kx− ωt)

= 2Ae−kh ch[k(z + h)] cos(kx− ωt).
�& �����
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 �������� " �� ��� ������ �
����
��� �� ����
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�� ���������� � !��� ���
 " ������
���� ��� ���������� 
� ����� �& ����� ��� 
��� � 	�� � �& ���(�
�������

k(A−B) − ω2

g
(A+B) = 0,

�& ���� �
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���� �	 �'�

� 	�5
A = B

gk + ω2

gk − ω2
.

�& �����
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�
�� � 	�� � �& ����� �
�� �& ����� �� ������� 
��,� �������� � 
���� �
����� 
��
�������

ω2 = gk
ekh − e−kh

ekh + e−kh
︸ ︷︷ ︸

= th(kh)

.
�& ���&�

� 	��������� �� � 	�� � �& ���&� �
�� �& ���� � ������� �
 �������� ��
�� �
����
��
�� ��� ����������

� ����� �& ����� �� �& ���� � � �
 ������� �� ������ �� � 	���� ���

vg =
dω

dk

(6.146)
=

1

2

√
g

k th(kh)

[
th(kh) +

kh

ch2(kh)

]
.
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� ���������� ������ ��� �
� ��� ���� %�� � �
��� ����������
h→ ∞ %

�
�� �� �
� �
 �
������ ������������ ���� ���� � 	����

� � 	����� " �� �� � 	�� � �& ���&� �� �������� �� �
����
� �& ���� � % ω =

√
gk

�
��� !����� ����������

h→ 0 % �
� �
����������� �� �
���� �� � 	�� � �& ���'� 
� ���� ���

����� ��
h


����� ��
h = 0

�����
vg =

√
gh
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� �� �
�� �� � 
�����	 
����� �	 ���	 �� �� 
�	�� �� �	�

� �������� � �� �$!*
f(x1, . . . , xn) ∈ A )"�  $"(*!$" �'�% %�  �

n
-��!��%�# �'�% %�#

x1, . . . , xn
�

/"  '" "!* %�  !� '��"*!�% %� *$*�%�
df

 �
f

� ��

df =
n∑

i=1

∂f

∂xi
dxi. �� ���

+����������  ! "#� $#�%�"& �!�
n = 2 ' !% ��%���

x1 = x ' x2 = y
� (&$$ ����� )&!  *��

"���#���! �!&+ ,��"%���� ��!  !�
A(x, y)

!%
B(x, y) ' ��&� )&!  !� "����%���� !+��%!-%-� &�!

,��"%���
f(x, y)

%!  ! )&!
A(x, y)dx +B(x, y)dy = df. �� ���

.�&� / ��$ ����! ' �!0 #�)&��� ' !� "�0 $#�#�%  !� �)� � �� ��� !% �� ��� ' )&!
f(x, y)

���%
1����!�  !� �! #%����

∂f

∂x
= A(x, y), �� ���

∂f

∂y
= B(x, y). �� �� �

# ! $ & � !� �&$$ ��#�% )&!
f

���% �! " #��! C2  !� ����1�!� �!"���!� "�0 0 &%!�% %
∂2f

∂x∂y
=

∂2f

∂y∂x
, �� ���

� *�5  # "����%��� ��"!��#��! !% �&� �#�%!
∂A

∂y
=
∂B

∂x
. �� �&�

.�&�
n 1#��#2 !� '  # �! #%��� �� ��� � *�"��%

n∑

i=1

Ai(x1, . . . , xn)dxi
?
= df, �� �'�

!%  # "����%��� ��"!��#��! !% �&� �#�%! ��&$$��#�%
f

�! " #��! C2� � �#%��,#��! $�&� )&! �� �'�
���% &�! �����!�%�!  ! %�%# ! !�%

∂Ai

∂xj
=
∂Aj

∂xi
, ∀ i, j = 1, . . . , n. �� ���

�'�



�'� ������ � � ����
���� �	


 / # ���"
n(n− 1)/2

"����%���� � �#%��,#��! � �� ��% #&��� )&!  *!+$�!�����
n∑

i=1

Ai(x1, . . . , xn)dxi �� ���

�����% &�!  $�� �  !� '��"*!�% %� *$*�%� �& >!+#"%!? ��  !� �! #%���� �� ��� ���% 1�����!� � �#��
 ! "#� "��%�#��! ' �� ��% )&!  *!+$�!����� "�-�!��&� �����% &�!  $�� �  !� '��"*!�% %� !"�� �(*� �

(&$$ ����� )&!  # ,��0 ! �� ��� ���% !+#"%! ' # ��� �� $ !&% 1��� )&!  # �� &%��� !�% �����!
$#�

f(x, y) =

∫
dxA(x, y) +

∫
dyB(x, y) −

∫
dy

∫
dx

∂

∂y
A(x, y) + cte

∣∣
x,y
. �� ��(�

��78� �7 = ���%  # ,��0 ! �����!�%�!  !
(3x+ y)dx+ xdy = 0, �� ����

# ��� �� 1����! ,#"� !0 !�% )& *� � *#� �% � *&�! ,��0 ! !+#"%! "#�
∂yA = ∂xB = 1

$�&�
A = 3x+ y

!%
B = x

� �# �! #%��� �� ��( � ,�&���% #�� ��
f(x, y) = 3

2x
2 + xy + cte, �� ����

)&� 1����! 2�!� �� ���� � �
�#��  ! "#� � *&�! ,��0 ! �����!�%�!  ! ��!+#"%! ' ��&� #1��� 1& )&!

∂yA 6= ∂xB
!%

 *!+$�!�����
A(x, y)dx+B(x, y)dy

�! �����% ���" $ &� &�! �����!�%�!  ! %�%# ! � +!$!��#�% '$�&� �!� ,��"%���� �! �!&+ 1#��#2 !� ' � !+��%! %�&-�&�� &� �& $ &��!&��  �(*�)�# !"*'
 ��"*#
µ(x, y)

%! � )&!
∂(µA)

∂y
(x, y) =

∂(µB)

∂x
(x, y). �� ����

� ���� � !+ ��%! %�&-�&�� &�! ,��"%���
f(x, y)

%!  ! )&!
df = (µA)dx + (µB)dy = 0

� 
 
� *!+ ��%! "!$ !��#�% $#� �! 0 �%�� �! 
 '"'��%� $�&� %��&1!�  ! ,#"%!&� ��%���#�%

µ(x, y)
�.�&� &�! ,��"%��� �!

n 1#��#2 !� '  ! ��02�! �! "����%���� � �#%��,#��! $ �&� #1��� &�!
�����!�%�!  ! %�%# ! !�% "�0 0 ! ��&�  *#1��� 1& ��# �

n(n− 1)/2
� �� $#�%�"& �!� ' ��

n > 2� ,#&% �#%��,#��! $ & � � *&�! "����%��� !% $#� "����)&!�% � � *!+ ��%! $#� ��"!��#��!0 !�% �!
,#"%!&� ��%���#�% �#�� "!� "#� �

� �� �� ��� � ���
�	

 � � ��

�! $��2 ,0 ! )&� "�����%! � !+%��0 # ��!� &�! "!�%#��! ��#��!&� !�% "�&�#�% !� $�/��)&! �
�� !�!% ' ��&1!�%  *�%#% � *�)&� �2�! � *&� �/�%,0 ! !�% ��%!�0 ��� $#�  *!+%��0 # ��#%��� � *&�!
)&#�%�%� $#�#0 �%�#�%  ! $��2  ,0 ! �$#� !+!0 $ !  ! �#$$��% �&�,#"! �&� 1� &0 ! �! ��&%%!�
� *!#& �#��  ! 1��! '  ! %!0 $� �#��  ! $���"�$ ! �! �!�0 #% '  ! "�!0 ��  ! $ &� "�&�% !%  !�
�������)&!� !� �! #%�1�%� �����# ! ' !%" �� �

	 �� �� 	
������ � �� 	� ��	 ���	 ��� ��	 ��
 ��
+�0 0 !����� $#�  ! "#� � &�! 1#��#2 ! � (��%  # ,��"%����!  !

I =

∫ x2

x1

dx f [y(x), y′(x), x], �� ��� �



� �� � ��
 ��
 ������������ ��	

�5
f

!�% &�! ,��"%��� "���&! ' y′(x) = dy(x)/dx ' !%
x1 ' x2

���% �+�� � �� "�!�"�! )&!  !
!�%  # ,��"%���

y(x)
)&� �!��

I
�%#%����#��! �0 �� �0 &0 ' 0 #+�0&0 ' �& $ ���% �!  ! � � 
 � *#� �%

� *&� $��2 ,0 ! ��� "� ! )&� �! $ ���,�! $#� ,��"�0 !�% �! �� &%��� � � ���� ' �� "�!�"�! &�!
"����%��� "'(�##�!�� $ �&� )&!

I
���% �%#%����#��! � �# ���"&����� �!� "����%���� #)� #�"*�#

$ !&% &%�! $ & � ��� "� ! � +!%%! ��� "& %� � *!+$ �)&! $#�  *!+ ��%!�"! � *!+%�!0 #  � "#&+ )&�
���,�!�% �!� !+%�!0 # #2�� &� � .#� !+!0 $ ! ' �!�#�����  ! "#� ��0 $ ! � *&�! ,��"%��� � *&�!
1#��#2 !

y(x)
�

O
x

y(x)

A

B

C

D

E

��� � � �� 	 �+%�!0 #� �! #%�,� !% #2�� & � �
+�0 0 !  ! 0 ��%�!  # � �� � � �� '  # "����%��� � *!+%�!0&0

dy/dx = 0
!�% �#%��,#�%! $ �&�

 !� "��) $ ���%� � ' � ' + ' � ' !% � � � � �!&  �  !� $���%� � !% + ���% �!� !+%�!0 # #2�� &� ' %#����
)&! � !% � ���% �!� !+%�!0 # �! #%�,� !% � &� $ ���% �!  ! � � �  ! $���"�$! �! 
#0 � %�� ,#�%#  &���� � &� 0 #+�0&0 �& 0 ���0&0 #2�� & � ��! ���"&����� �!  # "����%��� �! �&� �#�"!
$ �&�  ! "# "& 1#��#%����! !�% $���!�%�! �#��  # ��,��!�"! ��� �

(&$$����� )&!  # �� &%��� �& $��2 ,0 ! !+��%! ' !% ��%���- #
y(x)

� .#�#0 �%������  *!�-
�!02 ! �!� "�!0 ��� �! �#�%

(x1, y1)
�

(x2, y2)
$#�

y(x, λ) = y(x) + λη(x), �� ��	�
�5

λη(x)
!�%  # ��1�#%��� $#� �#$$ ��% �  # �� &%��� ' λ &� $#�#0 ,%�! "��%��& ' !%

η(x1) = η(x2) = 0. �� ����
�  ���

I(λ) =

∫ x2

x1

dx f
[
y(x, λ), y′(x, λ), x

]
. �� ����

.�&� )&!
I(λ = 0)

���% �%#%����#��! ' � ,#&% )&!

dI(λ)

dλ

∣∣∣∣
λ=0

= 0. �� ����

�� &%� ��#�%
∂y

∂λ

(A.15)
= η(x), �� ����

dy′

dλ
=

d

dλ

∂y(x, λ)

∂x
=

d

dx

∂y(x, λ)

∂λ

(A.19)
=

dη(x)

dx
, �� ����



��� ������ � � ��������� ��

y

y1

y2

x
x1 x2

∆y(x)

��� � � �� 	 ��#- !"%���! !+%��0 # ! !% �# ��1�#%��� �
�� ���� ���	��� �� ����� �	����
 ����� ����� 
� �	����	�

y(x) �
� ���� 
 �����	�
I

������ �
� � �� ���� ���	��� ��
������

�� ��� 
 ������ ∆y(x) = λη(x) � 
� �	

��	� �������� y(x) �

 # "����%��� �! �%#%����#��%� �� ���� � *�"��% !+$  �"�%!0 !�% "�0 0 !
dI(λ)

dλ

∣∣∣∣
λ=0

=

∫ x2

x1

dx

[
∂f

∂y

dy

dλ
+
∂f

∂y′
dy′

dλ

]

λ=0

(A.19)
(A.20)

=

∫ x2

x1

dx

[
∂f

∂y
η(x) +

∂f

∂y′
dη(x)

dx

]

λ=0

��	



��=

∫ x2

x1

dx

[
∂f

∂y
η(x) − η(x)

d

dx

∂f

∂y′

]

λ=0

+ η(x)
∂f

∂y′

∣∣∣∣
x2

x1︸ ︷︷ ︸
(A.16)

= 0

=

∫ x2

x1

dx η(x)

[
∂f

∂y
− d

dx

∂f

∂y′

]

(A.18)
= 0, ∀η(x). �� �� ��

�# �! #%��� �� �� �� �%#�% 1�#�! $ �&� %�&%! ,��"%���
η(x) ' �� !� %��! % �'�)�*!$"  � � )%��

d

dx

∂f

∂y′
− ∂f

∂y
= 0, �� ����

)&� ����!  # "����%��� �! �%#%����#��%� ������! � � %� �����  # ��%#%���

δI =
dI

dλ

∣∣∣∣
λ=0

, �� ����
# ���  # "����%��� �! �%#%����#��%� � *�"��% #&���

δI = 0
�

��78� �7 = "�!�"����  # ���%#�"!  # $ & � "�&�%! !�%�! �!&+ $���%� �#�� &� !�$#"! !&" �� �!� �
(��!�% �!&+ $ ���%�

P1 = (x1, y1)
!%
P2 = (x2, y2)

�#��  ! $ #� �", � � �� � � ��� ' # ���

I =

∫ x2,y2

x1,y1

ds =

∫ x2,y2

x1,y1

√
dx2 + dy2 =

∫ x2

x1

dx

√

1 +

(
dy

dx

)2

. �� ��
 �



� �� � � ����������� ��� �� �������� ���

y

y1

y2

x

x1 x2
dx

dy ds

P1

P2

��� � � �� 	 � ��%#�"!  # $ &� "�&�%! !�%�! �!&+ $ ���%� �

� ����
f(y, y′, x) =

√
1 + y′2 ' !%  *�)&#%��� �! �& !� �� ���� ,�&���% ���"

− d

dx

(
y′√

1 + y′2

)
= 0

=⇒
√

1 + y′2 = cy′

=⇒ y′ = a

=⇒ y(x) = ax+ b, a, b ∈ A . �� ��	�
� ���� '  ! "�!0 ��  ! $  &� "�&�% !�%�! �!&+ $ ���%� !�% 2�!� &�! ����%! � �

	 �� �� 	
������ � �� 	� ��	 ���	 � ������	� ��	 ��
 ���
� #��  ! "#� �����# ' f $!&% ��$!���! �! $ &��!&�� ,��"%���� ����$!��#�%!�

y1(x), . . . , yN(x)
�

�# ,��"%����!  ! � !+%��0 # ��!� � *�"��% # ���

I[y1, . . . , yN ] =

∫ x2

x1

dx f(y1, . . . , yN ; y′1, . . . , y
′
N ;x). �� ����

� ! ,#��� #�# ��&! ' �� ��%�� �&�% # ���
yi(x, λ) = yi(λ) + ληi(x) ' i = 1, . . . , N

� � %� ��#�%
 *����$!��#�"! �!�

ηi(x) ' &� "# "& ��0 � #��! � "! &� 0 !�#�% #&+ �)&#%���� �! �& !� �� ����
����!

d

dx

∂f

∂y′i
− ∂f

∂yi
= 0, ∀ i = 1, . . . , N. �� ����

� �� � � �	 
� �
��	�� �� �� � � ��� � � �

+���������� $ �&� "�0 0 !�"!�  ! "#� ��0 $ ! � *&�! ,��"%��� �! %���� 1#��#2  !�
f(x, y, z)!% � *&�! �!& ! "��%�#��%! � �# "����%��� ��"!��#��! !% �&� �#�%! $�&� )&!

f
#�% &� !+%�!0 &0

!�
r∗ = (x∗, y∗, z∗)

!�% )&!
∂f

∂x

∣∣∣∣
r∗

=
∂f

∂y

∣∣∣∣
r∗

=
∂f

∂z

∣∣∣∣
r∗

= 0. �� ����



��� ������ � � ��������� ��

�� "! $ ���%
df =

∂f

∂x
dx+

∂f

∂y
dy +

∂f

∂z
dz = 0. �� ����


 $ !&% ��#�0 ���� #���1!� )&!  !� %���� 1#��#2  !� {x, y, z} �! ���!�% $#� ����$!��#�%!� 0 #���! ��!� $#� &�! "����%���
ϕ(x, y, z) = 0. �� ����

�� $ �&��#�% !� $���"�$! � �0 ��!� &�! 1#��#2 ! !% "�!�"�!�  *!+%�!0&0 �!  # ��&1!  ! ,��"-
%��� �! �!&+ 1#��#2 !� � � �#�0 ���� ' "! # �&$$��! )& *� ���% $����2  ! � *��� !� &�! 1#��#2  !
!� &%� ��#�% �� ���� � ��! 0 �%�� �! # %!��#%�1! !�% "!  ! �!� �)%*!� %!(�*�)�# �� ��
 ���
 ��

�!  *�) � �� ��� � �� #

dϕ =
∂ϕ

∂x
dx+

∂ϕ

∂y
dy +

∂ϕ

∂z
dz = 0. �� �� ��

�!� �)� � �� ��� � !% �� �� �� �� # !� $#�%�"& �!�
df + λdϕ = 0 �� ����

#& $ ���% � *!+%�!0 &0 ' �5
λ ∈ A !�%  ! � )%*�� 	�(�*�)� �� ��
 ���
 �� �� ��1! �$$#�%

 *�) � �� ���� �� �2%�!�%
(
∂f

∂x
+ λ

∂ϕ

∂x

)
dx+

(
∂f

∂y
+ λ

∂ϕ

∂y

)
dy +

(
∂f

∂z
+ λ

∂ϕ

∂z

)
dz = 0. �� ����

+�0 0 !  !� %���� 1#��#2 !� ���% �! ��!� $#� &�! "��%�#��%! ' �� �! $!&% $#� ,#��! 1#��!� �!,#��� ����$ !��#�%!
dx ' dy ' !%

dz
$ �&� !+ ��!� )&! "�#)&! %!�0 ! !�%�! $#�!�%�,�!� �#��

 *�) � �� ���� � *#��& ! � � �#�0 ���� ' ��&�  # "����%���
∂ϕ/∂z 6= 0

�� $ !&% "������
λ

�! ���%!
� "! )&!

∂f

∂z
+ λ

∂ϕ

∂z
= 0, �� ��
 �

,�&�����#�% #����
λ = −

∂f
∂z
∂ϕ
∂z

. �� ��	�
� *�) � �� ���� �! ���&�% #�� �� �

(
∂f

∂x
+ λ

∂ϕ

∂x

)
dx+

(
∂f

∂y
+ λ

∂ϕ

∂y

)
dy = 0. �� ����

�� $ !&% � $���!�% ,#��! 1#��!� �! ,#��� ����$ !��#�%!
dx

!%
dy ' ���" "�#)&! $#�!�%�,�!

�#�� �� ��� � ���% &%�! �&  ! � �� ���&0 � ' ��&� �2%!���� #����
(
∂f

∂x
+ λ

∂ϕ

∂x

)
= 0, �� ���#�

(
∂f

∂y
+ λ

∂ϕ

∂y

)
= 0, �� ���2�

(
∂f

∂z
+ λ

∂ϕ

∂z

)
= 0, �� ���"�

ϕ(x, y, z) = 0. �� �����
�!� �)� � �� ���� ��
����!�% &� �/�%,0 ! �!

4
�)&#%���� $�&�  !�

4
��"���&!� {x, y, z, λ} �

�# �����# ��#%��� �
N 1#��#2 !� !%

C
"��%�#��%!� !�%  # �& �1#�%! �
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f(x1, . . . , xN ) ∈ A )��  ��(*��� ���

N
-�����	��

x = (x1, . . . , xN ) ∈
AN ! ���*

C
(�� *���� *��

ϕµ(x1, . . . , xN ) ∈ A !
µ = 1, . . . , C

! �� (	���� C1 �) -��� ���
 � ��

a ∈ AN ! ���*
ϕµ(a) = 0 ∀µ � �)�� ����� �� � 	)� �)�

det

{
∂ϕi

∂xj

}

i=1,...,C
j∈E

6= 0, ∀E, �� ����

��
E = {e1, . . . , eC}

��* )� ����� �	� �� (������	�*'
C

!
ei ∈ {1, . . . , N} � �)�

i = 1, . . . , C
�

� 	��� � �)� �)� 	� ���*��(*��� ��
f

�)� (�� *���� *��
ϕµ

�**��
�� )� �� *�'�� 	�(�	 �) � ��� *
a

�	  �)* �) ��	 �� ��*� C ��� ����
λ = (λ1, . . . , λC) ∈ AC *�	� �)�

∂f

∂xi

∣∣∣∣
x=a

+

C∑

j=1

λj
∂ϕj

∂xi

∣∣∣∣
x=a

= 0, i = 1, . . . , N, �� ���#�

ϕµ(a) = 0, µ = 1, . . . , C. �� ���2�
�� ���*�� � �� ��	
 ��" ��*

N + C
��)�*���� � �)� 	��

N + C
������)�� {a,λ} �

� ��
����
 � �� ��� ��� ���� ���	�
λ = (λ1, . . . , λC) ∈ AN

��*�� ����� * �) *, ����� � � ��
��� * ��� �	�� � &')$	 '$#()1&%� �1 �(�%(+� 1 �

��78 � �7 =  *��!�� �!
E0

�!  *�%#% ,���#0 !�%# � *&�! $#�%�"& ! �! 0 #��!
m

�#�� &�! 2 �@%!
$#�#  � �$�$ ���)&! �! "�%��

a ' b ' !%
c

!�%

E0 = A

(
1

a2
+

1

b2
+

1

c2

)
, A =

h2

8m
, �� �
��

�5
h

!�%  # "���%#�%! �! .  #�"� � 3&! !�%  # ,��0 ! �!  # 2 �@%! �! 1� &0 !
V (a, b, c) = abc + k


+� )&� 0 �� �0 ��!
E0

4
�� # �

f(a, b, c) = A

(
1

a2
+

1

b2
+

1

c2

)
, �� �
 ��

ϕ(a, b, c) = abc− k = 0. �� �
��
�� 1���
! )&!  !� "����%���� �& %����,0 ! �� ��� ���% �#%��,#�%!� ' ���"

∂f

∂a
+ λ

∂ϕ

∂a
= −2A

a3
+ λbc = 0, �� �
��

∂f

∂b
+ λ

∂ϕ

∂b
= −2A

b3
+ λac = 0, �� �

 �

∂f

∂c
+ λ

∂ϕ

∂c
= −2A

c3
+ λab = 0. �� �
	�

�� !� %��!
λabc =

2A

a2
=

2A

b2
=

2A

c2
, �� �
��

���%  # �� &%��� !�%
a = b = c �2� @%! "&2 �)&!� !%

λ = 2Aa−5 � �



��� ������ � � ��������� ��

	 �� �� � 	�
 �
� � ��	 ��������� ���� 
� ��	� �����
+����������  ! $��2 ,0 ! 1#��#%����! 0 #�� "!%%! ,��� !� $���!�"! �! "��%�#��%!� �
(��!�%

yi(x) ' i = 1, . . . , N ' �!� ,��"%���� ��!  !� )&� $ !&1!�% �! $#� �%�! ����$!��#�%!� '�� �%
y = (y1, . . . , yN ) ∈ A N ' y′ = (y′

1, . . . ,y
′
N ) ∈ A N ' �� �%

I0[y] =

∫ x2

x1

dx f(y,y′, x), �� �
��
# ��� �� "�!�"�!  *!+%�!0&0 �!

I0
��&�  !� "��%�#��%!� #&%���0 !� ��#�� ��$!��#�"! !+-

$ �"�%! �#��  ! %!0 $��
ϕµ(y,y′) = 0, µ = 1, . . . , C. �� �
��

+�0 0 !
ϕµ = 0

�� # #&���
C∑

µ=1

λµ(y,y′)ϕµ(y,y′) =

C∑

µ=1

∫ x2

x1

dxΛµ(y,y′, x)ϕµ(y,y′) = 0 �� �
��
$�&�  !�

C
,��"%���� )&! "��)&!�

λµ ' ��
����#�% #���� �0 $ �"�%!0 !�%
Λµ

$#�

λµ(y,y′) =

∫ x2

x1

dxΛµ(y,y′, x). �� �	��

����#�% �� �
� � �#�� �� �
�� �� #

I[y] = I0[y] +

C∑

µ=1

λµ(y,y′)ϕµ(y,y′) �� �	 ��

=

∫ x2

x1

dx

[
f(y,y′) +

C∑

µ=1

Λµ(y,y′, x)ϕµ(y,y′)

]
, �� �	��

!% �� "�!�"�! ���" � ����&��!
δI = 0. �� �	��

�� "���%#%! �!� �)� � �� ���� !% �� �	�� )&!  # �!"�!�"�! �!  *!+%�!0&0 �� �	� � !�% �)&�-
1# !�%! � %��&1!�  *!+%�!0 &0 �!

I0
��&�  !� "��%�#��%!�

ϕµ = 0 ' "! )&� !+#"%!0 !�% "!
)&! ��&� �������� � �� $ !&% # ��� ��$�%!�  *#��&0 !�% �! �%#%����#��%� �&�  *#"%��� ��
��! �
$���!�% $#�  *�) � �� �	�� � � ���� ' $�&�  !�

N −C 1#��#2 !�
yi

����$ !��#�%!� �� $#�#0 �%���!
 ! "�!0 �� $#�

yi(x) + εηi(x) ' �5
ηi(x)

���%  !� �"#�%� �  # �� &%��� ' ����$!��#�%� � .�&�
 !�

C 1#��#2 !� �!�%#�%!�
yi '  !� 0& %�$ �"#%!&�� �! �#��#��!

Λi
$ !&1!�% �%�! "������ �!

0 #��,�! � "! )&!  !� �)&#%���� �! �& !� ���!�% �#%��,#�%!� ���0 #�"�! ��0 � #��! � "!  ! �!�
�)� � �� ��
 � !% �&�1#�%!� ����� � �! ���&  %#% !�% ����� $#�  !  !0 0 ! "�-�!���&� �
�78 8 7 � �� � ���

g(y,y′, x) = f(y,y′, x) +

C∑

µ=1

Λµ(y,y′, x)ϕµ(y,y′), �� �	
 �
�	��� 	��

yi(x)
��	� ��� 	 ������� �� �� �
 ���� �� �����	� ��

�
� 	��

C
��� ����� ���

ϕµ = 0
��� �

������ �� ���� 	-�� � 	��
N+C

��������� � ��� 	��
N+C

-�����	�� {y1, . . . , yN ,Λ1, . . . ,ΛC}
�

d

dx

∂g

∂y′i
− ∂g

∂yi
= 0, i = 1, . . . , N, �� �		#�

ϕµ(y,y′) = 0, µ = 1, . . . , C. �� �		2�



� �� � ��� ����� � �� ����� �� �����
P

�� �

� �� �
 ��	 

 � �
� 
 ��� � �� �����
p

� ��
����
 � �� ����
xi ∈ A !

i = 1, . . . , n
! �	���

�
��  �� �����

f(x1, . . . , xn)
��� ����

�*� *� �+1 �1 �1�%�
p ∈ � � �

f(λx1, . . . , λxn) = λpf(x1, . . . , xn), ∀λ ∈ A . �� �	��
�78 8 7 � �� ��1�� 1 �1 	& '1%
 ����

x = (x1, . . . , xn)
! ����

f(x) �
��  ������� , �� ��


 ��� �� ��
 ��
p

! �	���
n∑

i=1

xi
∂f(x)

∂xi
= pf(x). �� �	��

� :7<�7 = ���%
y = (λx1, . . . , λxn) ' # ���

df

dλ
(y) =

n∑

i=1

∂f

∂yi︸︷︷︸
= 1

λ
∂f
∂xi

dyi

dλ︸︷︷︸
= xi

+
∂f

∂λ︸︷︷︸
= 0

=
1

λ

n∑

i=1

xi
∂f

∂xi
(y)

=⇒
n∑

i=1

xi
∂f

∂xi
(y) = λ

d

dλ
f(y)

(A.56)
= λ

d

dλ
λpf(x) = pλpf(x)

(A.56)
= pf(y). �� �	��

�!"� �%#�% 1�#� ∀λ ∈ A ' !� "�������#�%
λ = 1

�� #
y = x ' "! )&� #"��1!  # $�!&1! �

�

� �� 
�� � ��
 �� �	 

 � �� � �� �����

	 �� �� ��� ��	��
� ���	 � ���� ��	 ��
 ��
(��% &�! ,��"%��� ��!  !

y(x)
� *&�! 1#��#2 ! ��!  !

x ' �� �%
p(x) = dy(x)/dx

 # $ !�%!
#& $���%

x
� .�&� ��"���!  *�)&#%���

y(x)
�� �����! &%� ��!�  # 1#��#2  !

p
$ &%�% )&!

x
� �#

%�#��,��0 #%��� $ !�0 !%%#�% �! "�������!�
p

"�0 0 ! ��&1!  ! 1#��#2 ! ����$ !��#�%! $ �&�
��"���!

y(x)
�#�� $ !�%! � *��,��0 #%��� !�% #$$! �! ����� ��� ����� �� ��
 ������

� *#$$�� "�! $ �&� "���%�&��! "!%%! %�#��,��0 #%��� !�% �! "�������!�  # "�&�2 !
y(x)"�0 0 !  *!�1! �$$ ! �! �!� %#��!�%!� � � ���� %�&% $ ���% �!  # "�&�2!

y(x)
$ !&% ���% �%�!

��"��% $#�  !� "�&$ !� {x, y} ' �& $#�  # $!�%!
p

�! �# %#��!�%! !%  *��%!��!"%���
ψ(p)

�!  #
%#��!�%! #1!"  *#+!

y = 0 �", � � �� � � �
 � �

x

y

p

(x, y)

(0, ψ)

��� � � �
 	 ��#��,��0 #%��� �! �!�!���! !� ��0 !����� &�! �



��� ������ � � ��������� ��

.�&� )&!  *��,��0 #%��� ���% "���!�1�! $#�  # %�#��,��0 #%��� � !�% ��"!��#��! �! ��
���
&�! #$$ �"#%��� 2�� !"%�1! � �# "�&�2 !

y(x)
���% ���" �%�! �%��"%!0 !�% "��"#1! �& "��1!+!

�#��  ! ��0 #��! �! ��
��%��� �!  # %�#��,��0 #%��� � � ����  # �!�"��$%��� �!  # "�&�2! �
 *#��! �!

y(x)
!�% �)&�1# !�%! � "!  ! &%� ��#�%  # ,#0 �  ! �! %#��!�%!�

ψ(p)
�

��0 0 !�% "���%�& ��!
ψ(p)

"���#���#�%
y(x)

4 �� 1��% �  *#��! �!  # � �� � � �
 )&!

p =
y − ψ

x
, �� �	��

� *�5
ψ = y − px. �� ����

ψ(p)
!�%  # ����� ��� �� �� ��
 ����� �!

y(x)
� � #��  *�) � �� ��� � ' ψ �! ��$ !�� $ &� �!

x)&� ���% �%�! !+$��0 � !� ,��"%��� �!
p

� �� !+$��0 ! ���"
x = x(p)

�  *#��! �!  # ��
��%���
p = dy(x)/dx �$#�  ! %�����0 ! �!� ,��"%���� �0 $ �"�%!� ' "!%%! �! #%��� !�% ��1!���2 ! ��
y(x)

!�% �%��"%!0 !�% "��"#1! �& "��1!+!� ' $&�� �!0 $ #"!
x = x(p)

�#��  *�) � �� ���� $�&�
�2%!���

ψ(p) = y
(
x(p)

)
− px(p). �� �� ��

� *!+ ��%!�"! �!  # %�#��,��0 �! �! �!�!���! !�% �#�#�%�! $#�  # "����%��� �! "��1!+ �%� �
�"��"#1�%�� �%��"%! ' #��&�#�% #���� &�! %�#��,��0 #%��� 2 �� !"%�1! �
��78� �7� =

� � (��%
y(x) = ax2 ' a > 0 ' x > 0

� �� # ���"
p = dy/dx = 2ax ' x(p) = p/2a ' !%

ψ(p) = y
(
x(p)

)
− px(p) = a

( p
2a

)2

− p
p

2a
= − p2

4a
. �� ����

� � �!% !+!0 $ ! �  &�%�! &� "#� �5  !� "����%���� $ �&�  *!+ ��%!�"! � *&�! %�#��,��0 �! �!
�!�!���! �! ���% $#� �#%��,#�%!� � (��%

y(x) = ax+ b
� �� # ���"

p = dy/dx = a ' !%
ψ(p) = y

(
x(p)

)
− px(p) = b. �� ����

�# $ !�%! �!
y(x)

!�% "���%#�%! !% $#� "����)&!�%
ψ(p)

!�% "���%#�%! �", � � �� � � �	� �

x

y

b

y = ax+ b

��� � � �	 	 ��#��,��0 #%��� � *&�! ����%! �
� �#�0 ���� ' "�0 0 !

y′′(x) = 0
"!%%! ,��"%��� �! �#%��,#�% $#�  # "����%��� �! "��1!+�%�

�"��"#1�%�� �%��"%! � �# %�#��,��0 �! �! �!�!���! � *!�% #�� �� $#� ��
��! !%  # �! #-
%��� �� ���� $#� 1# ��! � �� !�!% '  *�) � �� ���� �! ��$ !�� )&! � *&� �!& $#�#0 �%�! ' "!

��	��
Ω ⊂ � � �
	�� 
�� �	����	�

f : Ω 7→ � ��� ��� �	����� ��
f(αx + (1 − α)y) ≤ αf(x) + (1 − α)f(y)�	
� �	
�

x, y ∈ Ω
��

α ∈ [0, 1] �
��

f
��� �	����� � �
	�� −f

��� �	����� �



� �� � �������������� �� �������� ���

)&� !�% ���&� �#�% $�&� ��"���! &�! ����%! �#��  ! "#� �����# � 
 / # ���" !& $ !�%!
� *��,��0 #%��� ' !%  # %�#��,��0 �! �! �!�!���! � *!�% $ & � ��1!���2 ! � � ! $ &� ' "�0 0 !
p = dy/dx = a

!�% ����$!��#�% �!
x ' � � *# $#� �%� $ ����2 ! � *��1!��!�  # �! #%���

$�&� !� %��!�
x = x(p)

� � ����  *�) � �� ���� !�% �2%!�&! !� $ ��#�%
x = 0 ' "! )&� � *!�%

�&   !0 !�% �&�%�
� � �!% !+!0 $ ! $!�0 !% � *�����%!� �&�  *�0 $��%#�"! �!  # "����%���
�! "��"#1�%� �"��1!+ �%� � ��������

� � (��%
y(x) = − cosx ' x ∈ I = [0, π/2[

� �� # ���"
y′′(x) = cosx > 0 ∀x ∈ I ' !%

p = dy/dx = sinx ' p ∈ [0, 1[
� � ����

ψ(p) = y
(
x(p)

)
− px(p) = − cos (arcsin p) − p sin p = −

√
1 − p2 − p sin p. �� ��
 �

�

�78 8 7 � �� �� ����� ��� ����� �� ��
 ����� ���
�
�� ��-�	

�
���� �

� :7<�7 = $#� "���%�&"%���  # %�#��,��0 �! �! �!�!���! !�% 2�� !"%�1! !% �! $  &� ��-� 	
�
��-� '" *!�%-�-���! )&!  # %�#��,��0 �! �!  # %�#��,��0 �! �! �!�!���! !�%  *��!�%�%� � (��%

ψ(p) =
(L y)(p)

 # %�#��,��0 �! �! �!�!���! �!
y(x)

�&� &� ��%!�1#  ! "���!+!
Ω ⊂ A %! )&!

y′′(x) > 0 ∀x ∈ Ω ��& 2�!�
y′′(x) < 0

� � 
 ,#&% ���" 1���
!� )&!
(Lψ)(x) = y(x) ' � �! �

L 2 = � � .#� ��
��%���

ψ(p) = y
(
x(p)

)
− px(p), p =

dy

dx
. �� ��	�

(��%
z

 # $!�%! �!
ψ(p)

�

z =
dψ(p)

dp

(A.65)
=

dy(x(p))

dp
− x(p) − p

dx

dp
=

dy

dx︸︷︷︸
(A.65)

= p

dx

dp
− x(p) − p

dx

dp
= −x(p), �� ����

# ��� !� #$$ �)&#�%  # ��
��%��� �!  # %�#��,��0 �! �! �!�!���! �&�
ψ(p)

�� #

(L ψ)(z)
��� �
= ψ

(
p(z)

)
− zp(z)

(A.65)
= y[x(p(z))] − p(z)x(p(z)) − zp(z)

(A.66)
= y[x(p(z))]−p(z)x(p(z)) + x(p(z))p(z)︸ ︷︷ ︸

=0

= y(z). �� ����
��0 0 !

z
!�% &�! 1#��#2 ! 0 &!%%! ' �� $ !&%  # �!��0 0 !� !�

x ' "! )& � #"��1!  # $�!&1! �
�

	 �� �� ��� ����	� �
� ��
����
 � �� ����

x = (x1, . . . , xN ) ∈ AN ! ����
Ω ⊂ AN �

� ������� ������ �!
f :

Ω → f ⊂ A !
f ∈ C2(Ω)

!
(D2f)(x)

	� � ������ , ��� ����� ��
f

� ��	���� ��

∂2f

∂xi∂xj
(x), i, j = 1, . . . , N, �� ����



��
 ������ � � ��������� ��

����
pi = ∂f(x)/∂xi

!
p = (p1, . . . , pN) ∈ A N

� �
�
�� ����� ��� � �

�
� ��

�
�
x ∈ Ω

	� � ������
, ��������

(D2f)(x)
��
f

���� �������� �� � ��" ��� � �� ���-� ��
�
�������� �� � ��" ��� � �
 ���-�
 !

�	��� �� ��" ��� 	� )%(+�� *%� �1 �1 �1� 1+�%1
(L f)(p)

��
f(x)

� ��

L : Ω −→ Σ ⊂ A N

x 7−→ (L f)(p) = f(x(p)) −
N∑

i=1

pixi(p).
�� ����

�# %�#��,��0 #%��� �! �!�!���! $ !&% #&��� �%�! ��# ���! �&� &� ��&�-!��!0 2 ! �! 1#-
��#2  !�

x′ = (x′1, . . . , x
′
M ) ∈ AM ' M ≤ N

� (�  # ,��"%��� �� �%�# !
f(x)

!�% "��1!+! ��&
"��"#1!� �#��  !� 1#��#2 !�

x′ ' # ���  # %�#��,��0 �! �! �!�!���!
(L f)(p′)

�!  # ��
��-
%��� � �
 !�% "��"#1! ��!�$ !"%�1!0 !�% "��1!+!� �#��  !� ��&1!  !� 1#��#2 !�

p′ �
6 78 9:;<7 = �� %��&1! $#�,� �� �#��  #  �%%��#%&�! &�! ��
��%��� �!  # %�#��,��0 �! �!
�!�!���! )&� �����! #& ����! $��� �! "!  ! )&� !�% �����! �"� ���� � ��#�0 ���� '  *�) � �� ����
!�%  # ��
��%��� )&� !�% "�0 0&��0 !�% #�0 ��! !� $#�%�"& �!� !� �, ��� ������ ���� ' �5 !  !
��&! &� ��  ! �0 $ ��%#�% ��	� � .#� !+!0 $ ! ' ��

U = U(S, V,N)
!�% 	 �����
 �� �� ����� ' S  *!�-

%��$�! ' V  ! 1� &0 ! ' !%
N

 ! ��0 2�! �! $#�%�"& !� ' # ��� � $ !&% #���1!� )&!
S

�! ���% $#�
&�! 1#��#2 ! �&��"�!& �! $ �&�  # �!�"��$%��� �! "!�%#��� �/�%�0 !� � *!�%��$�! � *!�% $#� &�!
��#��!&� �  #)&!  ! �� # !+$���0 !�%# !0 !�% ,#"� !0 !�% #""��� � � ���� ' �� $ !&% $��,��!� �
 # 1#��#2 ! !�%��$�!

S
 # ��#��!&� "���&�&�! %!0 $ ��#%&�!

T
��
��! $#�

T = ∂U/∂S
� �#

%�#��,��0 �! �! �!�!���! �!  *��!�� �! ��%!��!
U

$#� �#$$ ��% �  *!�%��$�!
S

!�% #$$ ! �!
����
 �� 	���� !% !�% ���"

F = U − TS
� � *�  �0 ��#%��� �!

U
!%
S

,�&���% #����  *��!�� �!
 �2�!

F = F (T, V,N)
!� ,��"%��� �!  # ��&1!  ! ��#��!&�

T
� 
�1!��!0 !�% ' �� �� $#�% �!

F = F (T, V,N) ' ���"! �  # $��$���%� � *��1� &%��� �!  # %�#��,��0 #%��� �! �!�!���! ' ��
$!&% �!%��&1!�  *��!�� �! ��%!��! � � ���� �� �!0 $ #"!

T
$#�

S = ∂F/∂T ' !%
U = TS − F

�
� *� �0 ��#%��� �!

F
!%
T

"���&�% �
U = U(S, V,N)

� �

� �� � �
�� 
� � �� �
�	

 � � �� �	 �
 �� � �
�� � ��� 
�	
 � 
��

�!� �)&#%���� �! �#��#��! ��"�& !�% � *&� $���"�$! 1#��#%����! � 3& *!� !�%-� $�&�  !��)&#%���� �! 
 #0 � %�� 4
��&� 0 ��%���� )&!  ! $���"�$! �! 
#0 � %�� �%!��& �  *!�$#"! �!� $�#�!� 0 ��! #&+

�)&#%���� "#����)&!� � ��&� #1��� 1& �#��  # (!"% � � �� )&!  ! $���"�$! �! 
 #0 � %�� � *�"��%

δS[q] = δ

∫ t2

t1

dt L(q, q̇, t) = 0. �� ����
�! $���"�$ ! � *!+$��0 ! ���" �#��  *!�$#"! �! "��
�&�#%��� � �# $�!0 ���! 0 � ��
"#%���
"�����%! � ,��0 & !� "! $���"�$! �#��  *!�$#"! �!� $�#�!� ' " *!�%-�-���! !� "�������#�%  *#"-
%��� "�0 0 ! ,��"%��� �!� 1#��#2 !� ����$!��#�%!�

q
!%

p
� �� &%� ��#�%  # ��
��%��� �� ���

�!  *�#0 � %�� �!� )&!  *�� �����! �#��  *�) � �� ���� � 1 �!�% �

δS[q,p] = δ

∫ t2

t1

dt

(
l∑

i=1

piq̇i −H(q,p, t)

)
. �� ����

�� ��% $#�,� �� �!  # �! #%��� �� ���� )& *� � *#� �% �& � ������ � �� � �� �	��� � ���" �� ��
"���%#%! )&! "! $���"�$! # !+#"%!0 !�%  # ,��0 ! � *&� $���"�$! 1#��#%����! �#�� &� !�$#"!
�! ��0 !�����

2l
� .#� "����)&!�% �� $!&% #$$ �)&!�  ! %�����0 ! � �� #1!"

y1, . . . , yl =



� ��� ������ �� �� � ������ � � ������� �� ��� ��	

q1, . . . , ql ' !%
yl+1, . . . , y2l = p1, . . . , pl ' !%

F
[
y1(x), . . . , y2l(x); y

′
1(x), . . . , y

′
2l(x);x

]
=

l∑

i=1

piq̇i −H(q,p, t). �� ����
�!�

2l
�)&#%���� �! �& !� ���% #����

d

dt

∂F

∂q̇i
− ∂F

∂qi
= 0, i = 1, . . . , l, �� ���#�

d

dt

∂F

∂ṗi
− ∂F

∂pi
= 0, i = 1, . . . , l, �� ���2�

"! )&� #1!"  *�) � �� ���� ����! �

ṗi +
∂H

∂qi
= 0, i = 1, . . . , l, �� ��
#�

q̇i −
∂H

∂pi
= 0, i = 1, . . . , l. �� ��
2�

�!� �)� � �� ��
 � ���%  !� �)&#%���� "#����)&!� �� ��� � �! ,#�% )&!
q

!%
p

��&!�% &� ��  !
�/0 �%��)&! �#�� "!%%! ����1#%��� 0 ��%�! � ��&1!#& )&! �#��  ! ,��0 # ��0 ! �#0 � %�� �!�
� � *!+ ��%! $#� �! 1#��#2 ! >$��1� �� ��!? � .�&� $  &� �! ��%#� � �&�  ! $���"�$! �! 
#0 � %��
0 � ��
� ' 1��� ��	� �

� �� ��
 ���	� �� �
 
��
 � �	 � ������ �� � 
�

(��!�%
F (q,p, t)

!%
G(q,p, t)

�!&+ ,��"%���� �&�  *!�$#"! �!� $�#�!� ' # ���  !� "��"�!%�
�! .������ �!

F
!%
G �", � ��
��%��� � ���

{F,G} =

l∑

i=1

(
∂F

∂qi

∂G

∂pi
− ∂F

∂pi

∂G

∂qi

)
�� ��	�

$ !&1!�% �! ���"���! ��&�  # ,��0 ! �", � �!"% � � �
 �� ���
{F,G}Y = (gradY F )

t · J · (gradY G) , �� ����
�5

Y = (q1, . . . , ql, p1, . . . , pl) ∈ A 2l !%

J =

(
0 �l

−�l 0

)
. �� ����

�78 8 7 � �� ��� ����, ��� �� � ������ ��� � ��-����� �� ��
�
�
�
�� ����� ��� ����� ��������� �

� :7<�7 = (��!�%
F (Y, t)

!%
G(Y, t)

�!&+ ,��"%���� �&�  *!�$#"! �!� $�#�!� ' ���% &�! %�#��-
,��0 #%��� "#����)&! #&%���0 !

Y 7→ Z = Z(Y) �$ �&� �!� �#����� �! ��0 $ �"�%� ' ��&��!�%�!������ �"�  # ���"&����� #& "#� )& � �! ��$!�� $#� !+$  �"�%!0 !�% �& %!0 $�� ' # ���

∂F (Z, t)

∂Yi
=

l∑

j=1

∂F

∂Zj

∂Zj

∂Yi
, �� ����

" *!�%-�-���! 1!"%���!  !0 !�%
gradY F = (Dφ)t · gradZ F, �� ����



��� ������ � � ��������� ��

�5
(Dφ)

!�%  # 0 #%��"! � #"�2�!��! �!  # %�#��,��0 #%��� ' � *� �0 !�%�
(Dφ)ij = ∂Zi/∂Yj

�
� ���� ' &%� ��#�%

(A · B)t = Bt · At '  !� "�� "�!%� �! .������ �� ���� � *�"��1!�%
{F,G}Y = ((Dφ)t · gradZ F )t · J · ((Dφ)t · gradZG)

= (gradZ F )t · (Dφ) · J · (Dφ)t · gradZG. �� ����
� �  # %�#��,��0 #%���

Y 7→ Z = Z(Y)
�%#�% $#� �/$ �%���! "#����)&! '  !  !0 0 ! � �� #� �0 !

)&!  # 0 #%��"! � #"�2 �!��!
(Dφ)

!�% �/0 $ !"%�)&! ' " *!�%-�-���! $#� ��
��%���
(Dφ) · J ·

(Dφ)t = J ��5 �� # &%� ���  ! ,#�% )&!  # %�#��$ ���! � *&�! 0 #%��"! �/0 $ !"%�)&! !�% !�"��!
�/0 $ !"%�)&!� � � ����  *�) � �� ���� �!1�!�%

{F,G}Y = (gradZ F )t · J · gradZG = {F,G}Z, �� �� ��
"! )& � �����
! )&!  !� "�� "�!%� �! .������ ���% ��1#��#�%� ��&� &�! %�#��,��0 #%��� "#��-
��)&! ' !% $#� "����)&!�% #"��1!  # $�!&1! �

�

� ��
����
 � �. �� ����:7 �7 � �7� ���� K = A �
� � ! �	���

�
�� ('� �2%1 �1 � $1 �

�
� K���

�
� ��� ��� -�������	 L �� ��� ��� ��� " ��� �

�
� 	� ���� � K �

�
�� � �

�
�� 	�� �� ���� �� �����

����� {·, ·} �� ����� ����� �

{αX + βY, Z} = α{X,Z} + β{Y, Z}, ∀α, β ∈ K, ∀X,Y, Z ∈ L, �� ���#�
{X,Y } = −{Y,X}, ∀X,Y ∈ L, �� ���2�

{X, {Y, Z}}+ {Y, {Z,X}}+ {Z, {X,Y }} = 0, ∀X,Y, Z ∈ L. �� ���"�
�# �! #%��� �� ���#� %�#�&�%  #  ���#��%! ' �� ���2�  *#�%��/0 �%��! ' %#���� )&!  *�) � �� ���"�

!�% #$$! �! ���� ���� �� ������ � 
 !�% # ��� ,#"� ! �! 1���
!� )&!  !� "�� "�!%� �! .������
1���
!�%  !� �! #%���� �� ���� �

(� �� "�������!  ! "��"�!% �! .������ �!
F

!%
G

"�0 0 ! &�! ���%! �! $�� �&�% �����# ���
�! "!� �!&+ ,��"%���� ' # ���  *��!�%�%� �! �#"�2 � !+$��0 !  #  �� � *#���"�#%�1 �%� �! "! $���&�% �.#� �$$ ���%��� �  *#��%�0 �%�)&! &�&!  ! )&� !�% #���"�#%�1! ' " *!�%-�-���!

a(bc) = (ab)c ' *��!�%�%� �! �#"�2� ����)&! )&!  ! >$�� �&�%? �! .������ � *!�% $#� "�0 0 &%#%�, � � *����! �!�
�$ ��#%!&�� !�% �0 $��%#�% �
� ��
����
 � �	 �
�
��9
�7� �7 ��:<��<:7� � ��� L �

�� �	� ���� �� � �� �� {e1, . . . , ed}
�
�� ���� �� 	 ���� ��� -�������	 L � �� ����, �� {·, ·} � �

�
� �	��� � ���� ��� ��

{ei, ej} =
d∑

k=1

ckijek. �� ����

��� ���� ���� ��
ckij

� ���� �	 	�� � 	�� #*+�)(+ )1� �1 �)%&#)&%1 �� 	 ��	� ���� �� � �� L �

��78� �7 =  !� �������� �� � �
�
	� ��!�"��%��!� �#��  ! %�#@%!0 !�% �& �$ �� !� 0 �"#��)&!

)&#�%�)&!� ,��0 !�% &�! # ��2�! �! � �! �

{e1, e2, e3} =

{(
0 1
1 0

)
,

(
0 −i
i 0

)
,

(
1 0
0 −1

)}
. �� ��
 �

�#�� "! "#� '  !� "���%#�%!� �! �%�&"%&�! ���%
ckij = 2

√
−1εijk, �� ��	�



� �� � ��� ��� ��� ������ ���

�5
εijk

!�%  ! ��� ��	� �� ��-����- ��� ��
�� $#�

εijk =





0
�� �!&+ ����"!� ���% ��!�%�)&!�

,

1
��

(i, j, k) = {(1, 2, 3), (2, 3, 1), (3, 1, 2)} ,

−1
��

(i, j, k) = {(3, 2, 1), (1, 3, 2), (2, 1, 3)} .

�� ����

�

� �� �� ��� � 	 �� �
�
��

(��!�%
x = (x1, . . . , xd) ∈ Ad  !� "��������!� �#��  ! ��,��!�%�! 

R ' !%
x′ = (x′1, . . . , x′d) ∈

Ad  !� "��������!� �#��  ! ��,��!�%�! 
R′ � (&$$ ����� )&!  # �! #%���

x′ = x′(x)
���% &� ��,-

,��0 ��$� ��0 ! �#$$ �"#%��� 2 �� !"%�1! �����!�%�#2 ! ���%  *��1!��! !�% #&��� �����!�%�#2 ! � �
�  ���  # 0 #%��"! � #"�2�!��! "���!�$���#�% #& "�#��!0 !�% �! "��������!�

x 7→ x′ !�%
�����! $#�  ! %!��!&�

Λ
� *� �0 !�%�

Λµ
ν =

∂x′µ(x1, . . . , xd)

∂xν
. �� ����

� *��1!��! !�%
(Λ−1)µ

ν =
∂xµ(x′1, . . . , x′d)

∂x′ν
. �� ����

�� #��$%#�%  # "��1!�%��� �! � ���%!�� �! ��  #)&!  ! � / # ��0 0 #%��� �&�  !� ����"!�
��$ �%�� ' �� # ���"

dx′µ = Λµ
νdxν . �� ����

��&� !+$ �)&��� $ &�  � ��  # �����
"#%��� �!  # $���%��� �!� ����"!� � �!0 #�)&��� ��� � )&!
 *!�!% �!  # %�#��$ ���%��� !�%

(Λµ
ν)t = Λ µ

ν

�
� ��
����
 � �� �� �, ���

b = {bµ}d
µ=1 ∈ A d ��� ��� #*0(%$(+) � � 	��� � �

�
� �, ��� �� �� �

�� �� ���� ���	 �	 �� ����� ��� � ��	��

b′µ(x′) = (Λ−1)ν
µbν(x). �� ����

� ��
����
 � �� �� �, ���
b = {bµ}d

µ=1 ∈ Ad ��� ��� #*+)%(0(%$(+) �� 	��� � �
�
� �, �� �

� �� �� � �� �� ���� ���	 �	 �� ����� ��� � ��	��

b′µ(x′) = Λµ
νb

ν(x). �� �� ��
� ��
����
 � �� �� $+0(%$(+) ��

�
���	����
 ���

�
�� � �����

�
�
b �� � � ��� ��

�
� �� ���� ���	

-���" �
b(x) = b′(x′)

�

�78 8 7 � �. ����
aµ �

� �, ��� ��� ���-����� �!
bµ �

� �, ��� ��-����� �! �	���
aµbµ

���
�
�

��-����� � �

aµ(x)bµ(x) = a′µ(x′)b′µ(x′). �� ����

� :7<�7 = � !� ��
��%���� � �� !% � �� � 1 �!�%
a′µb′µ = Λµ

νa
ν(x)(Λ−1)γ

µbγ(x) = aνbγ Λµ
ν(Λ−1)γ

µ︸ ︷︷ ︸
=(Λ−1·Λ)γ

ν

= aνbγδ
γ
ν = aνbν . �� ����

�



��� ������ � � ��������� ��

� ��
����
 � ��� �� )1+�1&%
b

��� ���-����� � �� ����
p

�� ��-����� � �� ����
q

��� ��	

��� ��
�
�
�
� �, ��� �� �� � �� �� ���� ���	 �	 �� ����� ��� � ��	��

b′
α1...αp

β1...βq
= C(Λ)Λα1

γ1
. . .Λαp

γp
(Λ−1)δ1

β1
. . . (Λ−1)

δq

βq
b
γ1...γp

δ1...δq
. �� ��
 �

� � �
C(Λ) = 1 ∀Λ

! �	���
b

���
�
� )1+�1&% �

� � �
C(Λ) 6= 1 ∀Λ

! �	���
b

���
�
� 	 �1&�*
)1+�1&% �

� � �
C(Λ) = sign(Λ0

0) ∀Λ
! �	���

b
���

�
� )1+�1&% 	 �1&�*#�%*+ 1 �

� � �
C(Λ) = (detΛ)

−1 ∀Λ
! �	���

b
���

�
� )1+�1&% �1 )�	1 �1+�$)� �

� ��
����
 � ��� ����
�
� ��� ��� -�������	 �

�
�� �

�
� ���

�
�� ���	���� ��" �� � �� 	� �����

�
�

gµν
��

�
�  ��� ��-����� � �� ����

2
� �� � ���

�
�� ���	���� �� ���

xµ ��
yµ � ������ ��� �

xµgµνy
ν �

�� �����
�
�
gµν

��� ��� �	� )1+�1&% � �)%$�& 1! �
�78 8 7 � �	 � ���

�
� ��� ��� �� � ��� ���� � �

�
�� �� 	� � ������� gµν

! �	��� �

� � � �
bν

���
�
� �, ��� ��� ���-����� �! �	���

bµ = gµνb
ν

��� ��-����� ��
� � � ��� �����

�
� �� ����-����� �� ����� ��� � ��  ���� ��-����� �� �

∂′µ = (Λ−1) ν
µ ∂ν

�
� � � ��	�� �� � �� -� 	

�
� � �� 	 ���� ��� �� � ������� � ��� ��-����� � ��

�
� 	� � ��

�
� � �� ���

��� �	 �

� :7<�7 =
� � .#� ��
��%���

b′µ = gµνb
′ν = gµνΛν

ρb
ρ. �� �
	�

� *#&%�! $#�% !� &%� ��#�%  ! ,#�% )&!  ! %!��!&� 0 �%��)&! !�% ��#���# #1!" � �0 !�%�
�! 1# !&� #2�� &! &��%� �

gρµbµ = gρµgµνb
ν = gρ

νb
ν = bρ, �� �
��

�!�� ���! �! #%��� )&!  *�� �����! �#��  *�) � �� �
	� $�&� �2%!���
b′µ = gµνΛν

ρg
ρσ

︸ ︷︷ ︸
=(g·Λ·g)σ

µ

gσ. �� �
��

�!0 #�)&��� #&��� )&! $#� ��
��%��� �& ���&$! �! ���!�%�
Λt · g ·Λ = g,

=⇒ (Λt)−1 · Λ︸ ︷︷ ︸
= �

·g · Λ = (Λt)−1 · g,

=⇒ g · Λ · g−1 = (Λt)−1

︸ ︷︷ ︸
=(Λ−1)t

·g · g−1

︸ ︷︷ ︸
= �

,

=⇒ g · Λ · g = (Λ−1)t, �� �
��
)&!  *�� �����! �#��  *�) � �� �
�� $ �&� �2%!���

b′µ = (Λ−1)σ
µgσ, �� �

�

"! )& � !�% 2�!�  # 0 #����! ���% &� "�#0 $ "�1#��#�% �! %�#��,��0 ! �
� � ��0 0 !

x′µ = x′µ(x)
�� #

∂′µ =
∂

∂x′ν
=
∂xν

∂x′µ
∂

∂xν

(A.88)
= (Λ−1)ν

µ∂ν , �� �����
� *�5  #  � � �! %�#��,��0 #%���

∂′µ = (Λ−1)ν
µ∂ν

)&� !�% "!  ! � *&� "�#0 $ "�1#��#�% �



� �� � ���� ������� �������� �� ������ �����
∗ ��


� � (�
Λ

!�% &� � �0 !�% �& ���&$ ! �! ���!�%� ' # ���
Λt · g · Λ = g

!% !� $�!�#�%  !
��%!�0 ��#�%

det
(
Λt · g ·Λ

)
= detΛt
︸ ︷︷ ︸
detΛ

detg detΛ = (detΛ)2 detg = detg,

=⇒ detΛ = ±1. �� ��� ��
��0 0 !

Λ
!�%  # 0 #%��"! � #"�2�!��! �!  # %�#��,��0 #%���

x 7→ x′ ' # ���  ! � #"�2 �!�
�! "!%%! 0 �0 ! %�#��,��0 #%��� !�% ��# �  *&��%� ' � *�5

dx0dx1dx2dx3 = dx′0dx′1dx′2dx′3, �� �����
"! )&� #"��1!  # $�!&1! �

�

� �� �
��� ��	

 � �
���
� �	� ����	
� 
�	�∗
�# ,��0 & #%���  #��#�� �!��! $���!�%�! �#��  # (!"% � 
 �� ,�&���% �1��!0 0 !�%  !� �)&#-

%���� �& 0 �&1!0 !�% �! #%�1 ��%!� "���!"%!� � � �#�0 ���� ' "!%%! ,��0 & #%��� � *!�% $#� "�-
1#��#�%! �! #%�1 ��%! �#��  *!�$#"! �! � ����� �� � � �� !�!% '  ! %!0 $� !�% %�#�%� "�0 0 ! &�
$#�#0 �%�! � *�1� &%��� ���%��"% �!� "��������!� �$#%�# !� � �& "��%�#��! ' &�! ,��0& #%���
"�1#��#�%! ���% "�������!�  *!�$#"! !%  ! %!0 $� "�0 0 ! �%#�% �!� "��������!� �)&�1# !�%!�
�#��  *!�$#"! �! � ����� �� � � �# ��0 #�"�! !�% �! �!0 $ #"!�  ! %!0 $� $#� &� $#�#0 �%�!
� *�1� &%��� "�1#��#�% ' !% � *!+��!� )&!  ! $���"�$! �! 
#0 � %�� � *�"��1! #&��� ��&� ,��0 !"�1#��#�%! �! #%�1 ��%! � � ���� ' ��  ! $#�#0 �%�! � *��%���#%��� �#��  ! $���"�$ ! �! 0 �����!
#"%��� !�% &� ��1#��#�% �! ���!�%� ' # ��� � ���% !� �%�! �! 0 �0 ! �&  #��#�� �!� �

	 �� �� ����
�� � ��� ��	��
� ��
�! $�!0 �!� "���+ �! $#�#0 �%�! � *�1� &%��� ��1#��#�% �!�#�%  ! %!0 $� $��$�!

τ
� ��#�-

0 ���� ' "�0 0 !  ! )&#���1!"%!&� 1�%!��! �#%��,#�%
uµuµ = c2

!� %�&% %!0 $� ' # ���  !� "���-
�����!� �$#%�# !� !% %!0 $ ��!  !� ���% �! ��!� !% ��� ����$!��#�%!� "! )&� 0 ��! # $����� �
�!� ��� "& %�� ���#�0 ���� ��&� 1!����� )& *� !�% )&#�� 0 �0 ! $ ����2 ! �! "������

τ
#1!"

&�! ���"&����� $ &� �&2%� !� � ��&� #  ��� ���" $�!���! "�0 0 ! $#�#0 �%�! � *�1� &%���  #
��#��!&�

θ
�#�� #&%�! �$ �"�
 "#%��� )& *� � *#� �% � *&�! ,��"%��� �%��"%!0 !�% 0 ���%��!  !  ���

� *&�! %�#� !"%���! �!  # $#�%�"& ! �#��  *!�$#"! �! � ����� �� � � ��%��� # ���
x′ν = dxν/dθ

�� �! $#� "��,����! #1!"  # ��%#%��� #��$%�! �&�)& *� $���!�% $ �&�  !� ��#��!&�� �#��  !
��,��!�%�! 

R
′� ' !%

ẋν = dxν/dt
� �! � ������ � �� � �� �	��� ��-����� � $�!�� ���"  # ,��0 !

δI = δ

∫ θ2

θ1

dθM(xµ, x′µ), �� ���� �
�5

M(xµ, x′µ)
!�% "�1#��#�% �! #%�1 ��%! � �!0 #�)&��� )&! "!%%! ,��0& #%��� !�% ��� #&%�-

��0 ! �#��  ! �!�� �5  !  #��#�� �!�
L(xµ, x′µ)

$ !&% ��$ !���! �! ,#��� !+$ �"�%! �!� )&#%�!
"��������!�

xµ !% $#� "����)&!�% #&��� �& $#�#0 �%�! � *�1� &%���
x0 � �!� �)&#%���� �!

�#��#��! "���!�$ ���#�%!� ���%
d

dθ

∂M

∂x′µ
− ∂L

∂xµ
= 0, µ = 0, 4. �� ���
 �

�! $��2 �0 ! "�����%! � %��&1!�
M(xµ, x′µ)

%! )&!  !� �)� � �� ���
 � �!����!�%  !� �)&#%����
�& 0 �&1!0 !�% �
 ���� �



�
� ������ � � ��������� ��

��! ,#��� �! %��&1!�  # ,��"%���  #��#�� �!��! !�% �! $#�%�� �!  *#"%��� !+$��0 �! �  *#��!
�& %!0 $� !% �! $#��!� � &�! ��%���#%��� �&�  ! $#�#0 �%�!

θ
� �!"� �! ,#�% !� "�������#�%

 ! %!0 $�
t

��� $ &� "�0 0 ! &� $#�#0 �%�! 0 #�� $ &%�% "�0 0 ! &�! "��������! �����# ���!
#���%����!  ! � ��0 0 !

θ
!�% &�! ,��"%��� 0 ���%��! �!

t ' # ���

ẋµ =
dxµ

dt
=

dxµ

dθ︸︷︷︸
= x′µ

dθ

dt
= x′µc

1
d(ct)
dθ

= c
x′µ

x′0
. �� ���	�

� *�) � �� ���	� �0 $ �)&! #&���
dt =

1

c
x′0dθ. �� �����

�!�#�% "�0 $%! �!  *�) � �� ���	� '  *#"%��� �#��  #)&!  !  ! %!0 $� ��&!  ! ��  ! �! "��������!
�����# ���! � *�"��%

I =

∫ t2

t1

dt L(xi, t, ẋi)

(A.105)
(A.106)

=
1

c

∫ θ2

θ1

dθ x′0L

(
xµ, c

x′i

x′0

)
. �� �����

��0 $#�#�%  !� �)� � �� ����� !% �� ����� �� !�% 0 !�� � ��!�%�
!�

M(xµ, x′µ) =
x′0

c
L

(
xµ, c

x′i

x′0

)
. �� �����

�!0 #�)&��� )&! $ �&� � *�0 $ ��%! )&!  ! ,��0 ! !+$ �"�%! �&  #��#�� �!� "�1#��#�%
M

#����
��
�� ' � � *#� �% %�&��&�� � *&�! ,��"%��� ��0 ����! �! �!��� � �#��  !� 1�%!��!� �����# ���!�
�", � #��!+! � �
 � �

M(xµ, λx′µ) = λM(xµ, x′µ), ∀λ ∈ A . �� ���
�
.#� "����)&!�% '  *#$$ �"#%��� �&  !0 0 ! � �� �!  *#��!+! � �
 �0 $ �)&!

M(xµ, x′µ) =

3∑

µ=0

x′µ
∂M

∂xµ
. �� �����

�� $ !&% # ��� 0 ��%�!� )&! ��&�  # "����%��� �� ���� � ' M �#%��,#�% #&+ �)&#%����
3∑

µ=0

(
d

dθ

∂M

∂x′µ
− ∂M

∂xµ

)
x′µ = 0. �� �����
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√
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f(x) ∈ C1(A)
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f ′(x0) = lim
h→0

f(x0 + h) − f(x0)

h
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2

)
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f(x) ∈ C3(A)

�� � �
h0 > 0

! �	��� �	 �� ����
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∣∣∣∣f
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(
h

2
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h
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)3

, �� ���
�



� ��� � �������� �� ����� ���� �
�

�5
η ∈]x0 − h/2, x0[

� �� ��&�%�#/#�%  *�) � �� ���
 � � �� ���� � � 1 �!�%

f
(
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)
− f

(
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2

)
︸ ︷︷ ︸

(A.126)
= δhf(x0)

= f ′(x0)h+
f ′′′(ξ) + f ′′′(η)
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8
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δhf(x0)

h
= f ′(x0) +

f ′′′(ξ) + f ′′′(η)

48
h2. �� ��� ��
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|f ′′′(x)|
24
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h
≤ f ′(x0) + Ch2, �� ���� �

"! )&� �%#2 �%  *�) � �� ����� !% $#� "����)&!�% #"��1!  # $�!&1! �
�

����:�8 7 � �� � �
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h0 > 0
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∣∣∣∣f
(m)(x0) −

δm
h f(x0)
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∣∣∣∣ ≤ Ch2, ∀h ≤ h0. �� ���
 �

� :7<�7 =  # ��0 #�"�! !�% !� %�&% $���% ��0 � #��! � "!  ! �& %�����0 ! � �� �
�
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1

h2
δ2hf(x0) =

1

h2
δh
[
f
(
x0 + h

2

)
− f

(
x0 − h

2

)]

=
f (x0 + h) − 2f (x0) + f (x− h)

h2
. �� ���	�
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x0 = ih ' x0 ± h = (i ± 1)h ' !% ��%���

f(x0 ± h) = fi±1 '
f(x0) = fi ' # ���  ! %�����0 ! � �� ,�&���%

f ′′(x) =
fi+1 − 2fi + fi−1

h2
+ O(h2). �� ���� �
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v(x) ∈ C1(A 3)

��	 ���

|v(x)|
|x|→∞

. |x|−1, �� �����
|∂xi

v(x)|
|x|→∞

. |x|−2, ∀i = 1, . . . , 3, �� ���� �
�	��� �	 �� ����

v1(x)
��

v2(x)
��	� ��� v = v1 + v2

��
rot v1 = 0

!
div v2 = 0

�
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 �7 ������
 � ����
f ∈ C0(A 3)

��	 ��� f(x) .

|x|−2
� �

�
� |x| → ∞! �	��� 	 ��������� �� � ������

∆u = f �� ���
�
� ���� � ��	

�
����

u(x) = − 1

4π

∫
�

3

dy
f(y)

|y − x| . �� ��
��

.�&�  # $�!&1! �!  # ,��0 ! �!  # �� &%��� �!  *�)&#%��� �! .������ �!  # $��$ ���%���
$��"��!�%! ' �� �!�1��! #&+ "�&�� � *#�# /�! �& � *� !"%�� �/�#0 �)&! � .#����� #���� �  #
$�!&1! �& %�����0 ! �! 
 ! 0 �� %� �
� :7<�7 = $�����

f = div v, �� ��
 ��
# ��� $#�  !� �/$�%���!� �&�

v
�� #

f ∈ C0(A3)
!%
f(x) . |x|−2 $ �&� |x| → ∞ � .#�

"����)&!�%  !� �/$�%���!� �!  # $��$ ���%��� � �� ���% �#%��,#�%!� !% � !+ ��%! &�! ,��"%���
u(x)

��
��! $#�  *�) � �� ��
�� � (��%
v1 = gradu, �� ��
��
v2 = v − v1, �� ��
��

# ��� "�0 0 !
u ∈ C2(A3)

 *��!�%�%� 1!"%���!  !
rot gradu = 0 ∀x ����)&! )&!

v1
!�%

����%#%����! � � ! $ &�
div v2

(A.143)
= div v − div v1, �� ��

 �
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div v

(A.141)
= f, �� ��
	�

− div v1
(A.142)

= − divgradu = −∆u
(A.140)

= −f. �� ��
��
�!� �)� � �� ��
	� !% �� ��
� � �#�� �� ��
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div v2 = 0, �� ��
��
!% ���"  ! "�#0 $

v2
!�% ��"�0 $�!���2  ! � � ��# !0 !�% ' �!  *�) � �� ��
�� �� ���&�% )&!

v = v1 + v2 ' "! )&� #"��1!  # $�!&1! �
�
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v′

1

!
v′

2 �
�� �

�
��� ������ �� ����� ��

v = v′
1 + v′

2

��	 	� ��� rot v′
1 =

div v′
2 = 0

! �	���
v′

1 = v1 +C
��

v′
2 = v2 −C

! ��
C ∈ A ���

�
�� ������� �� ����� ����� ��

��
x
�

� :7<�7 = ���%
v1 ' v2 ' v′

1 ' v′
2

%! � )&!
v = v′

1 +v′
2 = v1 +v2

!%
rot v′

1 = rot v1 = div v′
2 =

div v2 = 0
�

�� (��%
w = v′

1 − v1 ' # ���
div w = div v′

1 − div v1 = div (v′
1 + v′

2)︸ ︷︷ ︸
=v

− div (v1 + v2)︸ ︷︷ ︸
=v

= 0. �� ��
��

� ! $ &�
rotw = 0 ' ���" � !+ ��%! &� $ �%!�%�! �"# #��!

Φ
%! )&!

w = gradΦ + cte. �� ��

�
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f

$#�
f + div w

(A.149)
= divgrad Φ = ∆Φ, �� ��	� �

���"  # �� &%��� �!  *�)&#%��� �! .������ �� ��	�� !�%

Φ = − 1

4π

∫
�

3

dy
f(y)

|x − y|
(A.148)

= 0, �� ��	��
� *�5

w
(A.149)

= gradΦ + cte
(A.151)

= cte, �� ��	��
!% ���"

v′
1 = v1 + cte

�
��� (��% � $���!�%

w = v′
2 − v2 ' # ���

rotw = rot v′
2 − rot v2 = rot (v′

1 + v′
2)︸ ︷︷ ︸

=v

− rot (v1 + v2)︸ ︷︷ ︸
=v

= 0. �� ��	� �

�! $ &�
div w = 0 ' ���" � !+ ��%! &� $�%!�%�! 1!"%!&�

A
%! )&!

w = rotA + cte. �� ��	
 �
��
�������

f
$#�

f + rotw
(A.154)

= rot rotA = grad div A− ∆A = −∆A, �� ��		�
�5 ��&� #1��� ,#�% &� "���+ �! � #&�! %! )&!

div A = 0
� �� !�!% ' �� $ !&% %�&��&��

%��&1!� &� %! 
A

"#� ��
A + A + grad Λ

# ��� �� # %�&��&��
w = rotA ' !% ���" ��

"�����%  # � #&�!
Λ

�! ���%! � "! )&!
div A = 0 �Λ !�% # ��� ����� $#�  *�������� ��

��� 	���
∆Λ = 0

� � �# �� &%��� �!  *�)&#%��� �! .������ �� ��		� !�% �

A =
1

4π

∫
�

3

dy
f(y)

|x − y|
(A.155)

= 0, �� ��	� �
� *�5

w
(A.154)

= rotA + cte
(A.156)

= 0, �� ��	��
!% ���"

v′
2 = v2 + cte

�
���� � ��# !0 !�% ' ��

C ∈ A !�% &�! "���%#�%! ����$ !��#�%! �!
x ' # ��� �� �!0 #�)&! )&!

v′
1 = v1 + C, �� ��	� �

v′
2 = v2 − C, �� ��	
 �
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�
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�������  !� �$ ��#%!&�� �����!�%�! � �&�1#�%� ' $#�,��� &%� ���� !� �/��� �/�#0 �)&! �
� ��
����
 � ��� � ���

a �
� �, ��� -�������	! �	��� �� ��" ��� 	� �����

�
� � ������ � ��� �	�

	� �%(+� �%(�$1+ ) ��
a
� �� ��� �	�� �� ��

(Grad a)ij =
∂ai

∂xj
. �� ���� �



�
� ������ � � ��������� ��

� ��
����
 � ��� ����
A �

� �����
�
� � ������ ��

�
� ! �	��� �� ��" ��� 	� -����

�
� ��� �	� 	�

�%(+�1 �$01%� 1+ #1 ��
A

� �� ��� �	�� �� ��

(DivA)i =

3∑

j=1

∂Aij

∂xj
. �� ��� ��

� ��
����
 � ��. ����� �
a

!
b

��
�
� �, ��� � -�������	�! �	��� �� ��" ��� 	� � ���

�
�� ��������	

��
a

��
b

! ���� ⊗ ! � �� 	� �����
�
� �� ���� ��

�
�

(a ⊗ b)ij = aibj . �� �����
.�&�  !� 2 !����� �! "! "�&�� ' � �! �!�# $#� ��"!��#��! �! ,�&���� &�! ��
��%��� $ &�

����&�!&�! �& $�� �&�% %!�����! )&! "!  ! "�-�!��&� � �� �!�1��! � &� �&1�#�! �! 0 #%��0 #-
%�)&! �$ �"�# ��� $ �&�  # ��
��%��� "�0 $ �%! � � !0 #�)&��� #&��� )&!

DivA = ∇ ·A �
�78 8 7 � �� � ���

�
� -�	

�
� �

V
�� �

�
� ���

S
! ����

A �
� �����

�
� � ������ ��

�
� ! �	��� 	�

�, ������ �� 	� ��-��� ���� � �
�
�
A

� ����� �� �

∫

S

dσ ·A =

∫

V

dx DivA. �� �����

� :7<�7 =  # $�!&1! !�% &�! "����)&!�"! ���!"%! �& %�����0 ! �!  # ��1!��!�"! �$#�,���
#&��� #$$ ! � %�����0 ! �! � �%����#��� � �& �! �#&��� � �� !�!% ' �� �� # &� 1� &0 !

V
�!

�&�,#"!
S ' # ��� "! %�����0 ! $ �&� &� "�#0 $ 1!"%���! 

a
� *����"!

∫

S

dσ · a =

∫

V

dx div a. �� ���
 �
���"  *�)&�1# !�% $ �&�

A
!�%

∫

S

dσ · A =

∫

S




∑3
j=1 A1jdσj∑3
j=1 A2jdσj∑3
j=1 A3jdσj


 . �� ���	�

�# $�!&1! "�����%! � #$$ �)&!�  *�) � �� ���
 � $�&� "�#)&! "�0 $ ��#�%! �! �� ���	� � � ����
!� ��%#�%

Ai = (Ai1, Ai2, Ai3)
 !
i−�0 ! 1!"%!&�  ���! �!

A
� 1 �!�%

∫

S




∑3
j=1 A1jdσj∑3
j=1 A2jdσj∑3
j=1 A3jdσj




(A.164)
=

∫

V

dx




div A1

div A2

div A3



 =

∫

V

dx




∑3
j=1

∂A1j

∂xj∑3
j=1

∂A2j

∂xj∑3
j=1

∂A3j

∂xj


 =

∫

V

dx DivA,

�� �����
"! )&� !� &%� ��#�%  *�) � �� ���	� #"��1!  # $�!&1! �

�

� ��� �� ���	 �� �� � 
�����	
��� �� �
 
��
 � ���� �� �� 
�
� � ��

�!%%! �!"%��� !�% ��1� &! � ,�&����  *!+$�!����� �! �����!�%� �$ ��#%!&�� �����!�%�! � !�
"��������!� "/ �����)&!� !% �$����)&!� � � #�� &� �!"��� %!0 $� ' ��&� �������  *�)&#%���
�! "��%��&�%� #�� �� )&! �! � #1�!�-(%��!� �#�� "!� 0 �0 !� "��������!� � �!� "��������!�
"/ �����)&!� ���% $#�#0 �%����!� $#�

(r, ϕ, z) ' !%  !� "��������!� �$����)&!� $#�
(r, θ, ϕ)

�", � � �� � � ��� �



� ��� � ������� ��� � ������� ����� �� ����� ������ ����������� �
�

ê1

ê2

ê3

êr

êz

êϕ

r

z

ϕ
ê1

ê2

ê3

êr

êθ

êϕ

r

θ

ϕ

��� � � �� � ���������!� "/ �����)&!� !% �$����)&!� �

	 ��� �� � �� �	
�� ����	� ��
��&� 0 ��%���� )&!  ! !�%  # ��0 #�"�! �����# ! $ !�0 !%%#�% � *�%#2 ��  !� �$ ��#%!&�� ��,-

,��!�%�! � !� "��������!� "&�1� ���!� � (��!�%  !� "��������!� "#�%���!��!�
x = (x1, x2, x3) ∈A 3 ' !%  !� "��������!� "&�1� ���!�

u = (u1, u2, u3) ∈ A 3 � �#�� "! )&� �&�% ' ��&� �&$$ �����
&� "���+ �! "��������!� "&�1� ���!� ��%�����# !� ��
����#�% &� �����0 ��$� ��0 ! � �# 2#�!
��%�����0 # ! "&�1� ���! �! A3 !�% # ���

êui
=

1

αi(u)

∂x(u)

∂ui
, i = 1, . . . , 3, �� �����

�5
αi(u)

!�%  # ���0 # ��#%��� �����! $#�

αi(u) =

∣∣∣∣
∂x(u)

∂ui

∣∣∣∣ . �� ���� �

��%��� {êi}3
i=1

 # 2#�! "#����)&! �! A 3 �"��������!� "#�%���!��!�� �
.�&� %��&1!�  *!+$�!����� �!� �$ ��#%!&�� �����!�%�! � �#��  # 2#�! {êui

}3
i=1 ' � �&� % �!

$��� !%!� "!� �!�� �!�� �&�  # 2#�! "&�1� ���! � (��%
a ∈ A3 %! )&! �# ��"�0 $���%��� �#��  #

2#�! "#����)&! ���%
a =

3∑

j=1

aj êj. �� ���
 �
(��%

Pu =

3∑

i=1

êui
êui

�� ���� �

 *�$��#%!&� �! $��� !"%��� �#��  # 2#�! {êui
}3

i=1 ' # ���  *!+$�!����� �!
a

�#��  # 2#�! "&�-
1� ���! ' ��%�!

au ' !�% �

au = Pua =
3∑

i=1

êui
êui

·
3∑

j=1

aj êj =
3∑

i=1

êui

3∑

j=1

aj êj · êui

︸ ︷︷ ︸
= aui

. �� �����

.�!����  *!+!0 $ ! �& ��#��!�% �!  # ,��"%��� �"# #��!
f

� �� 1!&% ���" $�� � !%!�
a = ∇f



�
� ������ � � ��������� ��

�#��  # 2#�! "&�1� ���! � � *#$$  �"#%��� �!  *�) � �� ����� ����!

(∇f)u =

3∑

i=1

êui

3∑

j=1

∂f(x)

∂xj
êj · êui

(A.167)
=

3∑

i=1

êui

1

αi(u)

3∑

j=1

∂f(x)

∂xj
êj ·

∂x(u)

∂ui︸ ︷︷ ︸
=

∂xj(u)

∂ui︸ ︷︷ ︸
= ∂f(u)

∂ui

=

3∑

i=1

êui

1

αi(u)

∂f(u)

∂ui
. �� �����

(�&  ������ )&!  # �! #%��� �� ����� !�% 1# #2 ! )&! )&! ���%  ! �/�%�0 ! �! "��������!�
"&�1� ���!� ��%�����# !� "����� � .�!���� $#� !+!0 $ !  !� "��������!� "/ �����)&!� ' # ���

x(u) =



r cosϕ
r sinϕ
z


 , �� �����

� *�5
α1 = 1 ' α2 = r ' !%

α3 = 1
� � ����  *�) � �� ����� �!1�!�%

(∇f)u =
∂f

∂r
êr +

1

r

∂f

∂ϕ
êϕ +

∂f

∂z
êz, �� ���
 �

"! )&� !�% 2�!�  # 0 �0 ! �! #%��� )&! �� ����� � .�&� $ & � �! ��%#� � ' 1��� ��
 � �

	 ��� �� �� �	��� ���� 
� ����	 �
���
� ��� �� �� � ��7:�7
�7

div a = ∇ · a =
1

r

∂

∂r
(rar) +

1

r

∂aϕ

∂ϕ
+
∂az

∂z
�� ���	�

� ��� �� �� � :9� �7
�

grad f = ∇f = (∇f)r êr + (∇f)ϕ êφ + (∇f)z êz �� �����

(∇f)r =
∂f

∂r
, (∇f)ϕ =

1

r

∂f

∂ϕ
, (∇f)z =

∂f

∂z
�� �����

� ��� �� �� 6 ��9���

7�

rot a = ∇ × a = (∇ × a)r êr + (∇ × a)ϕ êφ + (∇ × a)z êz �� �����



� ��� � ������� ��� � ������� ����� �� ����� ������ ����������� �



(∇ × a)r =
1

r

∂az

∂ϕ
− ∂aϕ

∂ϕ
�� ���
 �

(∇ × a)ϕ =
∂ar

∂z
− ∂az

∂r
�� ���� �

(∇ × a)z =
1

r

∂

∂r
(raϕ) − 1

r

∂ar

∂ϕ
�� ��� ��

� ��� �� �� �9� �9� �7
 � �<
7 ��
����
 ��9 �9 �:7

∇
2f =

1

r

∂

∂r

(
r
∂f

∂r

)
+

1

r2
∂2f

∂ϕ2
+
∂2f

∂z2
�� �����

� ��� �� �. �9� �9� �7
 � �<
 �7��7<:

Div(Grad a) = ∇
2a =

(
∇

2a
)
r
êr +

(
∇

2a
)
φ
êφ +

(
∇

2a
)

z
êz �� ���� �

(
∇

2a
)
r

= ∇
2ar −

2

r2
∂aϕ

∂ϕ
− ar

r2
�� ���
 �

(
∇

2a
)
ϕ

= ∇
2aϕ +

2

r2
∂ar

∂ϕ
− aϕ

r2
�� ���	�

(
∇

2a
)
z

= ∇
2az �� ���� �

� ��� �� �	 
�8� ��9
�7� �7
(a · ∇)b

(Gradb) · a = ((a · ∇)b)r · êr + ((a · ∇)b)ϕ · êφ + ((a · ∇)b)z · êz �� �����

((a · ∇)b)r = ar
∂br
∂r

+
aϕ

r

∂br
∂ϕ

+ az
∂br
∂z

− aϕbϕ
r

�� ���� �

((a · ∇)b)ϕ = ar
∂bϕ
∂r

+
aϕ

r

∂bϕ
∂ϕ

+ az
∂bϕ
∂z

+
aϕbr
r

�� ���
 �

((a · ∇)b)z = ar
∂bz
∂r

+
aϕ

r

∂bz
∂ϕ

+ az
∂bz
∂z

�� ��
� �

� ��� �� �� � ��7:�7
�7 � �<
 �7
�7<:

DivT = ∇ ·T = (∇ ·T)r êr + (∇ ·T)φ êφ + (∇ ·T)z êz �� ��
 ��



��� ������ � � ��������� ��

(∇ · T)r =
1

r

∂

∂r
(rTrr) +

1

r

∂Tϕr

∂ϕ
+
∂Tzr

∂z
− Tϕϕ

r
�� ��
��

(∇ · T)ϕ =
1

r

∂

∂r
(rTrϕ) +

1

r

∂Tϕϕ

∂ϕ
+
∂Tzϕ

∂z
− Tϕr

r
�� ��
��

(∇ · T)z =
1

r

∂

∂r
(rTrz) +

1

r

∂Tϕz

∂ϕ
+
∂Tzz

∂z
�� ��

 �

	 ��� �� �� �	��� ���� ����	 �
���
� ��� �� �� � ��7:�7
�7

div a = ∇ · a =
1

r2
∂

∂r

(
r2ar

)
+

1

r sin θ

∂

∂θ
(aθ sin θ) +

1

r sin θ

∂aϕ

∂ϕ
�� ��
	�

� ��� �� �� � :9� �7
�

grad f = ∇f = (∇f)r êr + (∇f)θ êθ + (∇f)φ êφ �� ��
��

(∇f)r =
∂f

∂r
, (∇f)θ =

1

r

∂f

∂θ
, (∇f)ϕ =

1

r sin θ

∂f

∂ϕ
�� ��
��

� ��� �� �� 6 ��9���

7�

rot a = ∇ × a = (∇ × a)r êr + (∇ × a)θ êθ + (∇ × a)φ êφ �� ��
��

(∇ × a)r =
1

r sin θ

∂

∂θ
(aϕ sin θ) − 1

r sin θ

∂aθ

∂ϕ
�� ��

�

(∇ × a)θ =
1

r sin θ

∂ar

∂ϕ
− 1

r

∂

∂r
(raϕ) �� �����

(∇ × a)ϕ =
1

r

∂

∂r
(raθ) −

1

r

∂ar

∂θ
�� ��� ��

� ��� �� �� �9� �9� �7
 � �<
7 ��
����
 ��9 �9 �:7

∇
2f =

1

r

∂2

∂r2
(rf) +

1

r2 sin θ

∂

∂θ

(
sin θ

∂f

∂θ

)
+

1

r2 sin2 θ

∂2f

∂ϕ2
�� �����

� ��� �� �. �9� �9� �7
 � �<
 �7��7<:

Div(Grad a) = ∇
2a =

(
∇

2a
)
r
êr +

(
∇

2a
)
θ
êθ +

(
∇

2a
)

φ
êφ �� �����



� ��� � ������� ��� � ������� ����� �� ����� ������ ����������� �� �

(
∇

2a
)
r

= ∇
2ar −

2ar

r2
− 2

r2
∂aθ

∂θ
− 2aθ ctg θ

r2
− 2

r2 sin θ

∂aϕ

∂ϕ
�� ���
 �

(
∇

2a
)
θ

= ∇
2aθ +

2

r2
∂ar

∂θ
− aθ

r2 sin2 θ
− 2 cos θ

r2 sin2 θ

∂aϕ

∂ϕ
�� ���	�

(
∇

2a
)
ϕ

= ∇
2aϕ − aϕ

r2 sin2 θ
+

2

r2 sin θ

∂ar

∂ϕ
+

2 cos θ

r2 sin2 θ

∂aθ

∂ϕ
�� ���� �

� ��� �� �	 
�8� ��9
�7� �7
(a · ∇)b

(Gradb) · a = ((a · ∇)b)r · êr + ((a · ∇)b)θ · êθ + ((a · ∇)b)φ · êφ �� �����

((a · ∇)b)r = ar
∂br
∂r

+
aθ

r

∂br
∂θ

+
aϕ

r sin θ

∂br
∂ϕ

− aθbθ + aϕbϕ
r

�� ���� �

((a · ∇)b)θ = ar
∂bθ
∂r

+
aθ

r

∂bθ
∂θ

+
aϕ

r sin θ

∂bθ
∂ϕ

+
aθbr
r

− aϕbϕ ctg θ

r
�� ���
 �

((a · ∇)b)ϕ = ar
∂bϕ
∂r

+
aθ

r

∂bϕ
∂θ

+
aϕ

r sin θ

∂bϕ
∂ϕ

+
aϕbr
r

+
aϕbθ ctg θ

r
�� �� �� �

� ��� �� �� � ��7:�7
�7 � �<
 �7
�7<:

DivT = ∇ · T = (∇ · T)r êr + (∇ · T)θ êθ + (∇ · T)φ êφ �� �� ���

(∇ · T)r =
1

r2
∂

∂r

(
r2Trr

)
+

1

r sin θ

∂

∂θ
(Tθr sin θ) +

1

r sin θ

∂Tϕr

∂ϕ
− Tθθ + Tϕϕ

r
�� �� ���

(∇ · T)θ =
1

r2
∂

∂r

(
r2Trθ

)
+

1

r sin θ

∂

∂θ
(Tθθ sin θ) +

1

r sin θ

∂Tϕθ

∂ϕ
+

Tθr

r
− Tϕϕ ctg θ

r
�� �� �� �

(∇ · T)ϕ =
1

r2
∂

∂r

(
r2Trϕ

)
+

1

r sin θ

∂

∂θ
(Tθϕ sin θ) +

1

r sin θ

∂Tϕϕ

∂ϕ
+

Tϕr

r
− Tϕθ ctg θ

r
�� �� �
 �

	 ��� �� 	
����� � �� 
������ ���
� ��� �� �� 
��:��

�7� �� ��
�: �;<7�

∂vr

∂r
+

1

r

∂vϕ

∂ϕ
+
∂vz

∂z
+
vr

r
= 0 �� �� �	�

� ��� �� �� 
��:��

�7� ����: �;<7�

∂vr

∂r
+

1

r

∂vθ

∂θ
+

1

r sin θ

∂vϕ

∂ϕ
+

2vr

r
+
vθ ctg θ

r
= 0 �� �� �� �
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	 ��� �� 	
������ �� � �� ��	�������

� ��� �. �� 
��:��

�7� �� ��
�: �;<7�

∂vr

∂t
+ vr

∂vr

∂r
+
vϕ

r

∂vr

∂ϕ
−
v2

ϕ

r
+ vz

∂vr

∂z

= −1

ρ

∂p

∂r
+ ν

[
∂

∂r

(
1

r

∂

∂r
(rvr)

)
+

1

r2
∂2vr

∂ϕ2
− 2

r2
∂vϕ

∂ϕ
+
∂2vr

∂z2

]

+
(
ξ +

η

3

)[ ∂
∂r

(
1

r

∂

∂
(rvr)

)
+

∂

∂r

(
1

r

∂vϕ

∂ϕ

)
+
∂2vz

∂r∂z

]
+ fr �� �����

∂vϕ

∂t
+ vr

∂vϕ

∂r
+
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r

∂vϕ

∂ϕ
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r
+ vz

∂vϕ
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rρ
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(
1

r

∂

∂r
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∂ϕ
+
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∂2
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1

r2
∂2vϕ

∂ϕ2
+

1

r

∂2vz

∂ϕ∂z
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∂vz
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r

∂
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(
r
∂vz
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)
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+
(
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r
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∂vr

∂t
+ vr

∂vr

∂r
+
vθ

r

∂vr

∂θ
+

vϕ

r sin θ

∂vr

∂ϕ
−
v2

ϕ + v2
θ

r
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ρ

∂p

∂r
+ ν

[
1

r

∂2

∂r2
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1

r2
∂2vr

∂θ2
+

1

r2 sin2 θ

∂2vr

∂ϕ2
+

ctg θ

r2
∂vr

∂θ

− 2

r2
∂vθ

∂θ
− 2

r2 sin θ

∂vϕ

∂ϕ
− 2vr

r2
− 2 ctg θ

r2
vθ

]

+
(
ξ +

η
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∂r

(
1

r2
∂

∂r

(
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))
+
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sin θ

∂

∂r

(
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r

∂

∂θ
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)

+
1

sin θ

∂

∂r

(
1

r

∂vϕ

∂ϕ

)]
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∂r
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∂r
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∂ϕ
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r
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rρ
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+

ctg θ
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+
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r2
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∂θ
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∂ϕ
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+
(
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η
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∂θ∂r

(
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)
+

1
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∂
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(
1

sin θ

∂

∂θ
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)

+
1

r2
∂
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(
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∂vϕ
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r
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r
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+
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+
2

r2 sin θ

∂vr
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+
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∂vθ
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+
(
ξ +

η
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) [ 1

r3 sin θ

∂2
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(
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)
+
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(r sin θ)2
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+
1
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